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10,200,000& = 14| 10,200 0 10,200
OA=X2cd =29 107,000& = 14! 107 0 107
OHXA~2LHEE 24E  1,000,000& * 14 1,000 0 1,000
O&II+=XE 9,163,000& » 14! 9,163 0 9,163
oOsUlE R&JI 18,000& * 14 18 0 18
O[XIS & M D] 26,237 0 26,237
02011 XSS SH LAciA
1,968,000& * 14 1,968 0 1,968
02009 dlss 25 16,719,000& = 14| 16,719 0 16,719
OA3I &I LXiel EEMSXH
7,550,000& » 14! 7,550 0 7,550
O[H & Hnt] 12,631 0 12,631
012.31~1.1 H&Ulol =+ MHXN=
1,081,000& * 14! 1,081 0 1,081
OM9SEHE R0l HWHE+ MHHXEZ
11,550,000 * 14 11,550 0 11,550
O[ZAIOHE D] 6,650 0 6,650
020098 &= H=ELINAAISEALY Bt = Ol A
= 2,636,000& * 14 2,636 0 2,636




SA: IS ZAY
e

el HET|

SNBSS - MBAY - BES 0 & 24 p/E-T" {imE=Eh
02010 AR sE XXX & A
2,997,000 * 14 2,997 0 2,997
02009& Da2 T AIZESEDl 915,000& * 14 915 0 915
OEANB=sERXXFAE  102,000& * 14 102 0 102
O[] 38,968 0 38,968
Os0E FHAXNY & =N 25
98,000 * 14! 98 0 98
OS9A =HXNFEEZIEH 431,000& * 14 431 0 431
OZLSHAALY 4,904,000& 14! 4,904 0 4,904
OE2A ALdaad SEAMHIA
11,615,000& = 14| 11,615 0 11,615
ogsttt o=HIXA 2,603,000& * 14! 2,603 0 2,603
OgR0t LA 397,000& * 14 397 0 397
OYROH AU WE 22222l
3,498,000& * 14! 3,498 0 3,498
o4l Azate] 1,752,000& * 14 1,752 0 1,752
O4tR (MO =20IX&
5,419,000& * 14! 5,419 0 5,419
OYEZEHAY 1,169,000& * 14 1,169 0 1,169
OXsHAMsSI X K& 68,000& * 14 68 0 68
OgR0t HEES 8,000& = 14! 8 0 8
O2Al HYES 38,000& * 14 38 0 38
OHYEE SES22E2E 100,0008 * 14 100 0 100
ogod B34l 753,000& * 14 753 0 753
oZdekt A8H RAJCAY
295,000 * 14 295 0 295
oZsExt &Ml XN 3,500,000 = 14 3,500 0 3,500
OZEHEI FEX MY (BAKJEEX)
2,320,000 * 14 2,320 0 2,320
Ol=gII=HH] 676 0 676
OZ3Esg=! 445,000& * 14 445 0 445
OsSEN=SRHASs=HSY 231,000& * 14 231 0 231
Ol At 2] 154,050 0 154,050
odd= =AM ZEs0E0Sot=X M
& 37,659,000& * 14 37,659 0 37,659
Odgx o5 HWOIsOHE0tSot=Z FHIAM
& 116,020,000& = 14| 116,020 0 116,020
o0ggz NS EAd=s0ENSot= FHIA
& 371,000& * 14 371 0 371
02 Al - EHIEXZEHE = 529,202 0 529,202
Olzstz2a] 7,665 0 7,665
OZZA HEZ =HEHI
7,665,0008 * 14! 7,665 0 7,665
OI[X X & D] 4,876 0 4,876
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ol BENS

SN CR(EH) - NRAY - BES 04l & o4 013 o HRE2
OSUHEXNY 02 AKX
4,876,000& * 14| 4,876 0 4,876
O[=2I M & X2 1t] 94,547 0 94,547
O XIS A S MHIASE XA
7,352,000& * 14 7,352 0 7,352
ORgV E=y 298,000 * 14 298 0 208
OZOAMS 2SI 570,000 * 14! 570 0 570
OHMAHS 15,927,000& = 14| 15,927 0 15,927
OZMASEHHIXE 249,000& * 14 249 0 249
OZMAFIRYEZME
12,877,000& * 14 12,877 0 12,877
OHOHOISIIE X & 1,080,000& * 14 1,080 0 1,080
oZMAHE 20| 1,429,000& * 14 1,429 0 1,429
OB A2E WAl X2
1,928,000& * 14 1,928 0 1,928
OZONOtS MEXSAE =Y
7,267,0002 » 14l 7,267 0 7,267
OFAFMOIsSASZHI2 ==X&
6,167,000& * 14| 6,167 0 6,167
OZOAAATHEAIE K&
12,839,000& = 14| 12,839 0 12,839
05.182 =R 3K MARK XA
160,000& = 14| 160 0 160
O=E=3A & =LA
666,000 * 14! 666 0 666
OMBOISXNEX IHEHESS  400,0003 * 14 400 0 400
O =X & Ardl 5,232,000& * 14| 5,232 0 5,232
OANII=EXNSENUIA BRI
444,000& * 14 444 0 444
OAN=EXNEE HdEMA +=5
455,000 * 14 455 0 455
OXtE2ZAY 13,040,000& * 14 13,040 0 13,040
OXt&ZZAtY Ol Xt 22,0004 * 14 22 0 22
OJtAIRIE ER0I ALY 875,000& * 14 875 0 875
OJAEE=SROIALY Ol 78,0008 * 14 78 0 78
OYYXNAXEHEH SANSESY
360,000& * 14 360 0 360
OXEASSHAE 402,000& * 14 402 0 402
OXNEASSHALY O X 1,000 = 14 1 0 1
OsYISWIALH 646,000 * 14| 646 0 646
Os|YISUIA Ol XL 2,000& = 14 2 0 2
OMASH 1,745,000& * 14 1,745 0 1,745
O=HEH 501,000& * 14 501 0 501
Ou=szs=0 740,000& * 14 740 0 740
OFM - ol &= ¢ 500,000 * 14| 500 0 500
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SN

DU YREsOIHLAMY)
SHol: BEXS (Sl a2
SN - EH . S(3) - MRAY - BES Aol o s HRz2
OEF=SsSAHIA 1,667,000& * 14 1,667 0 1,667
ONASOIE 252 14,226,000& = 14| 14,226 0 14,226
OHASOIE 2S2 HES0IX
1,661,000& * 14 1,661 0 1,661
OA&DI0IEBOIsEErE 59,000& * 14| 59 0 59
OQIZtAlE Wi w - H| 1,000 = 14 1 0 1
OESAE BIIQSKY 1,007,008 « 14 1,097 0 1,097
OYOIZHHESAL DASESEY
734,000& * 14 734 0 734
OYOIZ OO AL Sl ZH)
20,000& * 14 20 0 20
OO0t0I=S20IALS 1,279,000& * 14 1,279 0 1,279
OO0t0I=£0l Ol At 12,0003 * 14 12 0 12
OWEZHSAMA 0= 242,0008 * 14 242 0 242
OLI2SIIE $2DS ALY
1,521,000& * 14 1,521 0 1,521
OJFE2ANTL 2YY OIX
49,0008 14! 49 0 49
OLIRBIISNAME Sl 0%
4,00080 * 141 4 0 4
OLIRSIIE 22DSAY OIX
7,002 * 141 7 0 7
OCIREIIS Tt loj2 X2
549,000& * 14 549 0 549
OLI2SIIIE T o{2 X O X
1,000& » 14! 1 0 1
OZE0|QIX SHAAHIA XIHOIX
1,000& 14 1 0 1
OCHREIIE T OIS A0IAY OIXH(210f
HR A ) 1,008 « 14] 1 0 1
oYYIHSI OIS A KRV
180,000& = 14| 180 0 180
ORESOts2ZAHXXZF  601,000& * 14 601 0 601
O AL OISHHZHEX S
272,000& * 14 272 0 272
ogotsdsg Al 248,000 * 14| 248 0 248
OXIHOISHE 2SN 250,008 * 14 250 0 250
OBAUNRMEIZYY 5,500,008 * 14] 5,500 0 5,500
OAEAHIIEESHI XA 190,000& * 14 190 0 190
OAHALIIHUASOSHHFZSN &
25,0002 * 141 25 0 25
OHEEL=IE 260,000 * 14! 260 0 260
oZ4AltssaNdE 5,340,000& * 14! 5,340 0 5,340
ogstsots=ANE 3,175,000& * 14! 3,175 0 3,175
OSIIZETELOSI AN
5,337,000& * 14| 5,337 0 5,337
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SA-EFH - SA(SAH) - MREAY - BES Off &F K JE A BlusZ
Olstd 2] 6,573 0 6,573
ONMsSAEESH ZAIE
1,235,000& * 14! 1,235 0 1,235
OUIIEEY 22 3,143,000& » 14! 3,143 0 3,143
OUIIEEY 22 360,000& * 14 360 0 360
ogsHulE & U9 =8AIZ2 £X
1,503,000 * 14! 1,503 0 1,503
OsPdE =g dXAMT
332,000 * 14 332 0 332
Ol &d =0t 164,568 0 164,568
OAPCHE XI & 510,000& =+ 14 510 0 510
OGAPRI B (W =)Hl K& 683,000& * 14 683 0 683
ORIINBASASHIXNZE  177,000& * 14 177 0 177
02010¢ MESSIMYH(DMES, A )AL
22,767,000& * 14 22,767 0 22,767
02010d MH M= PSAEHSLMALE
0,644,000& * 14! 20,644 0 20,644
Oo2011d NZHAFHABLMA
1,200,000 * 14| 1,200 0 1,200
o2011d HAsSHEEE X&
22,500,000& = 14| 22,500 0 22,500
O=Jt=<0l XA 2,340,000& * 14 2,340 0 2,340
Osgdo It stkt= XA
73,619,000& * 14 73,619 0 73,619
O=sg R0t 2=Hl NAAMY
5,637,000& * 14| 5,637 0 5,637
02011d sUAHTAEHHIES
12,0002 * 14 12 0 12
02011 M MEHIXI &
12,632,000 * 14 12,632 0 12,632
o201t usAlZlgtdsat=ATHE XA
672,000& * 14 672 0 672
O FocEst= N DM 2 ALY
1,175,000& * 14 1,175 0 1,175
O =4I 50,003 0 50,003
OMB RS LI =W=E
360,000& = 14| 360 0 360
O=Jt1J| 8,260,000& * 14! 8,260 0 8,260
Ot XA ZALE 989,000& * 14 989 0 989
ougZIANEAY 225,000& * 14 225 0 225
OFRE2HIIZStEEd 284,000 * 14 284 0 284
outd &= o=+l X
750,000 * 14| 750 0 750
Ogdt=Ng & AXAE K&
131,000& = 14| 131 0 131
O U= HESOHAA 2,400,000& * 14| 2,400 0 2,400
O2UR3xE 232,000 * 14 232 0 232
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e

SLESOIEZAA)
o BHEXE (cHe: &)
A -3 -H2A(SH) - HEAMY - BES O AFH J| & oK Hos
otolz=zd =™ 242,000& * 14 242 0 242
ORsEXNXE 202,000 * 14] 202 0 202
oxg & el 451,000 * 14] 451 0 451
oOZU=RxE 664,000% * 14! 664 0 664
Ou2JI2HH 22XE B
963,000 * 14 963 0 963
O&=E01HB UL 232,000& * 14 232 0 232
OsZE2XYel LA 153,000& * 14l 153 0 153
oz =ntel Al 101,000& * 14 101 0 101
OUEZLHME JI2ZtH22XHsS B
155,000& * 14 155 0 155
OJi& MallEE It X&
5,021,000& * 14 5,021 0 5,021
OFEPFLZ 2EH X
7,817,000& * 14 7,817 0 7,817
OZXAE MZE ¥ 2&H XI&
3,709,000 = 14 3,709 0 3,709
OAIZI S (=HI) 11,0002 * 14 " 0 11
OE4&3 4,286,000& * 14 4,286 0 4,286
O7HY 22¢A(ZHl) 8,000& * 14 8 0 8
02010 HR&Et=s&EIHFINXE
10,000,000& * 14l 10,000 0 10,000
O&JI|I=x=d 2,349,000 * 14 2,349 0 2,349
OFlE fHEII 8,000 * 14 8 0 8
O[XI1< & ™ Dt] 9,519 0 9,519
020109 XEd XNHS3sHAY
368,000& * 14 368 0 368
020118 Xd3=H LAl
485,000 * 14 485 0 485
0200948 S5UAEHEHs Y 72
4,184,000& * 14 4,184 0 4,184
OZAJ|Y HUEUCIHOIZME
4,108,000% * 14! 4,108 0 4,108
OABIEI AT HEALXE
374,000& * 14 374 0 374
OlA&ETHDt] 19,511 0 19,511
OLZ ti=Ald HUlAIZ (2011 & & oK)
3,160,000& * 14 3,160 0 3,160
OLF ti=Al4 HHIAr (2009 & & &k )
4,305,000& * 14 4,305 0 4,305
OLF ti=AlE I HIALY (2010 & S XH oK)
4,800,000& = 14 4,800 0 4,800
OSxoi2& A 63,0002 * 14 63 0 63
020114 XEE HESRX ALY
544,000& * 14 544 0 544
OY &l AW FHAL 1,280,000& = 14 1,280 0 1,280
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e

el HET|

2N -3 - c2(3H) - NEME - HES 0f] AboH J|| & oH Hon=s2t
012.31~1.1 AT 237 HHAZ
136,000 * 14l 136 0 136
OM9SEIZE 20/T} TsH=2R HUXA2
2,475,0008 * 14l 2,475 0 2,475
OBt Ma=AI(HE AGHAE, NESH)
220,000 * 14l 220 0 220
OOl SIS SHEIM=(SHa DIDASHA, AT
2l E2H LR L SHEFH|) 765 0 765
765,0002 * 1Al
OH9S EHE 20/t HldH 2R (U2A, 5=
H OZHHA) 1,763,000 * 14l 1,763 0 1,763
O[S AN D] 59,369 0 59,369
ORX#HEOISTLHAIY  1,253,0008 * 14l 1,253 0 1,253
O2010E AR S ES X XA
599,0008 * 14l 599 0 599
O2009CH S AtSH D 2F A H| AL
38,677,000 * 14l 38,677 0 38,677
020094 7 2 X & et AF e
8,340,000 * 14l 8,340 0 8,340
020095 0f =81 & A H| 3,000,000 * 14l 3,000 0 3,000
OZ AN SERI XA 21,0008 = 14l 21 0 21
OARE XML A 2,554,000 * 14l 2,554 0 2,554
OUESH2NSTLHAY 166,000 * 14 166 0 166
OSMLOIXIQIAIEHEI ZA ALY
4,759,000 * 14l 4,759 0 4,759
oAl 5,579 0 5,579
OXLE Xt S2HIX 781,0009 * 14l 781 0 781
O/t Hze| 874,0002 * 1Al 874 0 874
OMtR AlMOF S20IX2 679,0008 * 14l 679 0 679
OXNEMAMED &Ax X 21,0008 * 14l 21 0 21
OYUAl HHEE 19,0002 * 14! 19 0 19
OZBMEI R} AZCH SERALIALY
295,000 * 14l 295 0 295
OZ8Ma R 2AH XY 1,750,0008 * 1Al 1,750 0 1,750
OZHaX FEX ZeIMY (HOAT =TI}
1,160,000 * 14l 1,160 0 1,160
O[EEAIEI 2R 2] 810 0 810
o)o: R=RTb\E=ImE=1 600,000 * 14l 600 0 600
OZOHQAIE BALR Egg
210,000 * 14l 210 0 210
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-DSsN(IIS222XNSHA)
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20,0008 * 530! * 128 2,720 0 12,720
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DIEHELY(XEA)
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10,0002 * 891 * 128 960 0 960
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~HTARAY 150,009 * 32 * 128 5,400 0 5,400
~HA 4G (SAAIL62)
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~HA 4G (SAAILEZ)
34,0002 * 121 + 128 408 0 408
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60,0002 * 191 * 12& 720 0 720
—EL XL (9 A-730/8})
50,0002 * 79! x 129 4,200 0 4,200
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oACIL 2L (HES) 11,554 0 11,554
-42 (285 2)
3,988,600 * 201 » 9% * 122 8,616 0 8,616
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9,383 * 15501 * {5AI2F  12& 261,786 0 261,786
-2 B EN(73)
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7,609 * 9491 » 15A|2t » 12& 128,745 0 128,745
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-Jls2(62)
9,383 * 301 » 15AI2F » 12& 5,067 0 5,067
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-2 (83)
7,609 * 2491 » 15A|2t » 12& 32,871 0 32,871
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-X &2
10,8392 » 4021 % 15A|2t * 12& 7,805 0 7,805
-XI Z AH20& 20|5t)
8,848 * 1091 » 15A|2t » 12& 15,927 0 15,927
-XEAH21E 20| 4)
8,2922 x 1501 » 15A|2t » 12& 22,389 0 22,389
“H 2R (CHS)
7,42221 « 191 » 15A12F » 128 1,336 0 1,336
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2,881,4008 * 2201 » 60% » 23 76,069 0 76,069
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2,360,3002 * 2401 » 60% » 23 67,977 0 67,977
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1,683,7002 » 3501 * 60% * 23] 70,716 0 70,716
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4,221,8002 * 491 * 60% * 23] 20,265 0 20,265
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2,380,9008 * 25Q1 » 60% » 23 71,427 0 71,427
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0 M2 AH 231,690 0 231,690
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—UB X532 (302S)
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-JIsEe2 (255 2)
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110,000 = 191 * 122 1,320 0 1,320
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2 40,0008 * 1121 = 12& 5,280 13,680 18,400
SESZ(RLIE)
20,0002 » 3201 * 12& 7,680 0 7,680
SIS EY(BUAINSIAS)
30,0002 * 201 x 2% 720 0 720
~-AHESHIE TS (S WIS AIXS)
2 51,4009 * 621 * 43] 1,234 10,265 29,031
-NEHSHIEX 4 (ES w22 XNSHXA)
50,310 = 62! * 43] 1,208 0 1,208
~NHAEHI EX S (DES IS X AIXSA)
420,7902 * 201 x 43 3,367 0 3,367
-NHHEH BEXR2SY(DESNIES S22 X
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oXEMUIRLYE 53,076 35,173 17,903
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AE 15,1562 * 691 » 15AI2F » 128” 16,369 33,253 16,884
AR 222 (=115 E)
11,3682 % 1721 * 15A|2F * 122 34,787 0 34,787
~L SN (PHE)
ZE 40,0009 * 191 = 128 480 1,920 A1,440
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30,0002 * 491 » 12& 1,440 0 1,440
oAHIBAS 61,085 59,558 1,527
-HESIIHI(FE2188)
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o+g 929,574 983,073 53,499
OEW2IR4EYS 211,465 264,964 A53,499
-AlZI 24
2 15,4802 * 3621 x 20AI2t » 129 133,748 187,247 A53,499
Olgxd2xd 1,402,820 1,397,779 5,041
oJlea2 X 953,000 * 672!  12& 766,212 611,678 154,534
o+g 636,608 786,101 A 149,493
oMt 301,148 243,971 57,177
PPN
ZF 953,000 * 4001 = 10% » 128 45,744 40,077 5,667
SJl¥4ag HE 953,0008 * 6791 x 43 255,404 203,89 51,510
0S4+ 2R24Y 100,000 * 821 * 128& 9,600 0 9,600
OEW2R4EYS 158,065 278,922 A 120,857
-Alztel2esd
X 8,480 = 6721 » 20AI2t » 122 136,359 264,328 A 127,969
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AR IFINTY
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OALEH
2 1,950,0008 » 10521 * 3.09% » 12& 75,922 73,833 2,089
O1E=LE
2 1,950,0008 » 10521 * 1.45% » 12€ 35,627 33,170 2,457
204 X4 AHY| 1,091,880 1,105,020 A 13,140
02 232X 1,091,880 1,105,020 A 13,140
OXSEXH (EHN) 28 0¥ 0 1,101,420 A1,101,420
OXZB&H (M3 1,088,280 0 1,088,280
oz% 500,000 * 121 * 12& 6,000 0 6,000
oRZ% 450,000 * 191 = 12& 5,400 0 5,400
043, XIT2(43) 400,000 * 321 * 12€ 14,400 0 14,400
053, Xc2 250,000 * 3501 * 12& 105,000 0 105,000
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02 B2 67,653 28,853 38,800
OlB2223 % MAll 33,053 28,013 5,040
OXZA HESH ANEE 23
T 60,0008 * 140 * 128 10,080 5,040 5,040
O[N&ZE 2Rl 34,600 840 33,760
OMEXYHSHARA ALK 24|
260,00034 * 128 3,120 0 3,120
OHME X =t 2,000,000% * 144 2,000 0 2,000
OJMANZ SN 46l 220,002 * 128 2,640 0 2,640
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ZA 6,0008 * 14,0572 * 50% 42 171 43,200 A1,029
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oMEZEIIA E2H THHIUT (20
AHE 2} ZE 258,000 = 1004 2,580 2,880 A300
A FHEAN =2 88, 148 90,500 N2,352
E9E 3 H 22 88, 148 90,500 A2,352
201 L2 AH 86,248 88,600 A2,352
01 At 224 76,048 78,400 N2,352
Ofgetz=2d|] 66,448 68,800 A2,352
OSIHHSEH E 2HEE 222 (20
APE2H) 23 554,000 = 12A 6,648 9,000 N2,352
SE8F0 THar2E 2,473,894 1,572,644 901,250
[ 22,000 0 22,000
= 2,451,894 1,572,644 879,250
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01 At 22| t] 32,870 23,205 9,665
Olger+gt] 31,870 23,205 8,665
O=TZRMA BRI 2HEY 222 (20
NEED) A 130,009 * 4921 6,370 6,500 A130
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11,000,0008 * 14! 1,000 0 1,000
= 11,000 0 1,000
ol2ztl] 1,000 0 1,000
0=ZR Wume 2 Sl
1,000,000 * 14! 1,000 0 1,000
= 1,000 0 1,000
202 04t 10,000 0 10,000
= 10,000 0 10,000
01 2L 01 bl 10,000 0 10,000
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Heo ma) 20,0008 * 491 + 125 10,000 0 10,000
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401 A2 HI L 20| 1,390,000 800,000 590,000
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OUBSARAL BASXNY L NFHS HH(
20lAEY) 2 460,000,008 * 141 460,000 500,000 40,000
OMLUBSN 452 AMK EXHY
3 372,009 * 2,500m 930,000 300,000 630,000
W HASY 1,039,524 747,939 291,585
MAEE e 1,032,874 740,939 291,935
201 Yere gt 695,744 621,909 73,835
01 At 22|t 121,190 82, 15 39,035
olger+gtl] 121,190 82, 165 39,085
ORYLBHAS(2ULEY)
23 100,002 * 19! * 23] 200 400 200
OFA SIZASE 3
A 216,666 * 65 * 103 3,000 10,800 2,200
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OB ZAREIIL4R
Z2 & 300,000& » 7CH 2,100 900 1,200
ORISR HIIAA 242
A& 35,0008 « 100CH * 12] 3,500 2,800 700
O& A AT FH| 500,000& * 1690 2 8,000 0 8,000
OWUHX & === 5,000,000 * 14 5,000 0 5,000
OAIRY HE &7 3,000,0002 * 14! 3,000 0 3,000
095lE BEER AF A
2,500,000& * 404 10,000 0 10,000
OZESXY S0 HH 37,5008 * 80CH 3,000 0 3,000
OZ ZA 22013 HH| 5,000,002 * 1A 5,000 0 5,000
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0z YR 22 (20)
Z2%& 10,000,000& * 1CH = 43 40,000 30,000 10,000
O[ANEEBIRXIHI] 44,740 39,940 4,800
OFMEH IR L ATEYOSNLS
800,000& * 61 A 4,800 0 4,800
O[Xte - detl] 70,000 50,000 20,000
oxasNH ¥ SE
28 324,074 + 1804 * 128 70,000 50,000 20,000
206 M=l 15,232 10,550 4,682
01 HZ I 15,232 10,550 4,682
OBAIU 31E 272 (20AE)
Z2 & 841,000& = 23] 1,682 2,000 A318
o232 dXH2 25,0008 * 1,0005 5,000 0 5,000
401 Al HI L S 04| 147,620 35,000 112,620
01 Al & Hl 147,620 35,000 112,620
O=DE 2lRYa 4HEY
49,000,000 = 14] 49,000 0 49,000
O2& FXetMAE 22H 21,000,000 * 14! 21,000 0 21,000
ONBENSERA 21298
23,000,000 * 1A 23,000 0 23,000
ONEZ=SNIZ M4E S
4,620,000& * 14 4,620 0 4,620
Ol ZLTA HHZA
15,000,000& * 14l 15,000 0 15,000
405 KHaHE = H| 154,838 54,040 100,798
01 At =S H S| 154,838 54,040 100,798
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ORND 24 &x 50,000,000 * 14! 50,000 0 50,000
OFHESN2A3Y HRZAD| 2 (XX
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OFXZAI YD1 2AA)
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OF AlL2AZ SHANS MSUS (Z0IL4E
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So a2 (SHA) 374,960 304,825 50, 135
S Wmee 29 374,960 304,825 50,135
201 Lt Y] 195, 115 189,725 5,390
01 AL 22 b 7,390 1,504 ~4,114
SILEES=TT) 7,390 11,504 A4, 114
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08 sa BgA Y
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ONSSHREZL 29U
720,0008 * 128 * 110% 9,504 0 9,504
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OYYSAIRL ARA FZEL  ZH 0" 0 10,000 10,000
OYUSAIRL THDRHE
9,000,0008! * 14! 9,000 0 9,000
OHSSARL SEA BLDA(ZUANRY
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OSIZIE XA U SIMA FH|(2OILED
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OAZRIALR L 255|004 A2 &XI(=0
HE) A 1,425,008 * 14 1,425 1,500 ATS
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N = 0l & AF & F Al A

S REPAPN =SSN,

Hu: 2HER 25
o9 2F EEe (el &2
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 [ =)e bRz
13,125,211 12,598,329 526,882
2 44,982 38,652 6,330
= 78,440 59,940 18,500
2 13,001,789 12,499,737 502,052
23t 899,716 910,745 A11,029
dzEs 641,803 646,565 A4,762
E20H 22 493,878 494,065 INEY
s Y| 460,321 464,365 A4,044
At 2rel bl 433,672 447,085 £13,413
Olgersgtl] 430,067 443,480 ~13,413
023 2% 5542 28 254,487 267,900 £13,413
OTVE B AH(Z0I At R )
2% 8,658,7002 * 102 86,567 100,000 £13,413
zzZ2Yy| 26,649 17,280 9,369
OlZZRILHA] 21,600 17,280 4,320
OB IT2|0| R AN 2082
27 1,000,008 * 122 12,000 10,800 1,200
OSAIAMHIA Ol82
2 800,000 * 128 9,600 6,480 3,120
OEEXE MUAIY NHIA 0828 5,049 0 5,049
0F% 0182 165,002 * 1USER * 9% 1,485 0 1,485
ORI A3 19,8002 * 20JHAb * O 3,564 0 3,564
U F LD 7,857 8,100 ~243
ETIES 7,857 8,100 ~243
ORPFERAEAZHOHI (RO LE)
3T 261,908 * 303 7,857 8,100 ~243
Z42 4,100 0 4,100
Z&3 4,100 0 4,100
ORFEE 2424 Y 4,100 0 4,100
o4 1,500,000 * 15Af 1,500 0 1,500
o2+ 1,000,0008 * 15 A 1,000 0 1,000
oY 500,008 * 2% A 1,000 0 1,000
0 300,008 * 25 A 600 0 600
DY 2= 147,925 152,500 A4,575
sty 147,925 152,500 A4,575
te eyl 147,925 152,500 A4,575
OZSY DYX PS(2OME)
AT 36,458.380 * 65 * 123 2,625 7,200 A4,575
= 257,913 264, 180 76,267
LA 22 202,245 208,500 £6,255
sty 202,245 208,500 £6,255




Kb X & & Dt
FE8 A5
HdEES MH CEREE
N33 S2(3H) - MEAMY - BES O AF K J|E Hlw &2
01 AtR2telH 134,745 141,000 NB,255
OZLZAANINEREE SEMH(2UHLEY)

d & 208.27& = 30,0002 * 33 18,745 25,000 A6,255
g3 B2 g4 A 55,668 55,680 A2
101 el A H| 14,540 13,280 1,260

04 D122 2XNEES 14,540 13,280 1,260
OZHAHHICI2EE EX 2
ZE 38,1208 « 121 * 280 10,674 9,691 983
OFs=+d ZE 38,1209 * 191 * 523 1,983 1,800 183
Ogx=¢ 23 38,1208 191 » 123 458 416 42
Odxt+¢ Z3 38,1202 * 121 15 572 520 52
201 Lr2E 41,128 42,400 n1,272
01 AR 2telH] 33,328 34,600 N1,272
OZZFEE 22 & HE HOZ Y (20LH
Z) ZE 12,0002 = 19404 2,328 3,600 A1,272
nE=2XES 9,086,588 8,864,870 221,718
< 37,500 25,000 12,500
i 9,049,088 8,839,870 209,218
gt = 9,086,588 8,864,870 221,718
< 37,500 25,000 12,500
G 9,049,088 8,839,870 209,218
OEt2 293 277,500 265,000 12,500
[ 12,500 0 12,500
= 265,000 265,000 0
308 XXM SO0IH 277,500 265,000 12,500
< 12,500 0 12,500
= 265,000 265,000 0
06 WFI| 20Ut E2E3 277,500 265,000 12,500
Og0MEns N
Z & 37,500,000& * 1004 37,500 25,000 12,500
[ 12,500 0 12,500
= 25,000 25,000 0
stw gt sty K& 615,000 570,000 45,000
308 AtXIEHMIS 01 & 265,000 220,000 45,000
06 w=J| 202 L3 265,000 220,000 45,000
oZelorztall st&sXx#
Z& 60,000,000& = 14! 60,000 40,000 20,000
OSstd 201012t0I0l stsX&

25,000,000& = 14! 25,000 0 25,000
st X2 UE0IX K& 3,420 3,490 AT0
201 L2 420 490 AT0

01 AtR2telH 420 490 AT0
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Sl WIS (S &)
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 J1E o B2
S ErE I ErEEECE R
ol &= 2) A 70,0008 * 13 * 62! 420 490 AT0
ey 234 N 1,559,548 1,315,120 244,428
201 LEr2 Y| 630 1,050 A420
01 ALR 2l 630 1,050 ~420
OXSBBLMBTATRAOIIRAE B 220
WEED 23 70,0002 * 13| * 99l 630 1,050 A420
308 XX £ S OI & 1,558,918 1,314,070 244,848
06 RSIIBUHSZES 1,558,918 1,314,070 244,848
OFeY LM XNA(X,5
AT 196,483.042 * 6,496, 15% 1,276,384 1,031,536 244,848
Sat JIHA X 89,700 89,840 A140
201 YEr2gY| 700 840 A140
01 ALR 22l t] 700 840 A 140
oYz B A
2) 700 840 A140
oIS &2 KA 5,720,000 5,800,000 80,000
306 2012 5,720,000 5,800,000 80,000
01 2013 5,720,000 5,800,000 80,000
O(W) gy ZeIZsts
720,000,0002 * 14! 5,720,000 5,800,000 80,000
SISHH 75 650,402 478,476 171,926
= 6,330 0 6,330
2 644,072 478,476 165,596
sy 650,402 478,476 171,926
= 6,330 0 6,330
2 644,072 478,476 165,596
Qormwe I 20,050 22,050 A2,000
307 212+0| & 13,000 15,000 A2,000
04 QRIS ALS X 13,000 15,000 2,000
O21gUTY 2% (
= 13,000 15,000 A2,000
EE IS EN 18,000 20,000 A2,000
307 212H0| & 18,000 20,000 A2,000
02 QIAAABE 18,000 20,000 A2,000
OHFESMTHUZH (ZH AT
27 18,000,008 * 14 18,000 20,000 A2,000
WSS Al B A3 42,902 41,306 1,59
101 Q1214 14,192 12,59 1,59
04 JARZ2RE 24 14,192 12,59 1,59




SA AXEED
sh 7

U PUSISHE PS
SHel: BMES2Y (cro: 2 g
SA-BH - OA(B) - HRAY - BE2 P sl Hns2
OBUES CARY Sx o=
A 38,1202 * 19 2652 10,102 8,999 1,103
OF5=+¢ ZE 38,1208 12 * 523 1,983 1,800 183
OE =¥ Z& 38,120& » 12! ~ 128 458 416 42
O xt=¢ Z2& 38,120 = 12! « 15& 572 520 52
OdL=EE= ZE 7,444,000& * 5.8% 432 216 216
gelzdistunezg 561,120 393,120 168,000
301 et et = 448,000 280,000 168,000
10 HALAHI 2 &= 448,000 280,000 168,000
OSHsD &M Al
Z2& 1,000& = 2,7002!  34.3703& 92,800 90,000 2,800
ORHDS LAY
Z & 30,0008 * 34621 » 34.2196& 355,200 190,000 165,200
Soleins 6.330 0 6.330
= 6.330 0 6,330
301 et et = 6,330 0 6,330
= 6,330 0 6,330
10 AL HIE &= 6,330 0 6,330
O=2dus HA+=& 6,330,000& * 14! 6,330 0 6,330
= 6,330 0 6,330
FESH Qe ,403,276 ,371,074 32,202
= 13,328 13,328 0
= ,389,948 ,357,746 32,202
sHEd x4 205,906 141,656 64,250
= 13,328 13,328 0
2 192,578 128,328 64,250
A LSANAERF 179,250 115,000 64,250
401 Al EHIZ 2O Y| 179,250 115,000 64,250
01 A& H 179,250 115,000 64,250
0SS DISYs HHAY(ZHNB)
2 & 5,112,500& = 200t 102,250 108,000 N5,750
OL-20ISYEIUISAM(SH SA1.2.42], 4
S4632], 98 d&22]) 70,000 0 70,000
11,666,666 * 6JH0IS
sS4 D&t ,197,370 ,229,418 A 32,048
HUHSHIPTAAY 25 475,000 500,000 A25,000
401 Al AHI 2 S THY 475,000 500,000 25,000
01 Al H] 475,000 500,000 A 25,000
OB MR BH(IPT) Al A B 25 (=0l 4 )
Z & 475,000,000& * 14 475,000 500,000 A 25,000
FESUANE R 185,337 153,661 1,676
201 24 115,531 119,339 A3,808




SA XX
N Mg

o
ool ¥

2N - 3= - SH2A(SH) - NEAS pjEsifon Hl =2
02 22294 102,253 106,061 A3,808
O[A&ZHISXIHl] 102,253 106,061 A3,808
OBAHEIAAL HAZ I &
) A 1 1,592 5,400 A3,808
401 A& HI L =20 8,978 9,450 A472
01 Al&H] 8,978 9,450 NA472
OE-22F MUXEHI22 (PRI, DEHI0IEIE) (=
Ol AFE 2E) A 2,992,666 * 3M 8,978 9,450 A4T72
405 XpAHE SH| 30,828 24,872 5,956
01 AHAHL 2EF SH| 30,828 24,872 5,956
OS4lA HAXM22 HHE 2l wH (20l A
2A 5,956,000 ! 5,956 7,200 A1,244
OMHE BetAX 2 2,400,0008 * 34! 7,200 0 7,200
HEsSad 29 22 567,033 525,757 41,276
201 L2 AH 472,573 488, 157 A 15,584
02 22294 472,573 488,157 A 15,584
O[2222YLHAI] 472,573 488, 157 A 15,584
OSEHAMAEANAY Ol22(2
A 1,40 16,816 32,400 15,584
401 A& HI L =20 94,460 37,600 56,860
01 Al&H] 94,460 37,600 56,860
OUERT AQX DH(AIEA, SH
Z3A 2,600,000 75,400 17,600 57,800
OFUSIOA IASEAH DA B2 (20 AE
2h) ZE 19,060,000 = 14l 19,060 20,000 2940
CCTV AlAE!I p= 0 50,000 250,000
401 Al & HI L 2 HH 0 50,000 250,000
01 Al&H] 0 50,000 250,000
OFA W CCTV A 2 =& 0 50,000 250,000
HEJ| 2= 991,575 878,237 113,338
= 38,652 38,652 0
< 27,612 21,612 6,000
= 925,311 817,973 107,338
HENY 29 842,169 760,305 81,864
= 22,812 22,812 0
= 819,357 737,493 81,864
SHEPAIAE ZH| X 196,949 307,027 A 110,078
201 Lpt2AH 6,465 6,562 N97
02 22294 4,365 4,462 A97
O[A&ZHISXHl] 4,365 4,462 A97
ORoIALZ)| SANBL
ZA 55,770,0008 * 7.826% 4,365 4,462 A97




2 XA
M P08 2=H
oo dFEE 29 ol XM g
N33 . c2(3H) - NEME - HES ALl J| & @ Hns
401 Al & HIL 2 HH| 0 220,000 A 220,000
01 Al&H| 0 220,000 A 220,000
OSEHAAAE JNE AL 38 0 0 120,000 A 120,000
OMIBBEES MAAAE 2= 338 0 0 100,000 100,000
403 XX SHMS K201 A 73,224 52,205 21,019
02 2| 2S0HICHSHH &AM HI 73,224 52,205 21,019
OBSIBANAEY RAEL(BSI|E2)
43 620,681,200& * 8% 49,655 41,649 8,006
OANZHESSAAY QANEX=(SSI|IEH)
48 294,603,582& * 8% 23,569 10,556 13,013
405 KH&HFE S HI 116,000 27,000 89,000
01 ML =EFHSHI 116,000 27,000 89,000
OQIMOIEEES HAAIAE 1= (401-01011Al)
89,000,000& * 14! 89,000 0 89,000
HI2M 2l 270,173 82,756 187,417
201 L2 H| 33,713 34,756 A1,043
02 3=2%H| 33,713 34,756 A 1,043
O[AI & EHI S XIHl] 33,713 34,756 A 1,043
ONXZM & Xz AIAE RIAE4 30,086 31,129 A 1,043
OLATEY (20 AEY)
& 184,347,4803 = 8.4346% 15,549 16,592 A 1,043
405 KHAHFE S| 236,460 48,000 188,460
01 ML =EFHSHI 236,460 48,000 188,460
OFXNEMAIAY SHSH(20ME)
g8 2,903,750& = 1694 46,460 48,000 A 1,540
OBRZTAIAE =S AHH WAH
190,000,000 * 14! 190,000 0 190, 000
St=EX2elAAE 29 14,899 15,360 A461
201 L Et2HH| 14,899 15,360 AN461
02 3=2gH| 14,899 15,360 N461
Ost=2EX ALY SANEL (20 AEZ)
A& 153,600,000& * 9.6998% 14,899 15,360 N461
AFEH| 22 22| 262,082 264,818 N2,736
201 L et2HAb| 88,482 91,218 N2,736
01 AtR2t2|d] 46,810 49,546 N2,736
Olger2g4l] 46,810 49,546 N2,736
oO8Z S/W=¢ 20,364 23,100 N2,736
OEEQCSB(%NI&Q%)
& 616,600& * 1504 9,249 11,985 N2,736
NA 2 25,316 17,594 7,722
201 L Et2HY| 25,316 17,594 7,722




S KX 2 D
HE: HelY 1
Sel BHYD 2 (el &2
SH-EH . C(BH) - NRAY - BES Ofl AF o4 [ =)e bRz
01 A2 22l 15,792 16,320 A528
Olger+gyl] 13,992 14,520 £528
OMME SIECIAT L H22l R (=0l
=) A 2,868,002 * 4Lk 11,472 12,000 A528
02 B2 Y| 9,524 1,274 8,250
OWPS ezl A 275,00020 * 3004 8,250 0 8,250
N 32 29 149,406 117,932 31,474
2 15,840 15,840 0
= 27,612 21,612 6,000
2 105,954 80,480 25,474
HEs0lS T2 MRINSY 65,689 64,128 1,561
2 15,840 15,840 0
< 19,512 19,512 0
2 30,337 28,776 1,561
307 2I12H0| 65,689 64,128 1,561
2 15,840 15,840 0
= 19,512 19,512 0
2 30,337 28,776 1,561
VEIEIEES 65,689 64,128 1,561
OZ2IBBAX S48 XA (4H0HS)
A 65,680,008 * 14 65,689 64,128 1,561
2 15,840 15,840 0
< 19,512 19,512 0
2 30,337 28,776 1,561
EHOIX el 32,353 33,354 A1,001
201 YEr2 Y| 32,353 33,354 A1,001
02 B2 32,353 33,354 A1,001
OEHOIX SXB4(20IA=Y)
A 155,733,3338 = 11.357% 17,687 18,688 A1,001
MRS ¥ HR0IBAL 75 1,539 8,520 3,019
201 YEr2 Y| 3,619 2,700 919
01 A2 22l 3,619 2,700 919
Olger+gyl] 2,619 2,700 N
0BPY HLHDT DU L DAL (=20
AEY) B 15,0008 * 2091 + 8.732 2,619 2,700 A8
OFUHLSDS DHTY 20,0002 * 502 1,000 0 1,000
301 LB A3 6,720 4,620 2,100
10 BAHAIHI 2 A3 6,720 4,620 2,100
ORY FEHDT ALY
A 30,0008 * 7AIZH + 328 6,720 4,620 2,100
H2S0S 2 35,205 7,310 27,895
= 6,000 0 6,000
2 29,205 7,310 21,805
201 YEr2 Y| 3,405 3,510 A105
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OIIZRIIZH (208 E2)
ZA 326,595,0002 * 1Al 326,595 340,000 13,405
401 A& H 220 320,000 300,000 20,000




SN

jx_ =
XNz p2ga Je A=

SRl AlRIEN =4 (etel: =3
SNBSS NRAY - B2 0 &4 o o173 o HlE2
01 Al Hl 317,948 297,840 20,108
OHSES AMSHHAFAIRA 22 S AH(2
Gl aFE2) Z& 279,218,000& * 14 279,218 297,840 A 18,622
O0lYE Al2lSHMASAIR A A S A
3,730,000 * 14 3,730 0 3,730
OstatH AR SHHIH AR 2228 S A
20,000,000& * 14 20,000 0 20,000
OMOISa& E+=3AM 15,000,000& = 14 15,000 0 15,000
03 A& S0 2,052 2,160 A 108
HSE MIHHEEMIA 2L IZAL Al
AR0HI(20MEZ)ZE 2,052,0008 * 14 2,052 2,160 A 108
SUEH NEsY 101,238 90,450 10,788
= 4,800 4,000 800
= 96,438 86,450 9,988
MOEXEXRAEHEESZ X2 9,600 8,000 1,600
= 4,800 4,000 800
= 4,800 4,000 800
301 et at= 9,600 8,000 1,600
= 4,800 4,000 800
= 4,800 4,000 800
02 Hst=Leti= 9,600 8,000 1,600
OMOIS RIEX XA &8t
Z & 9,600,000& = 14| 9,600 8,000 1,600
= 4,800 4,000 800
= 4,800 4,000 800
=0IHH X 26,120 26,500 A 380
307 212+01 A 12,120 12,500 A 380
04 QIZ2HHALE X 12,120 12,500 A 380
Oge Adnas Hal(2uaEZ)
Z2& 12,120,000& * 12/ 12,120 12,500 A 380
MOFS &M X2 43,650 33,400 10,250
201 L2 2,640 3,000 A 360
01 AtR2telH 2,640 3,000 A 360
Olger=8tl] 2,640 3,000 A 360
OMDOtSsl 2 ALHNMEY U == (20
AHE ) Z& 2,640,000& = 14| 2,640 3,000 A 360
307 212+01 A 24,610 14,000 10,610
04 SIZHHALE X 24,610 14,000 10,610
OMOIE 2Hl 2EUs HAZA (20 M4EZ)
Z & 9,700,000& * 14 9,700 10,000 A 300
OMOER Uz 3L 24
Z& 2,000,000& * 1A 2,000 1,000 1,000
OMEEEZAUS FHT B4 (20 4EY)
23 2,910,000 = 13 2,910 3,000 290




SN FOIMEX D
Mz DEsA JP 25
Sl 2OISH NAFH (el &2
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 )= e B2
OMOFSXE Xt H&CHE 10,000,000 * 14 10,000 0 10,000
HEMEE L E L 17,018 17,550 A532
307 2I12t0| 17,018 17,550 A532
02 I AR E 8,240 3,000 5,240
OZ20IZAE SN (ZHLEY)
A 2,910,008 * 14 2,910 3,000 A90
OOHLIZ 0| EAE 2|
5,330,008 * 14! 5,330 0 5,330
04 QIR ALS X 8,778 14,550 AB,772
O6.25F XX S (20 A=)
AN 3,880,008 * 13l 3,880 4,000 A120
ODDA DIFAL DE(L0IAE)
A 2,134,002 * 13l 2,134 2,200 A66
O 5.1 SY0iH 230 B3l JF 0 0 1,800 A1,800
OODILIZE®0l A 2HI(Z0IA4E)
23 02 0 5,500 5,500
OLI2tAFZ EHZDI ZO0FFD)
1,745,000 * 14! 1,745 0 1,745
OMUREN SSNA(2HAR)
A 1,019,002 * 1A 1,019 1,050 A3
BEHA)ISS R 4,850 5,000 A150
307 21240 & 4,850 5,000 A150
02 OINFARE 2,910 3,000 A90
O=MME2E DISUIXH(S0AED)
A 2,910,008 * 14 2,910 3,000 A90
04 QRIS AL X 1,940 2,000 A60
OHI2M2 HI20tS AFS 9ist 22 o AR
N (=0a=2) 2 1,940,008 * 13 1,940 2,000 A60
ZOMETNAMHIA HE L I8 S 3,674,585 4,045,488 A370,903
2 2,314,567 2,587,413 A2T72,846
= 68,265 68,265 0
= 547,547 605,415 57,868
2 744,206 784,395 £40, 189
ZOIMBRRAYA BLHA Sl 1,052,627 1,433,205 A380,578
= 712,360 983,892 A271,532
= 152,648 210,834 A58, 186
, 2 187,619 238,479 50,860
FOMBTA FLHH LAY 7,728 6,730 0,998
201 Yeregt| 16,508 6,730 9,798
01 A2 22l 6,528 6,730 A202
SIEIIE==11T) 5,898 6,100 £202
OFDIMEAYIA FHOY 222 RIZ (=0
NEED) AN 1,508,002 * 1A 1,598 1,800 A202
03 A2 bl 10,000 0 10,000




S EOIMETIR D
M FOMBXAMNLIA HE L O8RS
Z=0IME X

el Z=OIMETAMHIA MSHH & al (&te @
2N -3 - c2(3H) - NEME - HES 0] Ao J)[| el Hl =2
OAMBIEXIZAH X &35 10,000,000 * 14! 10,000 0 10,000
202 04 H| 1,200 0 1,200
01 2oyl 1,200 0 1,200
OAMZ =X AL &40 H|
100,0008 * 1201 x 13 1,200 0 1,200
KIS AS] MHIA A ALY =& 1,020,475 1,408,460 387,985
= 712,360 983,892 A271,532
[ 152,648 210,834 N58,186
= 155,467 213,734 A58,267
201 L2 AH 2,619 2,700 A81
01 At 22| 2,619 2,700 A81
Olget2H|] 2,619 2,700 A81
OXSASMHIA EXAIY 2822 2|Z3 H
I AR 22X 2,619,0008 * 14l 2,619 2,700 A81
307 @I2+0| ™ 1,017,656 1,405,560 N387,904
= 712,360 983,892 N271,532
[= 152,648 210,834 A58,186
= 152,648 210,834 A58,186
05 QI2tRIEHZ 1,017,656 1,405,560 A387,904
OXISAS MEIA EXF AFY
Z3A 1,017,656,0002 * 14l 1,017,656 1,405,560 387,904
= 712,360 983,892 A271,532
[ 152,648 210,834 158,186
= 152,648 210,834 A58,186
XM XN HE 22H2H 9,414 9,705 A291
201 Lpt2AH| 8,679 8,970 A291
01 AtR22telH 8,679 8,970 A291
oleg+¢l] 4,159 4,450 A291
OXYAMIESXEAMIO AT 2 LE(
20AEY) 2E 4,159,0008 * 14l 4,159 4,450 A291
ZOIAMHIAAH ALY 5,010 8,310 23,300
201 Lpt2AH| 3,360 6,560 13,200
01 At22telH 3,360 6,060 A2,700
Olger=2H|] 1,800 4,500 A2,700
OZFBIAHIA HHAIY CHHAM HME (20 AHE
) 2 02 0 2,700 A2,700
02 2229 0 500 A500
OI2ZR2YLHA] 0 500 A500
OMHIA Sl UREAI QEZ (20 A2
2 0 0 500 A500
301 Yt AR 900 1,000 A 100
10 HALAHI B A2 900 1,000 A 100




SN
X{ ZH -
S Tt

ce:

IR E SN
FOMBXAMEIA NG L Ol 2E
FOMBRAAYA ML S

SN H - SR(EH) - NPAMY - BES 0] &F o pJE-E" HRE2
OFCANHIA QIZEOX 2E 3 (20 aE2)
d & 450,000& = 13 450 500 A50
O AMHIA QICIEOX 2E3 (20 aE L)
Z2 & 450,000& = 13l 450 500 A50
ZoHel =X K& 2tel 2,508,179 2,508,086 93
= 1,580,610 1,581,924 A1,314
= 68,265 68,265 0
= 388,099 388,381 N282
= 471,205 469,516 1,689
ZOHAMIIEHES XA 37,412 35,412 2,000
307 212+01 A 32,020 30,020 2,000
10 AlRISXIE X 32,020 30,020 2,000
Ot= XML At H A=MIU2l ALE
o K& 2,000,000& * 12/ 2,000 0 2,000
ZojHASA 7,516 7,546 A30
201 et A | 7,516 7,546 A30
03 S AI2 &I 970 1,000 A30
OZOH HAIFOU(AHHETNINE , =S SAMS)
N (20 aE2) Z& 970,000& = 14! 970 1,000 A30
ZOHotsHEXZ 153,102 156,979 N3,877
= 107,171 109,885 N2, 714
S 22,965 23,547 A582
= 22,966 23,547 A581
307 21Ztol 153,102 156,979 N3,877
= 107,171 109,885 A2,714
= 22,965 23,547 N582
i 22,966 23,547 A 581
05 QI2t2 &= 183,102 156,979 N3,877
OZOots MHEX=
2 153,102,000& * 14 163,102 156,979 N3,877
= 107,171 109,885 N2,714
S 22,965 23,547 A582
= 22,966 23,547 A581
SSHHLY #s2x U 55,543 55,543 0
< 19,996 19,996 0
i 35,547 35,547 0
301 et ez 55,543 0 55,543
= 19,996 0 19,996
= 35,547 0 35,547
01 B 2EE =052 55,543 0 55,543
O=sZe gs2L N
1,028,574.0743& * 921 » 63 55,543 0 55,543
= 19,996 0 19,996
i 35,547 0 35,547
307 21Ztol 0 55,543 AbB5,543
= 0 19,996 A 19,996




S EOIMETIR D
Hal: FMBNAMEIA KL L g P
Jé} O

]

el FOHOl =X K2 (e @
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o J1E o B2
= 0 35,547 735,547
02 DIHAMRE 0 55,543 55,543
OSZZN HESX HUX 25 o2 0 55,543 755,543
= 0 19,996 ~19,996
2 0 35,547 £35,547
ZONOLS THEXIZ AR E0H 5,760 5,760 0
= 2,880 2,880 0
2 2,880 2,880 0
301 YBHEAS 5,760 0 5,760
= 2,880 0 2,880
2 2,880 0 2,880
NE RS 5,760 0 5,760
OROHOISTHEXI B A SHOIXIR
AF 60,0002 * 39! * 122 5,760 0 5,760
= 2,880 0 2,880
2 2,880 0 2,880
307 212H0| & 0 5,760 5,760
= 0 2,880 A2,880
2 0 2,880 A2,880
02 PIAHAMBE 0 5,760 A5, 760
OBHOISTHERSAIY XY  FH 0 0 5,760 A5, 760
= 0 2,880 A2,880
2 0 2,880 A2,880
ClEZOOl EAHIEXR 2,000 0 2,000
2 1,400 0 1,400
= 300 0 300
2 300 0 300
301 YurR A3 2,000 0 2,000
2 1,400 0 1,400
= 300 0 300
2 300 0 300
01 AHEI 2 E X 253 2,000 0 2,000
OOl&ZOl SAHIE X
2,000,0008 * 14! 2,000 0 2,000
= 1,400 0 1,400
= 300 0 300
2 300 0 300
KRB AME 2 Y 110,079 100,497 9,562
= 21,507 21,507 0
= 6,800 6,200 600
2 81,682 72,700 8,982
Zows 2AB 5,000 5,100 A100
= 1,000 1,000 0
2 4,000 4,100 A100
301 YR A 0 100 A100
10 BALAIHI 2 A 2 0 100 A100




SN FEOIMEX D
M ZOIMETRAMNEA A L Il S
Sl NHRSAME2Y (e @
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K JE A BlusZ
OZCSHI AKX RFEA0H (20 AR
3 0 0 100 A100
RRASA2Y K 24,825 22,558 2,267
= 4,079 4,079 0
= 5,800 5,200 600
2 14,946 13,279 1,667
307 212H0| & 24,825 22,558 2,267
2 4,079 4,079 0
= 5,800 5,200 600
2 14,946 13,279 1,667
02 QIABABE 24,805 22,558 2,267
ORABA BH3 X
2 12,667,0002 * 14 12,667 10,000 2,667
= 3,800 3,000 800
2 8,867 7,000 1,867
ONsg Jlse HASALH X2
A 4,000,008 * 14 4,000 4,400 A400
= 2,000 2,200 A200
2 2,000 2,200 A200
R ZADCIUI01Z LBTE 41,022 35,036 5,986
= 17,518 17,518 0
2 23,504 17,518 5,986
101 Q1214 41,022 35,06 5,986
= 7,518 17,518 0
2 23,504 17,518 5,986
VPR EE 41,022 35,036 5,986
ORAZARS AL Q12|
AH 1,700,2508 * 291 * 122 41,022 35,036 5,986
2 17,518 17,518 0
2 23,504 17,518 5,986
RS AEER R 39,232 37,803 1,429
301 YEHB A 5,409 6,980 A1,571
10 S AMALHI 2 A 2 5,409 6,980 A1,571
ORAZA DSYALZ(RUAE)
2 840,000 * 14 840 1,680 A840
O ZATHEl EAT AL (20 E2)
A 1,050,008 * 14 1,050 2,100 A1,080
ORASAIRS AWl LA (20 AR)
23 0 0 420 A420
ORFAZA MOIL L SSHHIA BOK 24
2 5,008 + 1009 * 43| 2,000 1,800 200
OO0I& TZATS A2 A
27,0002 * 2179 1,519 980 539
307 212H0| & 15,000 12,000 3,000
04 BIZFHALE = 5,000 2,000 3,000




SM: FOIMEX D
M3 ZOIMETRAAEA O L D8 P

]

Cel: XA ZANE Y C (e @
SA-EHB . CA(ENH) - HEAY - BE2 Ofl & o J1E o Rz
S EEETSE
A3 5,000,008 * 18] 5,000 2,000 3,000
NASS Mg 8,135,326 8,163, 150 ~27,824
= 6,396,786 6,427,988 AB1,202
= 812,200 813,406 A1,206
2 926,340 921,756 4,584
NASMSR R 5,904,366 5,907,955 A3,589
2 4,669,689 4,670,589 900
= 582,650 584,054 A1,404
2 652,027 653,312 A1,285
SHTALLRXY 13,830 13,999 A 169
201 Yut2 HH| 11,930 12,099 A 169
01 ALR 2l 5,480 5,649 A169
oleg+g] 1,931 2,100 A169
OMBSRARG 3o A 4g
2= 1,931,008 * 14 1,931 2,100 A 169
MEISTESNYIA BEQ X 78,363 89,703 A11,340
=2 39, 181 44,851 A5,670
= 19,591 22,426 A2,835
2 19,591 22,426 A2,835
201 L2 Y| 0 2,268 A2,268
= 0 1,134 A1, 134
= 0 567 567
2 0 567 A567
01 ALR eIt 0 2,268 A2,268
Oolge+gll] 0 1,148 A1, 148
oA TRl =7 2| 23 02 0 1,148 A1, 148
= 0 574 A574
= 0 287 ~287
2 0 287 A287
ol2g+¢] 0 1,120 21,120
OSBAIR2l BIoAALY 23 02 0 1,120 A1,120
= 0 560 AB560
= 0 280 £280
2 0 280 A280
307 212H0| & 0 9,072 £9,072
= 0 4,536 A4,536
= 0 2,268 A2,268
2 0 2,268 A2,268
02 QItFAE X 0 9,072 A9,072
OARIZ2l SHMAX 2AZAHA XY
25 o2 0 9,072 ~9,072
= 0 4,536 A4,536
= 0 2,268 A2,268
2 0 2,268 A2,268
MNBISTIES HLSHH 7S 9,540 0 9,540




SN FE0IMEX D
HE: HASE 4B
ol HASMEX (e
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K JE A BlusZ
= 4,770 0 4,770
= 1,431 0 1,431
2 3,339 0 3,339
201 L2 Y| 1,900 0 1,900
= 950 0 950
= 285 0 285
2 665 0 665
01 ALR eIt 1,900 0 1,900
Olge+gl] 1,000 0 1,000
OARIT2IZZ 228 100,008 * 102 1,000 0 1,000
= 500 0 500
= 150 0 150
2 350 0 350
oleg+g] 900 0 900
OB AR RGO BMLY
90,0008 * 501 * 23] 900 0 900
= 450 0 450
= 35 0 135
2 315 0 315
301 YBrE AR 7,640 0 7,640
=2 3,820 0 3,820
= 1,146 0 1,146
2 2,674 0 2,674
01 APSI B B E 4513 7,640 0 7,640
OARIZ2l SEHAT 245 NHIA X2
52,8002 * 509! 7,640 0 7,640
= 3,820 0 3,820
= 1,146 0 1,146
2 2,674 0 2,674
HASHE 282 N 52,380 54,000 A1,620
307 212H0| & 52,380 54,000 A1,620
05 I2t9IEt 2 52,380 54,000 A1,620
OMASHE 2LRAYRHE L FIQYRH
SNA(SUAEY) 2T 52,380,008 * 14 52,380 54,000 A1,620
NEDE 2,230,960 2,255, 195 ~24,235
= 1,727,007 1,757,399 £30,302
= 229,550 229,352 198
2 274,313 268,444 5,869
KX edE 2 216,330 259,619 143,289
= 151,431 181,733 £30,302
= 21,633 25,962 A4,329
2 43,266 51,924 78,658
307 212H0| & 216,330 259,619 ~43,289
= 151,431 181,733 A30,302
= 21,633 25,962 A4,329
2 43,266 51,924 78,658
02 PIAAMBE 216,330 259,619 £43,289




A OIS0
HM: JASES MEIA2e
el XExd (&te @2
2AH -3 - SH2A(SH) - MEAMY - BHES 0] At oH pjEsifon Hl =2
OSAXSXELMYH 2D
23 216,330,000 * 1IHA 216,330 259,619 A43,289
= 151,431 181,733 230,302
[= 21,633 25,962 A4,329
= 43,266 51,924 A8,658
AE22 ALY 1,676,800 1,667,746 9,054
= 1,341,440 1,341,440 0
[ 167,680 163,153 4,527
= 167,680 163,153 4,527
101 @124 4| 804,850 795,796 9,054
= 640,090 640,090 0
[~ 82,380 77,853 4,527
= 82,380 77,853 4,527
04 JI2ZtRIRR2 S E % 804,850 795,796 9,054
OXa22 o122 AF 3,238,887 = 2230! 722,272 713,218 9,054
= 573,670 573,670 0
[= 74,301 69,774 4,527
= 74,301 69,774 4,527
XHEAIY -5 27,330 17,330 10,000
201 L2 AH 16,980 6,980 10,000
01 At 22| 980 6,980 26,000
Ofgetz=2d|] 0 6,000 26,000
OgxEE=Z 29 23X 0= 0 6,000 26,000
02 22294 16,000 0 16,000
O[MNERX 22Hl] 16,000 0 16,000
OZE=R RIS 16,000,000 * 14l 16,000 0 16,000
=2II12& =X X 718,390 703,390 15,000
[ 29,040 29,040 0
= 689,350 674,350 15,000
BEHHSS 718,390 703,390 15,000
[ 29,040 29,040 0
= 689,350 674,350 15,000
BEOH X 31,350 16,350 15,000
307 @I2+0| ™ 26,500 11,500 15,000
04 QIZFBHALE X 26,500 11,500 15,000
OB2CH S22 #AXL
23 3,000,000 * 5IHEHA 15,000 5,000 10,000
06.257|E A XIR (THER0IE])
5,000,000 * 14l 5,000 0 5,000
Hsae |4 7,770,178 7,160,539 609,639
= 2,000,000 2,000,000 0
pJ 111,919 79,548 32,371
= 5,658,259 5,080,991 577,268
HESAE &= 6,159,005 6,051,000 108,005
2 2,000,000 2,000,000 0




SN ZEOIME A D
By S B4
ool RSAIL BB (ol @2
SN -HH - SA(B) - MRAY - BES 0f Ao I HRE2
i 4,159,005 4,051,000 108,005
=z =4 2 FHHSAME 4X 4,000,000 4,000,000 0
= 1,500,000 1,500,000 0
i 2,500,000 2,500,000 0
401 A& HIZ 20| 4,000,000 4,000,000 0
& 1,500,000 1,500,000 0
2 2,500,000 2,500,000 0
01 Al bl 3,939,200 3,356,200 583,000
OlAI&HI] 3,939,200 3,356,200 583,000
OREEHZH U ZHHSAIL &l (Z2lblof
M) Z2 & 3,939,200,000& = 14l 3,939,200 3,356,200 583,000
z 1,500,000 1,500,000 0
i 2,439,200 1,856,200 583,000
02 Zeltl 50,000 633,000 583,000
OBETHEH U FHUSAIE Ax 226l (Al
HHl=2) Z2 & 50,000,000& * 14 50,000 633,000 A583,000
HMEAE X1 ¥ ZHl 255,200 216,000 39,200
401 A& HIZ 20 255,200 216,000 39,200
01 Al bl 255,200 216,000 39,200
OHMZZH L SUHSAL SNLL(20AE
Z) Z & 5,200,000& * 14 5,200 16,000 A 10,800
OZ20 ST Hig LaE L
30,000,000& * 14 30,000 0 30,000
OMEBHSAL &X
2 & 220,000,000 * 14 220,000 200,000 20,000
-8 AHOIEESE £X ¥ &E| 79,055 30,000 49,055
401 A& HIS 2 CHYI 79,055 30,000 49,055
01 A& HI 79,055 30,000 49,055
O[Al&HI] 79,055 30,000 49,055
08 o HESHOESH AXRCIPFHAK
(BHAte, AIS0H) (R0l )
2 & 19,055,000& * 1JH2 19,055 30,000 A 10,945
OSE HOESH 24 A
50,000,000& * 14 50,000 0 50,000
OSE HOESH HIIZAL &3
10,000,000& = 14 10,000 0 10,000
HOIESH AEE=> 4,750 5,000 A 250
401 Al EHIZ 2 OHY| 4,750 5,000 A 250
01 A& HI 4,750 5,000 A 250
ONOIESE ANLSTBH(20LE)
A 4,750,0008 * 14 4,750 5,000 250
2 Ia==F =4 20,000 0 20,000
401 A& HIS 2 CHYI 20,000 0 20,000
01 Al bl 20,000 0 20,000




SM: FOIMEX D
A MM R4
ool RSAIL BB (el &
SN EHGRA(BH) - NBAY - BES Ofl &+ 04 JIE o B2
Oge mAz=os 24 J|=ady)
20,000,0002 * 14} 20,000 0 20,000
MEHE B4 1,315,226 925,925 389, 301
J| 111,919 79,548 32,371
= 1,203,307 846,377 356,930
NEMENs T2 17,294 17,829 A535
307 SI2H0| & 17,294 17,829 A535
EIEIE P S 17,204 17,829 535
OO0 HSDa (=0aE)
Z2E 4,929,000& * 14 4,929 5,082 A 158
OHAE HMBDASA(20A4RY)
Z2E 4,856,000& * 14 4,856 5,006 A 150
OAMETT R(Z0IARY)
28 2,653,0008 * 14] 2,653 2,735 A82
ORATSHE S (L0A=)
AN 4,856,008 * 14 4,856 5,006 A150
MEE 243 N2 581,539 238,700 342,839
301 et a3z 152,387 157,100 AN4,713
08 2leI=& NI 11,737 12,100 A 363
OAZXOIHE 218I%E0lHI (R0 A4E)
a8 11,737,000& » 14 11,737 12,100 A 363
WAAH| R A S 1,640 2,000 A360
OAE MSHA BALA (20T
48 11,640,000& » 14 11,640 12,000 A 360
Hlzoe - 2ESRSE43 129,010 133,000 A3,990
ORIMTEI CUE A2 (20 A E
Z) Z2 & 3,880,000& * 14 3,880 4,000 A 120
OSHE RAHSHL SH(ZHAZY)
Z2& 125,130,000& * 14 125,130 129,000 A 3,870
QI2t01 A 69,452 71,600 AN2,148
QIHHALE X 69,452 71,600 A2,148
OMEIS B8 XA (Z0L4E)
2 & 29,100,000& » 14 29,100 30,000 A900
OMSTH 2INBH(20IaED)
Z& 32,010,000& * 14 32,010 33,000 A990
o A2 ASDE Y2(20ME)
2 4,850,008 * 14 4,850 5,000 A150
OXHZY A2 ASDE T (L0IL4E)
Z & 3,492,000& » 14 3,492 3,600 A 108
308 AtXICHM S 01 359,700 10,000 349,700
06 RS 2B 2 X2 359,700 10,000 349,700
OB % ES8n Mg ¥ MEHSHLS
EUEXS (20 aMEL) 9,700 10,000 A 300
Z2& 9,700,000& * 14




01 M B X It
MSMY Sa
MEHS S5 (el &2
M« B2 - S2(3H) - MRAY - BaS arey p/E-T" HRE2
SEPEEREEFICEERERE
50,000,0002 * 14! 350,000 0 350,000
Stz HMSUE X 269,960 268,000 1,960
307 21201 & 269,960 268,000 1,960
VEEEEES 269,960 268,000 1,960
OF2 . ol HSHE LXK (oA
) 23 91,960,008 * 14 91,960 100,000 8,040
O&7 203 X 5,000,0002 * 14! 5,000 0 5,000
OO0t 23 X2 5,000,0002 * 14! 5,000 0 5,000
MEHNSDY 29 13,095 13,500 A405
307 212+0I & 13,005 13,500 A405
02 QIAHAEE 13,095 13,500 405
OMEHS DASY(2OMED)
A 13,095,0008 * 14 13,095 13,500 ~405
MEHST T 176,640 146,496 30, 144
| 88,320 73,248 15,072
2 88,320 73,248 15,072
307 21201 & 176,640 146,496 30, 144
| 88,320 73,248 15,072
2 88,320 73,248 15,072
02 QIABABE 176,640 146,496 30, 144
OMEBHSXITR BHXI AL
2 88,320,008 * 14 83,320 104,640 A16,320
| 44,160 52,320 £8,160
2 44, 160 52,320 A8, 160
OLoHY MEHSNEK HHX AL
2 88,320,008 * 14 88,320 41,856 46,464
| 44, 160 20,928 23,232
2 44, 160 20,928 23,232
NER2Y 31,986 37,800 A5,814
301 YBHE LS 31,986 37,800 A5,814
1 olz0e - 2SS 31,986 37,800 A5,814
OSE U 2= IXNGBI(20AE)
A 3,492,002 * 1A 3,492 3,600 A 108
OLI=HI (20U AEY) ZF 5,820,008 * 14 5,820 6,000 A180
OUEIZ IH01HI(Z0AEY)
A 13,834,0002 * 14 13,834 15,000 A1, 166
OS+&T OIHEIS (20 AED)
24H 7,640,0002 * 1A 7,640 12,000 A4,360
ATLEHISHAY 33,712 12,600 21,112
| 23,599 6,300 17,299
2 10,113 6,300 3,813
307 21201 & 33,712 12,600 21,112
| 23,599 6,300 7,299
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SMY B4
sHs S4

N EH - S2A(3H) - MRAE - BES &hoh I8N HusZ
= 10,113 6,300 3,813
02 g2t atex 33,712 12,600 21,112
OAZ=HIRXMAIE BE 33,712,0008 * 14 33,712 12,600 21,112
p) 23,599 6,300 17,299
= 10,113 6,300 3,813
ANeE 23 295,947 183,614 112,333
H=2, Zelg2 2Z 2 143,789 84,830 58,959
201 L2 53,443 55,096 21,653
02 33244 53,443 55,096 A 1,653
Ol222= ¢ WAl 38,068 39,068 21,000
O4dl+==23 (AUMs2, Zels2) (20
AHE ) Z& 12,500,000& = 14! 12,500 13,500 21,000
O[A&ZHI=Xdl] 9,247 9,900 A653
OAlfM=sa & FsHAS SAIHI (204
22) 2 & 3,847,0008 * 14 3,847 4,500 A653
206 X = Hl 3,492 3,600 A 108
01 =4 3,492 3,600 A 108
oMY Il B2 SsE7L(2uaEZ)
Z&E 1,392,000& * 14 1,392 1,500 A 108
401 Al IR S HYI 53,900 2,000 51,900
01 Al£Hl 53,900 2,000 51,900
OZolg2 2394 E=UANEU X (204
22) Z& 1,900,0008 * 14 1,900 2,000 A 100
OMSAEE @ &E0t3 WA
3,000,000 * 14 3,000 0 3,000
Ozolgat A3oa HEZNE I Adel 4
X Z At 000,000& =+ 1A 5,000 0 5,000
OM=Al£22| CCTVE2Z At
9,000,000& * 14! 9,000 0 9,000
OS2 SHSA(HE) FHISA
15,000,000& = 14 15,000 0 15,000
O&LMs2 H - D] XIS A AAIEAHI
20,000,000& = 14! 20,000 0 20,000
405 KtatE = 14,820 6,000 8,820
01 ML =SZHEHI 14,820 6,000 8,820
OAMBAE SAI| FL(20aEZ)
23 5,820,000& = 1CH 5,820 6,000 A180
Og&sEHI(UMI) 7L 9,000,000& = 1CH 9,000 0 9,000
22 232 48,074 24,951 23,123
101 212 Hl 5,801 4,051 1,750
04 JIZMZ2Z2ASE =+ 5,801 4,051 1,750
OS4=2sd 2tIJl =2
Z& 38,120& = 31.65¢! * 33/ 3,620 1,870 1,750
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SN EOIMBTAD
HE: B2 (FUMBXD)
el Jl= | (Sl &)
SN EB -GS - MBAY - BES 01l &k o 01 o HRE2
ORNSY SUAN(ZULRY)
A 3,027,008 * 1A 3,027 3,200 A1T73
SSEXAEEY Jl=YY) 16,604 16,860 £236
201 Yere gt 7,624 7,860 £236
01 A2 22l 7,624 7,860 £236
Olger+gH] 2,764 3,000 £236
ORNSY SUAN(ZHLRY)
A 2,764,008 * 14 2,764 3,000 £236
MEXE Jl2BL) 14,001 14, 155 A 154
201 YBre gt 4,981 5,135 A 154
01 AR 22l 4,981 5,135 A 154
Olger+gt] 2,146 2,300 A 154
ORNSY SUAN(ZULRY)
A 2,146,008 * 14 2,146 2,300 A 154
MEAL2E Jl=YY) 35,271 36, 186 £915
201 Yere gt 29,571 30,486 A915
01 A2 22l 29,571 30,486 ~915
Olger+gH] 3,085 4,000 ~915
ORNSY SUAN(ZHLRY)
A 3,085,002 * 1A 3,085 4,000 A915
TP S (0S8 X2 D) 946,301 939,897 6,404
TESIEPES 946,301 939,897 6,404
SIEZ0IIZ2Y SHIANTES (L8 946,301 939,897 6,404
701 JIEHEI HEE S 946,301 939,897 6,404
01 JIEISI HEES 946,301 939,897 6,404
SEEEICPEEELREEE
27 946,301,008 + 14! 946,301 939,897 6,404




= AH O

N = 0 &8 AF S & Al A
2M: AR =X
Ha: Lol 2X =&

SRl LoI=EXAIE XY (e
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
AEI = X 0t 34,130,408 32,130,272 2,000, 136

= 17,707,424 17,126,682 580,742

D 306,056 379,947 N73,891

= 1,897,775 1,961,360 AB3,585

== 6,745,442 6,302,925 442 517

= 7,473,711 6,359,358 1,114,353

Lol 22X & 17,194,902 16,470,270 724,632

= 11,112,437 11,030, 115 82,322

2 1,255,944 1,286,231 N30,287

== 1,998,652 1,823,830 174,822

= 2,827,869 2,330,094 497,775

LoIEXAIY X 3,451,013 2,888,590 562,423

= 185,988 0 185,988

=2 1,222,428 1,250,615 A28, 187

< 1,392,541 1,218,148 174,393

= 650,056 419,827 230,229

LOIMEIAIAL 23| 088,261 1,130,799 A 142,538

< 750,614 840,597 89,983

o 237,647 290,202 NbB2,555

301 YetE A2 988,261 1,130,799 N 142,538

== 750,614 840,597 89,983

= 237,647 290,202 52,555

01 AISIB & X452 988,261 1,130,799 A 142,538

OLQIMEAIE 2AH| (0] 2AIR)

A 82,355,083  12& 088,261 1,130,799 N 142,538

< 750,614 840,597 89,983

iy 237,647 290,202 NbB2,555

MOt E2XAlE 23] 1,082,741 1,144,133 A61,392

2 868,674 896,861 A28, 187

< 214,067 247,272 A33,205

301 LEtB A= 1,082,741 1,144,133 N61,392

= 868,674 896,861 N28,187

< 214,067 247 272 N33,205

NI RS ES R = 1,082,741 1,144,133 A61,392
OMMI=Q =X AL 22|

ZA 1,082,741,0002 = 14! 1,082,741 1,144,133 A61,392

=2 868,674 896,861 A28, 187

< 214,067 247,272 A33,205

oo ESEE 2el 70,400 48,000 22,400

307 QI2t0I A 50,400 48,000 2,400

05 QI2tREZ 50,400 48,000 2,400
Ogc? 29=2=2% 29|

d& 2,100,000& * 2JH 4 = 12& 50,400 48,000 2,400

401 Al HI L 20| 20,000 0 20,000

01 A& HI 20,000 0 20,000




Y H -V k!
B Lol =X =X
ool LoI=XIAL KE (el @R
SA-E . S(E) - MEAY - BES 0 & 24 o1& o HIRE

Oelpel Z8=S8 ANEHES

10,000,000& = 2002~ 20,000 0 20,000

g Hd X 615,000 0 615,000

= 153,750 0 153,750

S 268,567 0 268,567

= 192,683 0 192,683

301 et a3 615,000 0 615,000

= 153,750 0 153,750

= 268,567 0 268,567

= 192,683 0 192,683

01 A2l 28 A 0= 615,000 0 615,000
Oz2Yy S| SHUYY N

300,000& = 4100H = 53 615,000 0 615,000

= 153,750 0 153,750

S 268,567 0 268,567

= 192,683 0 192,683

F2E 234 128,953 0 128,953

= 32,238 0 32,238

S 29,014 0 29,014

= 67,701 0 67,701

301 Lt as 128,953 0 128,953

= 32,238 0 32,238

= 29,014 0 29,014

= 67,701 0 67,701

01 At2l2& A +=0ll= 128,953 0 128,953

oz3dzd &=H 314,519.5121& = 4100 & 128,953 0 128,953

= 32,238 0 32,238

= 29,014 0 29,014

= 67,701 0 67,701

MASs Lol Meoryd ,467,620 13,360,930 106,690

= ,926,449 11,030,115 A 103,666

&2 33,516 35,616 A2,100

S 600, 111 605,682 A5,571

= ,907,544 1,689,517 218,027

el tel At ,084,760 1,016,741 68,019

= 444,780 508,370 263,590

= 222,390 254,186 A31,796

= 417,590 254,185 163,405

101 212 dl 932,400 877,081 55,319

= 368,600 438,540 A69,940

= 184,300 219,271 A 34,971

= 379,500 219,270 160,230

04 JIZtH22UHESES 932,400 877,081 55,319
O XtelAmg Z0 A 21t

ZE 244,000& = 400! * 9 878,400 817,600 60,800

= 341,600 408,800 A67,200

= 170,800 204,400 A 33,600

= 366,000 204,400 161,600




SN
X XH .
S Tt

el

M- B8 S2(3H) - HRAY - BaS Arol BlnE2
O TelAre MEoled o124H|
Z2& 1,000,000& = 4021 = 9F 36,000 40,500 A4,500
= 18,000 20,250 N2,250
& 9,000 10,125 AN1,125
= 9,000 10,125 21,125
O gXtelMg MEEE Xes
Z & 18,000,000 * 14l 18,000 18,981 A 081
= 9,000 9,490 A 490
& 4,500 4,746 AN 246
= 4,500 4,745 A245
201 ZEt2FH| 28,860 17,520 11,340
= 14,430 8,760 5,670
= 7,215 4,380 2,835
i 7,215 4,380 2,835
01 AR 2tel 28,860 17,520 11,340
Ol LBtE 3|
Z & 28,860,000& * 14 28,860 17,520 11,340
= 14,430 8,760 5,670
= 7,215 4,380 2,835
= 7,215 4,380 2,835
202 (44l 5,400 4,200 1,200
= 2,700 2,100 600
= 1,350 1,050 300
= 1,350 1,050 300
01 S LHAHbI 5,400 4,200 1,200
O gltel Mg 2= 0t
Z2& 20,000& = 3¢ = 10 * 9& 5,400 4,200 1,200
= 2,700 2,100 600
S 1,350 1,050 300
= 1,350 1,050 300
206 M= 4l 11,000 5,840 5,160
= 5,500 2,920 2,580
= 2,750 1,460 1,290
= 2,750 1,460 1,290
01 =4l 11,000 5,840 5,160
OkogXtel e =& MEHl
2 & 11,000,000& » 14 11,000 5,840 5,160
= 5,500 2,920 2,580
L= 2,750 1,460 1,290
= 2,750 1,460 1,290
301 et at 0 5,000 25,000
= 0 2,500 A2,500
= 0 1,250 A1,250
= 0 1,250 A 1,250
10 & AHAHI = 0 5,000 25,000
Okeord Ag THASALR AHl X2
28 0¥ 0 5,000 25,000
= 0 2,500 A 2,500
& 0 1,250 A 1,250




SN
X XH .
S Tt

el

SN -3 S2ARAH) - MFAY - BES Ol &t oH DIESEY
| = 0 1,250
LolEE EEAMHIA 508,399 414,160
2 285,879 219,912
= 61,260 47,124
2 161,260 147,124
307 @120l & 508,399 414,160
2 285,879 219,912
= 61,260 47,124
2 161,260 147,124
05 QI2tIES 508,399 414,160
OLosEs ZEAMEIA AL
ZH 408,399,0002 * 14! 408,399 314,160
2 285,879 219,912
= 61.260 47,124
2 61,260 47,124
LOIEE JI=2AHIA 272,318 248,811
2 190,623 174,167
= 40,848 37,322
2 40,847 37,322
307 @120l ® 272,318 248,811
2 190,623 174,167
= 40,848 37,322
2 40,847 37,322
10 AFBIZ X2 X 272,318 248,811
Okolss JI=2AbIA At
A 782,522.982 * 2991 x 128 272,318 248,811
2 190,623 174,167
= 40,848 37,322
2 40,847 37,322
FRAY 2234 12 131,838 131,838
2 33.516 35,616
= 24,372 24,372
2 73,950 71,850
307 @120l & 131,838 131,838
2 33.516 35,616
= 24,372 24,372
2 73,950 71,850
10 AFBIE X2 X 131,838 131,838
OZzAg 2234
ZH 2,008 * 2,9620 * 128 71,088 71,088
= 33.516 35,616
= 24,372 24,372
2 13,200 11,100
FRSMHA X 75,745 45,770
201 ger2g 745 770
03 A2 2 745 770




A A

5]
M Lol =X S
A&

—4

Sl HAS Lol MBI (e @
SN EB -GS - MBAY - BES 0 & 24 p/E-T" {imE=Eh

SEEEIEEET] EICTEES!

2 67,7272 * 1114 745 770 A25

307 212H0| & 75,000 45,000 30,000

10 AbBl =X 25 75,000 45,000 30,000

OLolo] & Al 30,000,0008 * 144 30,000 0 30,000

ZL 2ol 11,116,852 11,252,962 A136, 110

=2 10,005,167 0,127,666 A122,499

= 222,337 224,519 ~2,182

2 889,348 900,777 A11,429

301 LPr A 11,116,852 11,252,962 A136, 110

=2 10,005,167 10,127,666 A122,499

= 222,337 224,519 ~2,182

2 889,348 900,777 A11,429

01 ASl B & 453 11,116,852 11,252,962 A 136,110

PET !

AT 84,341.25% * 10,9841 * 122 11,116,852 11,252,962 A136, 110
=2 10,005, 167 0,127,666 A122,499
= 222,337 224,519 ~2,182
2 889,348 900,777 A11,429

COICH K| 15,170 9,600 5,570

307 212H0| & 15,170 9,600 5,570

NEESEES 15,170 9,600 5,570

OSoIL0s 245 AN 863,636 « 1158 9,500 5,000 4,500
0203l st SXzal

2 355,802 * 122 4,270 3,600 670

o=Ix 2E2 2T 1,400,008 * 14 1,400 1,000 400

ERAE Lol oA 14,808 15,840 A1,032

< 7,404 7,920 ~516

2 7,404 7,920 A516

307 212H0| & 14,808 15,840 A1,032

= 7,404 7,920 ~516

2 7,404 7,920 A516

10 A8l =X 2= 14,808 15,840 A1,082

OE2A=Ql QgD

AH 249.29% * 16501 * 360 14,808 15,840 A1,032

= 7,404 7,920 A516

2 7,404 7,920 A516

TR S O L 20,522 0 20,522

= 10,261 0 10,261

2 10,261 0 10,261

301 LB A 20,522 0 20,502

= 10,261 0 10,261

2 10,261 0 10,261

12 JIEH2 A2 20,522 0 20,522

COISSMBERNG  144,521.1268 + 14291 20,522 0 20,522




SH: AEI= XD
M Lol =X EX
Ot HAS Lol MEOLN (e @
SA BB H(BH) - MBAY - B2 O A+ 24 I o HRs2
< 10,261 0 10,261
2 10,261 0 10,261
Lol %2 QuUE WX U ME S 1S 2,000 0 2,000
= 1,000 0 1,000
2 1,000 0 1,000
307 212t0| & 2,000 0 2,000
= 1,000 0 1,000
2 1,000 0 1,000
05 DI2H9IEr 2 2,000 0 2,000
OLQl %2 QUE ¥X Y HE S 1S
2,000,0008 * 14! 2,000 0 2,000
= 1,000 0 1,000
2 1,000 0 1,000
COI=T AL BE 49,894 32,960 16,934
S o=xs2 A 49,894 32,960 16,934
401 Al EHIL 20| 39,894 22,960 16,934
01 Al &bl 39,894 22,960 16,934
OlAA&AE B2 HY] 19,894 22,960 A3,066
OYYUS SXEZ AS 2 U AAANI(
S PNE-El) 2 19,804,000 * 14 19,894 22,960 A3,066
OB L QI = K| 5 2R CHAl & & X
20,000,0008 * 144 20,000 0 20,000
AN E 22l 36,325 17,000 19,325
= 6,000 0 6,000
2 30,325 17,000 13,325
BANE 22 U 22 24,305 17,000 7,325
201 Lur2 Y| 2,425 2,500 AT5
01 ALR eIt 2,425 2,500 AT5
Olge+gll] 2,425 2,500 AT5
OFAMNE E22 ME(2HAE)
A 5002 * 4,8500H 2,425 2,500 AT5
301 YR AD 10,000 5,000 5,000
01 AHSI BB 253 10,000 5,000 5,000
Ost® Zeiz 2 200,002 * 500! 10,000 5,000 5,000
307 212H0| & 9,900 7,500 2,400
NEEEES 9,900 7,500 2,400
OBHERX HEMH oL
2 1,650,008 * 604 9,900 7,500 2,400
e NeE E4 12,000 0 12,000
= 6,000 0 6,000
2 6,000 0 6,000
402 Q12X+ 0| A 12,000 0 12,000
= 6,000 0 6,000




SN AEST D
Ha: Lol =X S

SRl ZALAIE 2tel (ctel: &
SN CR(EH) - NRAY - BES 0l & 24 013 o BlnE2
i 6,000 0 6,000
01 SIZtX=2 £ 12,000 0 12,000
Oozsd AHE =4 12,000,000& » 10424 12,000 0 12,000
= 6,000 0 6,000
= 6,000 0 6,000
SHEXI22Z(SHLR) 190,050 170,790 19,260
SHEXg22d 2| 190,050 170,790 19,260
201 get2Ad| 51,690 44,790 6,900
01 A2 2t 2ldl 900 1,000 A100
OSH SXZ2Y AREE L (20 aEZ
) Z3 90,0002 * 10004 900 1,000 A 100
02 2324l 50,790 43,790 7,000
Ol=322 ¢ WAl 50,790 43,790 7,000
OSH =Xz BB (HIIZS)
28 275,000& * 1001 + 128 33,000 26,000 7,000
307 21zZtol 96,100 98,000 A 1,900
05 BI”tRIEE 96, 100 98,000 21,900
OSH=X32 2etze (20 aE)
Z & 800,833& » 100HA ~ 128 96,100 98,000 21,900
401 Al EHIZ 2OHY| 38,250 25,000 13,250
01 A& HI 38,250 25,000 13,250
SH SX32 A4 HE =
ZE 4,250,000 * QM A 38,250 25,000 13,250
405 KtatE =S| 4,010 3,000 1,010
01 At =S H S| 4,010 3,000 1,010
Os8=XsZ b3+
Z& 572,857 . 143 » 7oA 4,010 3,000 1,010
doE B3 & 84 623,546 461,826 161,720
= 78,750 71,296 7,454
| 51,420 51,420 0
= 19,200 19,200 0
N i 474,176 319,910 154,266
Fad =4 385,646 238,835 146,811
| 11,220 11,220 0
L= 19,200 19,200 0
i 355,226 208,415 146,811
dad NE - B8 4,234 4,300 66
201 et2Ed| 2,134 2,200 A 66
01 A2 & 2ldl 2,134 2,200 A66
Olger==&Hl] 2,134 2,200 NGB
OHAHES EE= ME(20&EL)
Z2& 1,934 * 1,00004 » 13l 1,934 2,000 A66
Fad @sdE 37,972 38,095 A128




A AR =X

M HAd 25 U |4
ool HAW 54 (S5l &2
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o )= e B2
301 YBHEAS 3,972 4,09 A123
10 S AFALH B A S 3,422 3,545 A123
OBAELUEES HIF MO (2014
2 30,0002 * 49.9¢! 1,497 1,620 A123
HAE 2B 2Y 257,000 110,000 147,000
201 YEr2gy| 7,000 10,000 3,000
02 232l 7,000 10,000 3,000
OBAELHUZ ALY SNHI(Z0IAE)
2 7,000,002 * 1A 7,000 10,000 3,000
307 212+0I & 250,000 100,000 50,000
05 Q12913 250,000 100,000 150,000
OBAELB g 2|
2T 250,000,008 * 14! 250,000 100,000 150,000
Had NRZ2IY 2 237,900 222,991 14,909
2 78,750 71,296 7,454
| 40,200 40,200 0
2 118,950 111,495 7,455
=PRI E N ELE ] 157,500 142,591 14,909
= 78,750 71,296 7,454
2 78,750 71,295 7,455
307 212+0I & 157,500 142,591 14,909
=2 78,750 71,296 7,454
2 78,750 71,295 7,455
SENEES 157,500 142,591 14,909
OBAESLS 0IEI0I 2%
AT 157,500,008 * 1044 157,500 142,591 14,909
= 78,750 71,296 7,454
2 78,750 71,295 7,455
FHUNE Ol 25 3,165,760 3,029,737 136,023
= 935,352 913,874 21,478
= 641,831 675, 129 £33,298
= 696,010 736,535 £40,525
2 892,567 704, 199 188,368
ANEOIEES 790,327 759, 163 31, 164
= 496,247 505,419 A9, 172
= 156,520 161,877 A5,357
2 137,560 91,867 45,693
AN&OLS CHEt RISt R 2 X2 4,000 3,000 1,000
= 2,000 1,500 500
2 2,000 1,500 500
307 21201 & 4,000 3,000 1,000
= 2,000 1,500 500
2 2,000 1,500 500
10 AEI =X 2 X 4,000 3,000 1,000




A A= XD
My HoNE O 25

ol AlMOIS RS CERCE
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K I & HwsZ
OAN&OIS CHat &I et Xt 2
23 1,000,0008 * 491 4,000 3,000 1,000
= 2,000 1,500 500
2 2,000 1,500 500
NEOIS Mas= 17,560 18,800 A1,240
= 8,780 9,400 A620
= 8,780 9,400 620
307 Q20| 17,560 18,800 A1,240
< 8,780 9,400 A620
z 8,780 9,400 620
WPNEEINEES 17,560 18,800 A 1,240
OANAOIS MEBSE JF 17,560,002 * 14! 7,560 18,800 A1,240
= 8,780 9,400 ~620
2 8,780 9,400 A620
HEDOF NBREZ 7,500 4,500 3,000
= 3,750 2,250 1,500
= 3,750 2,250 1,500
307 QI2+0| 7,500 4,500 3,000
= 3,750 2,250 1,500
= 3,750 2,250 1,500
PNEEINEES 7,500 4,500 3,000
O&ZDO0F MHEFEI
23 1,500,0008 * 501 7,500 4,500 3,000
= 3,750 2,250 1,500
= 3,750 2,250 1,500
OIS=XAIL 2% N 703,567 677,763 25,804
= 492,497 503, 169 A10,672
= 105,535 112,822 AT,287
= 105,535 61,772 43,763
307 Q120 703,567 677,763 25,804
2 492,497 503, 169 A 10,672
= 105,535 112,822 ~7,287
2 105,535 61,772 43,763
10 Al =X 2 & 703,567 677,763 25,804
OOtS=EXAIE 2l X2
2% 58,630,5838 * 124 703,567 677,763 25,804
= 492,497 503, 169 A10,672
= 105,535 112,822 AT,287
= 105,535 61,772 43,763
EA0IS MYHEZ N 7,500 4,500 3,000
= 3,750 2,250 1,500
= 1,875 1,125 750
= 1,875 1,125 750
307 Q120 7,500 4,500 3,000
2 3,750 2,250 1,500
= 1,875 1,125 750
2 1,875 1,125 750




A A= XD
My HoNE O 25

&R AIZ20tsSE=s (el =@
SNBSS - MBAY - BES 0 & 24 p/E-T" {imE=Eh
10 At S X2 X 7,500 4,500 3,000
O&x0ts NHEZEHS K&
Z& 1,500,000& = 52! 7,500 4,500 3,000
= 3,750 2,250 1,500
= 1,875 1,125 750
= 1,875 1,125 750
AMEOtS =30 &l 1,600 1,800 A 200
= 800 900 A 100
= 800 900 2100
307 2IZtol & 1,600 1,800 A 200
S 800 900 A 100
= 800 900 A 100
10 At S X2 & 1,600 1,800 A 200
OAlZ0ts +=stoddidl &3 & 100,000& » 16¢! 1,600 1,800 A 200
< 800 900 2100
= 800 900 A 100
AME0ts s+l 1,800 2,000 A 200
= 900 1,000 A 100
= 900 1,000 A 100
307 2I2tol & 1,800 2,000 A 200
S 900 1,000 A 100
= 900 1,000 A 100
10 At S X2 & 1,800 2,000 A 200
OAl&0ts d=+dl  Z&E 200,000& = 9¢! 1,800 2,000 2200
< 900 1,000 A 100
= 900 1,000 A 100
Has0ts=X 2,375,433 2,270,574 104,859
= 935,352 913,874 21,478
= 145,584 169,710 N24,126
= 539,490 574,658 A 35,168
= 755,007 612,332 142,675
A4 AEIEOSIH 5,570 5,580 A10
301 LB aE 2,570 2,580 A10
10 BAAHIEN S 320 330 A10
O2dAUEIE +Es FAZH(204EZ)
Z2& 28,3333 * 62! 170 180 A10
LESOISZLEHMXH 38,536 38,498 38
= 26,948 26,948 0
= 5,794 5,775 19
= 5,794 5,775 19
301 et al= 38,536 38,498 38
= 26,948 26,948 0
= 5,794 5,775 19
= 5,794 5,775 19
01 Al EEH £=3dl= 38,536 38,498 38




SN
X XH .
S Tt

el

NEE!
FHors of
HASO0IS

O

i
banl

=
st

SN B o NISAY - BS S 0l &k 24 =%
SNEET: e
& 20,9899 * 15321 + 128 38,536 38,498 38
= 26,948 26,948 0
= 5,794 5,775 19
= 5,794 5,775 19
AUAUIIY L SASOISHD 22 X2 8,880 14,400 A5,520
= 4,440 7,200 £2,760
= 4,440 7,200 A2,760
301 YerBA 3 8,880 14,400 A5,520
= 4,440 7,200 £2,760
= 4,440 7,200 A2,760
01 A3l 2 &= 8,880 14,400 A5,520
OFNEPNE JEtOlE MUISIRS
2T 20,0002 * 3791 * 122 8,880 14,400 A5,520
= 4,440 7,200 £2,760
2 4,440 7,200 A2,760
AEAUIIE L ASOIS MO YR 4| 3,700 6,000 A2,300
= 1,850 3,000 A1,150
2 1,850 3,000 A1,150
301 YerEAz 3,700 6,000 A2,300
= 1,850 3,000 A1,150
2 1,850 3,000 A1,150
01 A3l B & N 3,700 6,000 £2,300
OFSEPNE OIS AICH E R4t
2 50,0008 * 379 * 23| 3,700 6,000 A2,300
= 1,850 3,000 A1,150
2 1,850 3,000 A1,150
AEAEIIE 2 SHIX 0 2,400 A2,400
= 0 1,920 A1,920
= 0 240 A240
= 0 240 A240
301 YerEAz 0 2,400 A2,400
= 0 1,920 A1,920
= 0 240 A240
2 0 240 A240
01 A3l 2 &= 0 2,400 A2,400
OFNEPNE 23 09 0 2,400 A2,400
= 0 1,920 A1,920
= 0 240 A240
= 0 240 A240
e LR 79,200 68,400 10,800
= 63,360 54,720 8,640
= 7,920 6,840 1,080
= 7,920 6,840 1,080
301 YerE A 79,200 68,400 10,800
= 63,360 54,720 8,640
= 7,920 6,840 1,080




SN
X XH .
S Tt

el

NEE!
HotE ols 25
HASotE=X|

SN CR(EH) - NRAY - BES Arol 013 o BlnE2
i 7,920 6,840 1,080
01 Al 2EH £=dl= 79,200 68,400 10,800
O E/AE IS L =X
Z2& 120,000& = 5501 = 123 79,200 68,400 10,800
= 63,360 54,720 8,640
= 7,920 6,840 1,080
= 7,920 6,840 1,080
8R0S doi2EE X 4,866 5,811 A 945
= 3,406 4,067 AB61
= 730 872 A142
= 730 872 2142
301 et a3z 4,866 5,811 A 945
= 3,406 4,067 A661
= 730 872 AN142
i 730 872 A142
01 Al 2EH £=dl= 4,866 5,811 A 945
OJIEAE0ls Aol E
76,0313 = 640! 4,866 5,811 A 945
= 3,406 4,067 AB61
& 730 872 A142
= 730 872 A142
YA0ls 25 XA 23,180 18,035 5,145
= 16,226 12,625 3,601
= 3,477 2,705 772
= 3,477 2,705 772
301 et a3z 23,180 18,035 5,145
= 16,226 12,625 3,601
< 3,477 2,705 772
i 3,477 2,705 772
01 Al 2EH =062 23,180 18,035 5,145
ogits sd=+¢
Z2& 148,589 » 1321 x 123 23,180 18,035 5,145
= 16,226 12,625 3,601
= 3,477 2,705 772
i 3,477 2,705 772
s E 252 Ols=24 199,635 206,625 26,990
S 199,635 206,625 26,990
307 21Ztol 199,635 206,625 26,990
& 199,635 206,625 26,990
10 AlRISXIEX 199,635 206,625 26,990
O8lll=s E.gded gl
2 & 3,000 021 * 105.6269 199,635 206,625 26,990
S 199,635 206,625 26,990
gstE Ootsz24 K3 164,450 230,963 266,513
= 82,224 112,523 A 30,299
& 41,113 75,060 A 33,947
i 41,113 43,380 N2,267




A A= XD
Hy: HoNE O 25

Ciel: HASOIE =X (el @2
SA-E . S(E) - MEAY - BES 0 & 24 pJE-T SImE=ET
307 212+01 A 164,450 230,963 A66,513
= 82,224 112,523 A 30,299
= 41,113 75,060 A 33,947
= 41,113 43,380 N2,267
10 At S X2 & 164,450 230,963 A66,513
Ogsts ols24 N
2 & 3,000& * 615.917¢1 * 89 164,450 230,963 A66,513
=2 82,224 112,523 A 30,299
S 41,113 75,060 A 33,947
= 41,113 43,380 N2,267
ZA0ts =S4l XI& 0 1,094 A 1,094
&2 0 547 NB4T7
S 0 274 A274
= 0 273 N273
307 212+01 A 0 1,094 A 1,094
= 0 547 547
= 0 274 A2T74
= 0 273 A273
10 A2l S RI2X 0 1,094 A 1,094
OZAlols 4l X 23 02 0 1,004 A1,004
= 0 547 ABAT
& 0 274 N2T4
= 0 273 A2T73
XNEotsdH AKX 436,688 304,000 132,688
S 18,088 16,800 1,288
= 418,600 287,200 131,400
307 212+01 A 436,688 304,000 132,688
= 18,088 16,800 1,288
= 418,600 287,200 131,400
10 Al2IS X2 X 436,688 304,000 132,688
OIS HE 2| X
Z& 3,000& * 458Q1 * 252 346,248 220,000 126,248
OXN<gotsdH 2taldl XI&
23 1,256. 1113 = 3002 » 2402 90,440 84,000 6,440
= 18,088 16,800 1,288
= 72,352 67,200 5,152
XSOLSHEl B4 N 5,000 0 5,000
307 2I2toI 5,000 0 5,000
10 A2l S RI2X 5,000 0 5,000
OX<otsHE s0t2ia 5,000,000 * 13 5,000 0 5,000
NA0otsdH 29X & 888,344 872,020 16,324
= 444 172 436,010 8,162
= 222,086 218,005 4,081
= 222,086 218,005 4,081
307 212+01 A 888,344 872,020 16,324
= 444 172 436,010 8,162




SN
X XH .
S Tt

el

NEE!
HotE ols 25
HASotE=X|

SA-EFH - SA(SAH) - MREAY - BES Off &F K I8N BlusZ
S 222,086 218,005 4,081
= 222,086 218,005 4,081
10 At S X2 888,344 872,020 16,324
OXgotsdH Jl=23hl
2 & 3,903,444.443 * 18044 = 123 843,144 820,800 22,344
= 421,572 410,400 11,172
= 210,786 205,200 5,586
= 210,786 205,200 5,586
ONHE Ex==2HE NI0ts4H 22|
2 & 22,000,000 * 10HA 22,000 18,820 3,180
= 11,000 9,410 1,590
= 5,500 4,705 795
= 5,500 4,705 795
OXgotsdH EQR23HI
ZE 107,407 = 1802 + 128 23,200 32,400 29,200
= 11,600 16,200 24,600
S 5,800 8,100 A2,300
= 5,800 8,100 22,300
XNE0tsdE Ots=X WAHK# 190,825 190,800 25
= 133,577 133,560 17
S 28,624 28,620 4
= 28,624 28,620 4
307 212+01 ™ 190,825 190,800 25
= 133,577 133,560 17
= 28,624 28,620 4
= 28,624 28,620 4
10 A2l SRIE2X 190,825 190,800 25
OXYotsdH Ots=SX ALK
d& 1,060,138& = 15Q1 » 123 190,825 190,800 25
= 133,577 133,560 17
S 28,624 28,620 4
= 28,624 28,620 4
YA - IHERAEOIES MelXls X 1,219 948 271
= 853 664 189
S 183 142 41
= 183 142 4
301 LB A= 1,219 948 271
= 853 664 189
< 183 142 4
= 183 142 41
01 A2l 2& E %=5ll= 1,219 948 271
oYY - JIE9E0ls dalxag X&E
2& 101,583& = 121 » 128 1,219 948 271
= 853 664 189
S 183 142 41
s 183 142 4
0ol gt dEZolmet2s 20,340 0 20,340
= 10,170 0 10,170
S 3,050 0 3,050




SN
X XH .
S Tt

el

NEE!
HotE ols 25
HASotE=X|

SN B SRA(SIH) - MBAY - BAS Abod HlnE2
= 7,120 0 7,120
401 Al & HI L2 THY| 20,340 0 20,340
2 10,170 0 10,170
= 3,050 0 3,050
2 7,120 0 7,120
01 Al&H] 20,340 0 20,340
OO{RI0IQHF Y AF B OIT 2t RS (CCTV) (Y H
xi6S) 20,340,002 * 14} 20,340 0 20,340
2 10,170 0 10,170
= 3,050 0 3,050
2 7,120 0 7,120
25 0HE X 2,075,402 1,004,585 1,070,817
2 5,416,372 4,915,634 500,738
= 3,865,023 3,540,816 304,207
2 2,794,007 2,548, 135 245,872
BRAL 2Y 12,075,402 11,004,585 070,817
2 5,416,372 4,915,634 500,738
= 3,865,023 3,540,816 304,207
2 2,794,007 2,548, 135 245,872
BEAE 28 28,703 27.360 1,343
201 Lt Y] 8,242 6,860 1,382
01 AL 22 bl 3,642 2,260 1,382
SILEES=TT) 842 1,000 A158
OSSN 222 R (20MEL)
A 342,008 * 14 342 500 A158
oleg+g] 2,800 1,260 1,540
OSSN FaLY
A 70,0008 * 109! * 43] 2,800 1,260 1,540
301 YBE A3 1,261 1,300 £39
10 A 2413 1,261 1,300 £39
ORSALY s &4 BA(RHMEY)
A 1,261,008 * 14 1,261 1,300 £39
HAS Ol 288 X2 6,031,692 5,098,982 932,710
2 3,015,846 2,549,491 466,355
< 1,507,923 1,274,746 233,177
2 1,507,923 1,274,745 233,178
307 QI2H0I & 6,031,602 5,098,982 932,710
2 3,015,846 2,549,491 466,355
= 1,507,923 1,274,746 233,177
2 1,507,923 1,274,745 233,178
CEEIEES 6,031,692 5,098,982 932,710
OgR0 282 X
AN 299,191.078 1,680 * 122 6,031,602 5,098,982 932,710
2 3,015,846 2,549,491 466,355
= 1,507,923 1,274,746 233,177
2 1,507,923 1,274,745 233,178




SN ASIE XD
HH: 98 0l= N9

o9l BRAM 29 (el @2
SA B HRA(SH) - MRAY - B O & o4 o1& o HREZ
A&0I0I20ts =+ 363,480 292,042 71,438

= 181,740 140,180 41,560

= 90,870 75,931 14,939

= 90,870 75,931 14,939

301 EtEag 363,480 292,042 71,438

= 181,740 140,180 41,560

= 90,870 75,931 14,939

i 90,870 75,931 14,939

01 A3l 2EE =052 363,480 292,042 71,438
OSSAL 0I0/B0E Y8+E

ZBE 177,134.0157& = 171Q1 = 123 363,480 292,042 71,438

= 181,740 140,180 41,560

= 90,870 75,931 14,939

= 90,870 75,931 14,939

2sAd N3 192,018 191,492 526

= 96,009 95,746 263

= 48,005 47,874 131

= 48,004 47,872 132

307 2I2toI & 192,018 191,492 526

= 96,009 95,746 263

= 48,005 47,874 131

i 48,004 47,872 132

10 At =S X2 X 192,018 191,492 526

OQuA 22&Z &

ZE 476,731.89% * 235¢Q! 112,032 116,214 N4,182

= 56,016 58,107 22,091

= 28,008 29,054 A 1,046

= 28,008 29,053 A 1,045

O WAMNBHIAFXA 470,800& * 10¢! 4,708 0 4,708

= 2,354 0 2,354

= 1,177 0 1,177

= 1,177 0 1,177

338 eold X 0 14,880 A 14,880

= 0 7,440 AT,440

= 0 3,720 A3,720

= 0 3,720 A3,720

307 21Ztol 0 14,880 A 14,880

= 0 7,440 ANT,440

= 0 3,720 A3,720

= 0 3,720 A3,720

10 At S X2 & 0 14,880 214,880

OBZE 0RI0IA N 23 og 0 14,880 A 14,880

= 0 7,440 AT,440

& 0 3,720 A3,720

= 0 3,720 AN3,720

g5Nl el td 1,075,680 996,000 79,680

S 1,075,680 996,000 79,680




SN

X{ ZH -
S = -

At = X ot
2= -5 N

e EFAE 29

SNBSS - MBAY - BES 0 & 24 pJE-T {imE=Eh
307 212+01 A 1,075,680 996,000 79,680
< 1,075,680 996,000 79,680
10 A2l S RI2X 1,075,680 996,000 79,680
OBsKITRI Y 252 X
23 270,000& * 33221 « 128 1,075,680 996,000 79,680
= 1,075,680 996,000 79,680
Hyg=x sd 824,339 921,134 296,795
= 161,913 193,163 231,250
Il 254,636 328,527 AT73,891
= 158,096 175,883 A17,787
i 249,694 223,561 26,133
odE3® X& 214,790 247,510 A32,720
= 123,550 148,344 N24,794
= 30,475 34,288 A3,813
i 60,765 64,878 A4, 113
HEHME St ANSFSesE Hz=sd 8,000 5,000 3,000
< 4,000 2,500 1,500
= 4,000 2,500 1,500
307 212+01 o 8,000 5,000 3,000
= 4,000 2,500 1,500
= 4,000 2,500 1,500
02 It &8 xR 8,000 5,000 3,000
OHdHME S& sSeE HEsd
2 & 8,000,000& * 1A 8,000 5,000 3,000
< 4,000 2,500 1,500
= 4,000 2,500 1,500
HeE X& 28,350 28,590 N 240
201 gEt24Ed| 2,444 2,520 AT6
01 AtR2telH] 2,444 2,520 AT6
olger=gtl] 694 770 AT6
OW&HEM A EE2R0ES HA(20AEZ
) Z & 374,000& = 14 374 450 AT6
301 et el = 5,306 5,470 N 164
10 HALAHI2 &= 5,306 5,470 N 164
OWAXEX WE(20aE2)
2 120,240 * 501 = 53] 3,006 3,170 A 164
OdeHd 243 N& 1,940 2,000 A60
301 et at= 1,940 2,000 260
10 AL HIEA S 1,940 2,000 260
OWAH A FA(E F2)(=20aE2
) dd 38,8008 » 50¢! 1,940 2,000 A60
otol==20l XI&E 176,500 211,920 A 35,420
= 123,550 148,344 AN24,794
= 26,475 31,788 25,313




SN
X XH .
S Tt

ok

NEE!
olE=x =X
REE-EIPEY

A -3 -H2A(SH) - HEAMY - BES e J|E =
= 26,475 31,788 ~5,313
307 BI2+0I & 176,500 211,920 35,420
= 123,550 148,344 N24,794
< 26,475 31,788 A5,313
z 26,475 31,788 A5,313
10 Ab3l = X B & 176,500 211,920 ~35,420
OOLOIS 20l XA ArH|
2H 151,500,0002 * 1944 151,500 190,060 ~38,560
= 106,050 133,042 ~26,992
= 22,725 28,509 N5,784
2 22,725 28,509 N5,784
OOLOIS 20l XA 2|
2H 25,000,002 * 1944 25,000 21,860 3,140
= 17,500 15,302 2,198
= 3,750 3,279 471
z 3,750 3,279 471
HAS SH2201E XA 135,095 180,382 A45,287
= 1,917 11,141 N9,204
| 17,160 44,242 A27,082
= 50,378 54,800 4,422
= 65,640 70,199 A 4,559
SROIIE NUYS - WY N 31,360 55,303 ~23,943
| 17,160 44,242 A27,082
= 7,100 5,531 1,569
2 7,100 5,530 1,570
301 YprE AR 31,360 55,303 ~23,943
p] 17,160 44,242 A27,082
< 7,100 5,531 1,569
z 7,100 5,530 1,570
01 AHBI B ZH 2612 31,360 55,303 23,943
ONAS 823JtE NSstM DSl
2H 112,613.6% » 2201 * 43 9,910 18,796 18,886
p] 0 15,036 ~15,036
= 4,955 1,880 3,075
2 4,955 1,880 3,075
OMAS S22 OIS US|
22X 50,0008 * 3191 * 128 18,600 36,507 17,907
p] 14,880 29,206 A 14,326
= 1,860 3,651 A1,791
z 1,860 3,650 A1,790
OMASEERIIET LSS EH|
12,5008 * 572 * 43| 2,850 0 2,850
p] 2,280 0 2,280
< 285 0 285
z 285 0 285
HAS BH2R0tY MEON X 15,262 15,400 A 138
201 LEt2 | 970 1,000 A30
01 AbR2 21t 970 1,000 A30




SN
X XH .
S Tt

ok

At = X ot
Hd=x &

HAS S220E XA

SN H - SR(EH) - NPAMY - BES 0] &F o HRE2
O [t 970 1,000 A30
O&t® 3 A2 (20aEZ)
485,000& * 10H » 2 970 1,000 A30
301 et A 13,992 14,100 A 108
10 HALAH 3,492 3,600 A 108
O&t®e20 AP A(204EZ)
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01 QItXt=2E X 1,379,000 1,278,000 101,000
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Hu: =) AS O
o9l SOtASOIEDIE 2E (B9 &2
SA BB H(BH) - MBAY - B2 Ofl &F o4 J1E o HRs2
SECEEEVRIE
2 1,379,000,0002 * 14! 1,379,000 1,278,000 101,000
HsHEX A 387,780 290,000 97,780
=2 12,600 12,600 0
= 13,590 11,700 1,890
2 361,590 265,700 95,890
307 Q12H0| | 319,780 222,000 97,780
= 3,890 2,000 1,890
2 315,890 220,000 95,890
02 QIAHAABE 319,780 222,000 97,780
OAsHAAZN
AW 206,086.9562 * 128 * 1150 312,000 218,000 94,000
OZAY s=U0Fe AR
1,800,0008 * 35 * 70/100 3,780 0 3,780
= 1,890 0 1,890
2 1,890 0 1,890
SOEDESAEA 2K 37,500 37,500 0
2 25,000 25,000 0
= 3,750 3,750 0
2 8,750 8,750 0
307 BI2+0|H 37,500 0 37,500
=2 25,000 0 25,000
= 3,750 0 3,750
2 8,750 0 8,750
02 BIAANBE 37,500 0 37,500
OS0EBSHSI A 245X (402-0101 )
37,500,002 * 14! 37,500 0 37,500
2 25,000 0 25,000
= 3,750 0 3,750
2 8,750 0 8,750
402 DIZFR 0| & 0 37,500 A37,500
2 0 25,000 A25,000
= 0 3,750 A3,750
= 0 8,750 A8,750
NEENEEES 0 37,500 37,500
OS0ESHE A 248X (307-022)
25 o2 0 37,500 37,500
2 0 25,000 A25,000
= 0 3,750 A3,750
2 0 8,750 A8,750
SUAAMINS TR IY 2 18,000 54,000 36,000
3 10,000 30,000 A20,000
2 8,000 24,000 A 16,000
307 212+0| A 18,000 54,000 36,000
2 10,000 30,000 A20,000
2 8,000 24,000 A16,000
02 QIAAMBE 18,000 54,000 36,000




SN HBFsAD
Ot

HH: 50 AS O
el StASOIED|E S (Erol: &2
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 713 o HRs2
SEEEENESEEESTES
H 18,000,0008 * 14! 18,000 54,000 36,000
= 10,000 30,000 20,000
= 8,000 24,000 A 16,000
TAE SERX NSAZ 227,000 200,000 27,000
= 90,000 100,000 A 10,000
= 18,000 20,000 22,000
= 119,000 80,000 39,000
201 Lt Y] 75,000 51,400 23,600
2 37,500 25,700 1,800
= 7,500 5,140 2,360
2 30,000 20,560 9,440
01 AtR2tel 26,900 6,000 20,900
OSARISXES 223 HE
Z2 & 6,500,000& * 43| 26,000 6,000 20,000
= 13,000 3,000 10,000
= 2,600 600 2,000
= 10,400 2,400 8,000
OFASTHE Mga H2EHIS Y|
900,000& * 14 900 0 900
2 450 0 450
= 90 0 90
= 360 0 360
03 HAI2ZHI 48,100 45,400 2,700
OsHEWESIH HAEY &It 28 0¥ 0 20,000 A 20,000
= 0 10,000 A 10,000
= 0 2,000 22,000
= 0 8,000 /8,000
OASHE Al 24 5] 2
2 & 16,550,000& * 23] 33,100 5,400 27,700
= 16,550 2,700 13,850
S 3,310 540 2,770
i 13,240 2,160 11,080
OYAS0{"SII60 bHSC0"
A 7,500,008 * 23l 15,000 10,000 5,000
= 7,500 5,000 2,500
= 1,500 1,000 500
2 6,000 4,000 2,000
OH&EZ ot 28 0¥ 0 10,000 A 10,000
= 0 5,000 25,000
= 0 1,000 A1,000
= 0 4,000 A 4,000
207 & FIH | 7,000 7,000 0
= 3,500 3,500 0
= 700 700 0
= 2,800 2,800 0
01 A1E 9| 0 5,000 25,000
OAMgg=d M2 2UHE 28 0¥ 0 5,000 5,000
= 0 2,500 22,500
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ol SIlASOHED|E 1 CERE]
SN -EHH . (B) - MPAY - BE2 Ofl & 04 plE<L HRE2
S 0 500 A500
= 0 2,000 22,000
02 & AR 7,000 2,000 5,000
OZANRRINY EEMIE 75 29
Z& 7,000,000& * 14 7,000 2,000 5,000
= 3,500 1,000 2,500
= 700 200 500
i 2,800 800 2,000
301 et al= 0 15,600 A 15,600
= 0 7,800 7,800
& 0 1,560 A 1,560
i 0 6,240 NG6,240
10 HAIAHIEAS 0 15,600 A 15,600
OX%eld SARISK HAXAS B 0 0 5,000 5,000
= 0 2,500 A2,500
= 0 500 A500
i 0 2,000 A2,000
OLS . HIOILE BAEIL R 4 3y 02 0 1,600 A1,600
2 0 800 A800
= 0 160 A 160
2 0 640 £640
OX<Eginto stz 13 2 02 0 9,000 29,000
= 0 4,500 A4,500
S 0 900 A900
= 0 3,600 A3,600
307 21Ztol ™ 39,000 78,000 /39,000
= 19,500 39,000 219,500
S 3,900 7,800 A3,900
= 15,600 31,200 A 15,600
02 g2t a8 x 4,000 57,000 /53,000
OAsHE WSZTZ )X (307-052)

23 03 0 18,000 A 18,000
= 0 9,000 A9,000
= 0 1,800 A1,800
i 0 7,200 AT,200

OFsFE0l S0IY ALK (307-042 )

23 0& 0 5,000 5,000
= 0 2,500 A2,500
= 0 500 AB00
= 0 2,000 A2,000

OAEL Ll N2 & 0¥ 0 20,000 220,000
= 0 10,000 A 10,000
= 0 2,000 22,000
i 0 8,000 /8,000
O0I==8l =AQIAI 2 02 0 14,000 A 14,000
= 0 7,000 A7,000
S 0 1,400 A 1,400
= 0 5,600 A5,600
OA=2 SSHESEAMY 4,000,000& * 14! 4,000 0 4,000




SN HBFsAD
ot

Hm: =)t AS 0N
ol SIlASOHED|E 1 (S92
SN -EHH . (B) - MPAY - BE2 0 Ak o4 plE<L HRz2
= 2,000 0 2,000
= 400 0 400
= 1,600 0 1,600
04 RIZF AL 2,000 0 2,000
OFSHAEQ BOIYSAIK
2,000,000& * 14! 2,000 0 2,000
= 1,000 0 1,000
S 200 0 200
= 800 0 800
05 BIZ2tR &= 33,000 21,000 12,000
OUSHM SE0| ASHE T2OULSY
Z& 15,000,000& * 14 15,000 21,000 6,000
= 7,500 10,500 A3,000
= 1,500 2,100 A600
= 6,000 8,400 A2,400
OFsHE DET2INH
18,000,000& = 14| 18,000 0 18,000
= 9,000 0 9,000
= 1,800 0 1,800
i 7,200 0 7,200
401 A& HIZ 2 CHHI 58,000 0 58,000
= 5,500 0 5,500
= 1,100 0 1,100
= 51,400 0 51,400
01 Al H] 58,000 0 58,000
OsHEZet=Mg2AE 58,000,000& * 1A 58,000 0 58,000
= 5,500 0 5,500
= 1,100 0 1,100
= 51,400 0 51,400
S EXE 1,876,327 1,687,127 189,200
= 183,174 243,324 260,150
= 224,078 224,078 0
= 299,379 327,902 N28,523
2 169,696 891,823 277,873
SHSENs 223 308,000 0 308,000
306 293 308,000 0 308,000
01 &%= 308,000 0 308,000
OsYZEN3 252 202
229,000,000& = 14| 229,000 0 229,000
OsZ8N2 AXNLH2 B0i2
79,000,000& = 14l 79,000 0 79,000
S0{E 2SN X 388,080 506,880 118,800
2 183, 174 243,324 60,150
= 93,139 121,662 N 28,523
2 111,767 141,894 A30,127
307 21Z2tol & 388,080 506,880 A 118,800
= 183,174 243,324 260,150
= 93,139 121,662 A 28,523
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= 11,767 141,894 A30,127
10 MBI SXIEx 388,080 506,880 A 118,800
OS0ESRIA SE224g
Z&E 110,000& = 29421 « 128 388,080 506,880 118,800
= 183,174 243,324 260, 150
= 93,139 121,662 A 28,523
= 111,767 141,894 A30,127
d NIEHN Mt ,601,050 2,587,506 1,013,544
= 90,000 20,000 70,000
= 577,004 267,502 309,502
= ,934,046 2,300,004 634,042
S S AL JIEH S} ,229,538 1,231,400 A 1,862
201 get=24Ed| 1,978 2,100 A122
01 AR 2telH] 1,978 2,100 N122
OBIEHS MM &2 FIZ(20aED)
Z2& 70,0003 = 13.2570H 928 1,050 N122
206 M= 4l 28,260 30,000 A1,740
01 =4 28,260 30,000 A 1,740
OSLHHSLH S0 (20T
Z& 100,000& = 471ha = 60/100 28,260 30,000 A 1,740
a2 MolEEZ2X& ,396,212 698, 106 698, 106
S 465,404 232,702 232,702
= 930,808 465,404 465,404
307 212+01 A ,396,212 698, 106 698, 106
= 465,404 232,702 232,702
= 930,808 465,404 465,404
06 28 = ,396,212 698, 106 698, 106
OsXsMilEEs X&
dE 718,216.042 » 3,240ha * 60/100 ,396,212 698, 106 698, 106
S 465,404 232,702 232,702
= 930,808 465,404 465,404
NIEMSHEZISIMNA 162,000 36,000 126,000
= 90,000 20,000 70,000
S 21,600 4,800 16,800
= 50,400 11,200 39,200
402 QI 2tXH201 A 162,000 36,000 126,000
= 90,000 20,000 70,000
= 21,600 4,800 16,800
= 50,400 11,200 39,200
01 BIZtAt=2E = 162,000 36,000 126,000
ONBIY HHAAH L
Z& 180,000,000& * 1JHA + 90/100 162,000 36,000 126,000
= 90,000 20,000 70,000
S 21,600 4,800 16,800
= 50,400 11,200 39,200
SHESZHHMN I 300,000 100,000 200,000
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SN CR(EH) - NRAY - BES Arel p/E-T" {imE=Eh
S 90,000 30,000 60,000
= 210,000 70,000 140,000
402 QIZEX201 M 300,000 100,000 200,000
S 90,000 30,000 60,000
= 210,000 70,000 140,000
01 BI2tA+= 300,000 100,000 200,000
OMZEE ZYHF TN
& 200,000,000 = 3CH = 50/100 300,000 100,000 200,000
S 90,000 30,000 60,000
= 210,000 70,000 140,000
fcole daiEHzs XNH 141,300 150,000 A8,700
301 et At 141,300 0 141,300
12 JIEtE & 141,300 0 141,300
OB MY MUZAS N
197,622.35& = 715ha 141,300 0 141,300
307 21Ztol ™ 0 150,000 A 150,000
02 glztd &t 0 150,000 A 150,000
O=4td dHatEeis K& 28 0¥ 0 150,000 A 150,000
AEAE HHME=S S4 1,929,756 1,939,756 A 10,000
= 1,859,756 1,859,756 0
= 70,000 80,000 A 10,000
EC R = PN 60,000 80,000 A20,000
301 et a3 60,000 0 60,000
12 J|Et2 43 60,000 0 60,000
O = MAXA 750,000& = 80ha 60,000 0 60,000
307 21Ztol 0 80,000 280,000
02 glZtF a8 =x 0 80,000 80,000
OYE= MHAXA 28 0¥ 0 80,000 280,000
DA0GE=E10 AEAMY 10,000 0 10,000
402 SI2tXH=0 10,000 0 10,000
01 BI2tAt=2 10,000 0 10,000
OO0t 20 WSIAHAIAE XS
20,000,000& = 14l = 50/100 10,000 0 10,000
s HEEN 499,700 151,840 347,860
= 116,526 10,776 105,750
= 383,174 141,064 242,110
lEEAdd SIIAHXNE 75,360 80,000 A4,640
402 212t X2 75,360 80,000 AN4,640
01 BIZtA=E 75,360 80,000 A4,640
OXEFE sJ1H XN (2HaEZ)
2 & 753,600 * 200CH * 50/100 75,360 80,000 A4,640
XEFE sIAXNA 352,500 0 352,500
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SNBSS - MBAY - BES 0 & 24 pJE-T {imE=Eh
S 105,750 0 105,750
= 246,750 0 246,750
402 QI 2tXH201 A 352,500 0 352,500
S 105,750 0 105,750
= 246,750 0 246,750
01 QItXt= 8 X 352,500 0 352,500
OXFE=I ARSI
2,500,0002 * 282CH * 50/100 352,500 0 352,500
S 105,750 0 105,750
= 246,750 0 246,750
SEHEA=H ALY 14,019,260 11,390,009 2,629,251
= 11,362,062 11,350, 886 11,176
Il 35,658 35,658 0
= 973 1,040 AB7
i 2,620,567 2,425 2,618,142
B MHEisot 2 eHE R 2,618,410 0 2,618,410
301 et al= 2,618,410 0 2,618,410
12 JIEt2 4= 2,618,410 0 2,618,410
O201MEE HIHH SOt AT DALY
2,618,410,000& * 14 2,618,410 0 2,618,410
TA=SI N ENBEH 3,354 3,354 0
= 2,683 2,348 335
= 235 302 YaNeY4
= 436 704 N 268
202 o4l 3,354 3,354 0
= 2,683 2,348 335
S 235 302 YaNe74
= 436 704 A 268
01 = LHAbI 3,354 3,354 0
OFAgANAHEH B Y
Z & 3,354,000 = 14| 3,354 3,354 0
= 2,683 2,348 335
= 235 302 YaNe74
= 436 704 N 268
2sHAZXN=H XN 10,841 0 10,841
= 10,841 0 10,841
201 L2 10,841 0 10,841
= 10,841 0 10,841
01 AtR2telH] 10,841 0 10,841
OgsdA= NI 10,841,000 = 14 10,841 0 10,841
= 10,841 0 10,841
sletdsgy JFerd X3 1,183,379 1,600,759 A417,380
= 956,120 1,371,619 A415,499
= 50,976 52,335 A~ 1,359
= 176,283 176,805 VANV

detdsetE AsAE 207,981 209,340 1,359
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S 50,976 52,335 A 1,359
i 157,005 157,005 0
301 et a3 207,981 209, 340 A 1,359
S 50,976 52,335 A 1,359
= 157,005 157,005 0
12 J|Et2 43 207,981 209, 340 A~ 1,359
OIS
Z23H 367,198.09& * 94421 x 60/100 207,981 209,340 A 1,359
S 50,976 52,335 A 1,359
i 157,005 157,005 0
HSIsHHEZXEM 956,120 1,371,619 A415,499
= 956,120 1,371,619 A415,499
301 et a3z 956, 120 1,371,619 A415,499
= 956, 120 1,371,619 A415,499
12 J|Et2 a3 956, 120 1,371,619 A415,499
Oz gZ=sgXEX=A
Z&d 379,714.05& = 2,518ha 956,120 1,371,619 A415,499
= 956,120 1,371,619 A415,499
dEd=sgy =AY 28 XN 19,278 19,800 AB22
201 et A | 8,478 9,000 AB22
01 AFR 2t eld] 8,478 9,000 Ab22
Orsd=y =X M (20AE2)
23 2,000& = 1,989= 3,978 4,500 AB22
ZsgIIE &= 7,876,481 7,166,148 710,333
= 2,086,373 2,056,550 29,823
= 1,050,319 960,898 89,421
= 4,739,789 4,148,700 591,089
s =4 2,719,500 2,577,770 141,730
S 815,850 773,330 42,520
= 1,903,650 1,804,440 99,210
301 etE a3 2,719,500 2,577,770 141,730
S 815,850 773,330 42,520
= 1,903,650 1,804,440 99,210
12 J|Et2 43 2,719,500 2,577,770 141,730
OztIdsLHANTEAMNY
Z2& 1,050,000& * 2,590ha 2,719,500 2,577,770 141,730
S 815,850 773,330 42,520
i 1,903,650 1,804,440 99,210
EZHIZ(ELMEH) XIS 1,694,544 1,564,625 129,919
= 1,186, 181 1,095,238 90,943
= 169,454 156,462 12,992
= 338,909 312,925 25,984
206 M= 4l 1,694,544 1,564,625 129,919
= 1,186,181 1,095,238 90,943
= 169,454 156,462 12,992
= 338,909 312,925 25,984
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SA BB H(BH) - MBAY - B2 o J1E o =2
01 TR bl 1,694,544 1,564,625 129,919
ORSHYI2(ELTH )X
AT 132,138,492 * 12,8245 1,694,544 1,564,625 129,919
3 1,186, 181 1,095,238 90,943
= 169,454 156,462 12,992
2 338,909 312,925 25,984
A HHIR(RIIZ)XE 1,515,600 1,541,565 ~25,965
3 680,000 705,965 25,965
2 835,600 835,600 0
206 TH 2 1,515,600 1,541,565 25,965
2 680,000 705,965 25,965
2 835,600 835,600 0
01 T2 bl 1,515,600 1,541,565 £25,965
OXSHHIZ(RIIR)NH
AR 111,441.172 * 13,600 1,515,600 1,541,565 25,965
2 680,000 705,965 25,965
2 835,600 835,600 0
SOOI ESIKIR 8,840 20,000 A1, 160
301 YR AD 8,840 20,000 A1, 160
12 JIEH2 A3 18,840 20,000 A1, 160
ORE AESI 48 NRHE XA (20
WEET) 2T 188,40020 * 1002 18,840 20,000 A1,160
=HIRSERHRR 550,480 510,693 39,787
= 220,192 255,347 135,155
2 330,288 255,346 74,942
206 T & bl 550,480 510,693 39,787
= 220,192 255,347 A35,155
2 330,288 255,346 74,942
01 T2 bl 550,480 510,693 39,787
O=HIXSER X &
2H 251,131,382 * 2,192ha 550,480 510,693 39,787
= 220,192 255,347 ~35,155
2 330,288 255,346 74,942
AHINEZS A SLHE DS 0 6,575 A6,575
= 0 2,630 A2,630
2 0 3,945 A3, 945
301 YuHB A3 0 6,575 ~6,575
= 0 2,630 A2,630
2 0 3,045 A3,945
12 J|Et2 43 0 6,575 AB,575
OAHINEHMSASAE DS  ZF 0d 0 6,575 A\6,575
= 0 2,630 A2,630
2 0 3,045 A3,945
HASNSHRSA LA 6,080 9,120 A3,040
= 1,824 2,736 A912
2 4,256 6,384 A2,128
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201 LBr2 Y| 6,080 9,120 A3,040
= 1,824 2,736 912
= 4,256 6,384 A2,128

01 At 22l 6,080 9,120 A3,040
OZEFSHE HESAAAN

2 152,0008 * 4021 6,080 9,120 A3,040

& 1,824 2,736 A912

= 4,256 6,384 A2,128

SIs ZEPE N 73,137 16,800 56,337
< 21,941 5,040 16,901
= 51,196 11,760 39,436

307 Q20| 73,137 16,800 56,337
= 21,941 5,040 16,901

= 51,196 11,760 39,436

06 HE2 73,137 16,800 56,337

ORIls zaws X2

2 73,137,0008 * 14! 73,137 16,800 56,337

= 21,941 5,040 16,901

= 51,196 11,760 39,436

MBS PSo WS 31,500 63,000 ~31,500
= 9,450 18,900 A9,450
= 22,050 44,100 A22,050

402 Q2 XHE 0| 31,500 63,000 A31,500
= 9,450 18,900 £9,450
= 22,050 44,100 A22,050

01 QIR =L X 31,500 63,000 A31,500

OMEBNE P HSLYRHX
2% 7,000,0002 * Sha * 50/100 31,500 63,000 A31,500
= 9,450 18,900 ~9,450
= 22,050 44,100 A22,050

et AIIRE0l 22 310,800 0 310,800
= 30,000 0 30,000
2 280,800 0 280,800

402 QI2HRHE 0| 310,800 0 310,800
= 30,000 0 30,000
= 280,800 0 280,800

01 QAT =X 310,800 0 310,800

OLBIMIISO0l 23
210,0002 * 3,700ha * 40/100 310,800 0 310,800
= 30,000 0 30,000
2 280,800 0 280,800

HBASY AT 100,000 0 100,000

402 QI2HXH2 0| 100,000 0 100,000

01 QAT =X 100,000 100,000

OMEEL0l LAAILR A
200,000,002 * 194 * 50/100 100,000 0 100,000
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SA B HRA(SH) - MRAY - B O & o4 o1& o SImE=ET
ShtE Mo RS2 4,557,126 4,917,183 A360,057
= 2,709 2,709 0
& 1,290,000 1,590,000 300,000
o= 623,001 689,822 A66,821
i 2,641,416 2,634,652 6,764
MARSAE Jls Hsat 2,693,859 2,738,459 A44,600
= 2,709 2,709 0
& 1,290,000 1,290,000 0
= 294,725 318,725 A24,000
= 1,106,425 1,127,025 220,600
HdeMdEdn dXIX& 150,000 100,000 50,000
402 SI2tX=01 ™ 150,000 100,000 50,000
01 QIIXI=2EX 150,000 100,000 50,000
OSMESHESNED SX (ML)
50,000,000& * 14 50,000 0 50,000
sEFEds N 173,700 208,300 A 34,600
201 Bt2Ad| 5,400 0 5,400
01 AR 2teld| 5,400 0 5,400
OJIEEH MAEFY 60,000& = 60K 3,600 0 3,600
OJ&EH sat24X 2 6,0008 = 30074 1,800 0 1,800
401 A& HIS 2 CHYI 0 40,000 240,000
01 A& HI 0 40,000 240,000
OJNFEE HEHEDRX ZERUTA
38 0¥ 0 40,000 240,000
HIIBAE FSEAS 0 60,000 260,000
& 0 24,000 A24,000
i 0 36,000 A 36,000
402 QI2t X201 0 60,000 260,000
= 0 24,000 224,000
= 0 36,000 A 36,000
01 QItXI=2E X 0 60,000 260,000
OZE.9S HIITAE 84 23 og 0 60,000 60,000
= 0 24,000 224,000
= 0 36,000 A 36,000
sE& 2=835dAME 1,119,020 1,599,020 A 480,000
= 0 300,000 300,000
S 305,706 341,706 A 36,000
= 813,314 957,314 A 144,000
SEMASLTH 0 480,000 480,000
& 0 300,000 A300,000
= 0 36,000 A 36,000
= 0 144,000 A 144,000
402 BI2H X201 M 0 480,000 A480,000
= 0 300,000 300,000
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o9l 5E ALY (e

M- E - S(3) - HRAY - BY2 Abou pJE-T HIRE

< 0 36,000 136,000

= 0 144,000 144,000

01 QAR 0 480,000 480,000
OBEMASEX VALY (MYELDE)

23y 02 0 480,000 480,000

= 0 300,000 300,000

= 0 36,000 36,000

T 0 144,000 144,000

2 BEY HHRE 744,247 579,704 164,543

= 22,570 29,391 16,821

= 721,677 550,313 171,364

RIS0elE DR AHB AR 0 5,000 5,000

= 0 2,500 A2,500

= 0 2,500 £2,500

307 8I12+0| ® 0 5,000 5,000

= 0 2,500 £2,500

= 0 2,500 A2,500

02 RIRH Y AT X 0 5,000 5,000

OJRIENIB I DUES ALY 25 02 0 5,000 5,000

= 0 2,500 £2,500

= 0 2,500 A2,500

Hga BADASE Syl X2 68,649 84,006 A 15,357

3 13,730 16,801 A3,071

= 54,919 67,205 A 12,286

307 QI12+0| ® 68,649 84,006 A 15,357

= 13,730 16,801 A3,071

= 54,919 67,205 A 12,286

02 RIRH Y AP X 68,649 84,006 A 15,357
OFLHHMY DN SHTAY SHHHIX 2

21,5008 * 45,7661 68,649 84,006 A 15,357

3 13,730 16,801 A3,071

= 54,919 67,205 A 12,286

N2 1MATH ZRSS 0 2,500 A2,500

= 0 1,250 A 1,250

= 0 1,250 A 1,250

307 8I12+0| ® 0 2,500 A2,500

= 0 1,250 A 1,250

= 0 1,250 A 1,250

02 IAY B 0 2,500 A2,500

OTAIZ 1MATIEE SAAY 23 02 0 2,500 A2,500

= 0 1,250 A 1,250

= 0 1,250 A 1,250

SSNSTEZS 100,500 88,400 12,100

201 2Bre Y| 19,400 14,400 5,000

01 Ak 22l 19,400 14,400 5,000
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fA: dEE=sH
AH AL

B SN2 4a - RS
S SAS BRY HHTE (e
SN EB -GS - MBAY - BES 0 & 24 p/E-T" {imE=Eh
OJIZEEH RUBHIANAY E2AS
400,000& * 6 2,400 0 2,400
siE Hil2E & EE2S HA 42,080 35,080 7,000
401 Al EHIZ 20 YI 7,000 0 7,000
01 Al£H] 7,000 0 7,000
OEltAA=2E s2Z 08 F
7,000,000& = 14 7,000 0 7,000
B =SEIAIYE AdAx+=3 X 226,600 75,200 151,400
201 gEt24Ed| 152,600 1,200 151,400
01 AR 2tel] 152,600 1,200 151,400
OLOINERE MO 242 (20AE)
23 0 0 1,200 A 1,200
OZ23H=0I=0gE 23
700& * 218,000 152,600 0 152,600
g B2 IHA 4,500 0 4,500
307 212+01 A 4,500 0 4,500
02 gzt atEx 4,500 0 4,500
OXTHSDZA AW TS
1,5002 » 3,000% 4,500 0 4,500
=g Zd4 2st 3,221,985 3,305,888 83,903
= 89,040 378,780 N289,740
Il 480,000 500,000 220,000
= 541,676 563,078 A21,402
B i 2,111,269 1,864,030 247,239
U SHYLAANEXSH 1,528,985 1,273,198 255,787
= 89,040 378,780 A289,740
Jl 140,000 0 140,000
= 174,876 140,778 34,098
= 1,125,069 753,640 371,429
ANE30 duXolEg =83t 222,600 676,078 N453,478
= 89,040 378,780 A289,740
< 13,356 38,778 N25,422
i 120,204 258,520 A 138,316
402 QI2t X201 ™ 222,600 676,078 N453,478
= 89,040 378,780 N289,740
S 13,356 38,778 225,422
= 120,204 258,520 AN 138,316
01 QItXt= 8 X 222,600 676,078 AN453,478
OAIZ300UHXIONE SE3tALY
Z3& 159,000,0002 * 2.8ha * 50/100 222,600 676,078 N453,478
= 89,040 378,780 A 289,740
< 13,356 38,778 N25,422
i 120,204 258,520 A 138,316
HUEHAL JlE &5 235,380 257,120 A21,740




SN HSF =YD
E: =9 Y Us
Pl RAOISE AL AIL T (el &2
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 )= e bRz
402 212 XH2 01 & 232, 140 253,880 A21,740
01 QIR R B X 232, 140 253,880 A21,740
OUILBISAAE MK (o) A=Y)
2 21,304,008 * Sha * 50/100 53,260 75,000 A21,740
£TE HLR H2HE MY 71,405 50,000 ~78,595
= 21,420 45,000 £.23,580
2 49,985 105,000 A55,015
402 212X+ 01 & 71,405 150,000 778,595
= 21,420 45,000 723,580
2 49,985 105,000 £55,015
01 DIZHRIRE X 71,405 150,000 £78,595
O+2E B2 NSHEAY
A 23,033,8702 * 6.2ha * 50/100 71,405 50,000 A78,595
= 21,420 45,000 123,580
2 49,985 105,000 755,015
HONSH W D 0 190,000 190,000
= 0 57,000 57,000
2 0 133,000 133,000
402 B2 X201 & 0 190,000 190,000
= 0 57,000 A57,000
2 0 133,000 133,000
01 DIZHRI= B X 0 190,000 190,000
ORKIHE FHAR DX 3y 0 0 190,000 190,000
= 0 57,000 A57,000
2 0 133,000 133,000
BHZE TR FRl(HO)N 252,600 0 252,600
301 YR A3 252,600 0 252,600
12 JIEH2 A3 252,600 0 252,600
020114 Jt2 L.th= ZTHFel (HII)X
600,0002 * 421ha 252,600 0 252,600
SR BSRARLK 350,000 0 350,000
| 140,000 0 140,000
= 21,000 0 21,000
2 189,000 0 89,000
402 212X+ 01 & 350,000 0 350,000
| 140,000 0 140,000
= 21,000 0 21,000
2 189,000 0 89,000
01 DIRHRI= B X 350,000 0 350,000
OYBIAUAIE (A LS A) 22
100,000,000 * 7ha * 50/100 350,000 0 350,000
| 140,000 0 140,000
= 21,000 0 21,000
2 189,000 0 89,000
WXE 45 ATpRE 397,000 0 397,000




SN HERSAD
HE: so AW Ys
Pl RAOISE AL AIL T (el &2
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 )= e B2
< 119,100 0 119, 100
2 277,900 0 277,900
402 212 XH2 01 & 397,000 0 397,000
= 119,100 0 119,100
2 277,900 0 277,900
01 QAR = F 397,000 0 397,000
ORKNE +50T2t 75
198,500,000 * 4ha * 50/100 397,000 0 397,000
= 119,100 0 119,100
2 277,900 0 277,900
R E e ] 1,038,000 1,414,500 376,500
| 340,000 500,000 160,000
= 180,300 244,350 64,050
2 517,700 670, 150 ~152,450
QDA A B S X 97,000 100,000 3,000
402 212 XH2 01 & 97,000 100,000 3,000
01 UAXEHF 97,000 100,000 23,000
ORI ALGHSA XX (ZOMED)
AW 107,777,772 * 3ha * 30/100 97,000 100,000 3,000
DEX ML S ALY 850,000 1,250,000 400,000
| 340,000 500,000 £160,000
= 153,000 225,000 AT2,000
2 357,000 525,000 168,000
402 212 XH2 01 & 850,000 1,250,000 400,000
| 340,000 500,000 A160,000
= 153,000 225,000 AT2,000
2 357,000 525,000 £168,000
01 UATESE 850,000 1,250,000 400,000
OFTAYIZ DB M AN LS SHALS
A 1,700,000,00020 * 141 * 50/100 850,000 1,250,000 £400,000
| 340,000 500,000 £160,000
= 153,000 225,000 A72,000
2 357,000 525,000 168,000
BRASHES LXAIL XA 0 64,500 264,500
= 0 19,350 £19,350
= 0 45, 150 45,150
402 212X+ 01 & 0 64,500 264,500
= 0 19,350 £19,350
2 0 45, 150 A45, 150
MR EEES 0 64,500 64,500
OBHERNES STAL TRAY  HF 02 0 64,500 64,500
= 0 19,350 ~19,350
2 0 45, 150 £45, 150
BARLHES THEY LXK 26,000 0 26,000
= 7,800 0 7,800
2 18,200 0 18,200




SN ASZsAD
M =9 WY U3
CHol: D YWEN L (erel: @ 2
SA - SR(E) - HRAY - BES 0 & 24 o1& o HIRE
402 212X 0| 26,000 0 26,000
= 7,800 0 7,800
z 18,200 0 18,200
01 QIR ER 26,000 0 26,000
ONRARMES ZHEY LN
1,000,0002! * 52ha * 50/100 26,000 0 26,000
3 7,800 0 7,800
= 18,200 0 18,200
ASSY OFSUDS SXEH 65,000 0 65,000
= 19,500 0 19,500
= 45,500 0 45,500
402 Q12 R0 65,000 0 65,000
= 19,500 0 19,500
= 45,500 0 45,500
01 QA= E 65,000 0 65,000
OASRY OISHBS BUEH
325,000,00020 * 0.4ha * 50/100 65,000 0 65,000
= 19,500 0 19,500
z 45,500 0 45,500
ASHYRS MM 655,000 618,190 36,810
= 186,500 177,950 8,550
= 468,500 440,240 28,260
SHSK HSHSMACT I 0 593, 190 £593,190
= 0 177,950 A177,950
= 0 415,240 415,240
301 YBBAS 0 593, 190 £593,190
= 0 177,950 A177,950
= 0 415,240 415,240
12 B2 A2 0 593, 190 593,190
OB HSXASHSMAEI T 23 0 0 593, 190 593,190
= 0 177,950 A177,950
= 0 415,240 A 415,240
NASsHsAHOMS XS 50,000 0 50,000
= 12,500 0 12,500
= 37,500 0 37,500
307 212+01 & 50,000 0 50,000
= 12,500 0 12,500
= 37,500 0 37,500
02 pI2tH AR R 50,000 0 50,000
OXNASIHESSLHAN S4
50,000,0008 * 1744 50,000 0 50,000
= 12,500 0 12,500
= 37,500 0 37,500
ASOUERS WAL T 580,000 0 580,000
= 174,000 0 174,000
z 406,000 0 406,000
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= O
A & 0l & AF S E M A
SA: AEEADL
M2 Jp SXFY X4
ool =XAB AN (B9 &2
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K JE A BlusZ
ARE LD} 21,220, 169 19,488,031 1,732,138
= 2,646,742 4,347,802 A 1,701,060
3 2,450,445 1,550,445 900,000
| 2,906,581 2,919,571 A 12,990
= 1,090,604 1,041,046 49,558
2 12,125,797 9,629,167 2,496,630
OB =XPR FH 1,369,390 1,205,181 164,209
=2 38,270 37,770 500
z 108,000 108,000 0
| 80,000 80,000 0
= 68,900 68,400 500
2 1,074,220 911,011 163,209
=NBR =4 723,671 551,231 172,440
2 500 0 500
= 500 0 500
2 722,671 551,231 171,440
29 2 125,346 68,300 57,046
201 Yut2 bl 6,246 6,300 A54
01 AL 2relHl 1,746 1,800 A54
olgsr2g] 1,746 1,800 A54
Oz B2l ARE(20AE)
AR 1,746,008 * 14 1,746 1,800 AB4
401 Al EHIL 20| 119, 100 62,000 57,100
01 Al &t 119,100 62,000 57,100
oggza 2l 525,002 * 43l 2,100 0 2,100
OHST2R A8 |
1,666,6662 * 33| 5,000 0 5,000
OZAM MUHE ZZZA 20,0008 * 2,500 50,000 0 50,000
A2 2el 276,272 251,800 24,472
201 L2 Y| 873 900 ~er
01 AL 2r2lHl 873 900 ~27
OADY B2 ADE DU (RHMEY)
2 72,7508 + 122 873 900 Y
206 T & bl 15,000 10,000 5,000
01 2 bl 15,000 10,000 5,000
OXA4 A2 FUH 2
2H 50,0002 * 3008 15,000 10,000 5,000
401 Al EHIZL 20| 259,499 240,000 19,499
01 Al &bl 259,499 240,000 19,499
OABA Z&(2OIAE)
2H 16,800,818% * 11044 185,799 200,000 A 14,201
OAZTE JHI(2HAEY)
2 5,616,6668 * 62 33,700 40,000 6,300




SN A=A
M 0@ sNFE =4
cel SXED X4 (&te: @2
2AH -3 - SH2A(SH) - MEAMY - BHES 0] At oH J)[| el Hl =2
OYY SH(WHWOIZ))&HHE ZAAY
40,000,000 * 1JHA 40,000 0 40,000
24 22 190,510 97,000 93,510
206 XH 2] 67,460 18,000 49,460
01 XH 24| 67,460 18,000 49,460
OJzy 82 N 202 R (20AHE
) ZA 17,460,000 * 14l 17,460 18,000 A540
OUY Ji2 g2 HEZ2E 22 (118H)
12,500,0002 * 43| 50,000 0 50,000
401 A& HI L =20 111,050 79,000 32,050
01 Al&H] 111,050 79,000 32,050
OJZ2ste B2 XA (20 AEY)
ZA 1,160,227 « 1182 * 43 51,050 55,000 A3,950
Odsg 225d =22l ZHIDI ¢ HAE
Z ATH(EES) 23 8,500,000 * 43| 34,000 24,000 10,000
OYAS AJIK JI23E2 HEZ A
50,0002 * 60JH * 43| 12,000 0 12,000
OF1 3% U2 ZH|D|
200,000 * 70km 14,000 0 14,000
405 KHAHE SH 12,000 0 12,000
01 MM EEFES 12,000 0 12,000
OgeS AIJIX Jt2stE 2
200,000 * 60K 12,000 0 12,000
CH EHID| 118,993 125, 131 AB,138
401 A& HI L =20 116,622 122,760 AB,138
01 Al&H] 116,622 122,760 A6,138
OGHEH ZEHII(20aEY)
AE 71,0002 » 341km % 23] 116,622 122,760 AB6,138
23 IR 8,550 9,000 A450
401 A& H 220 8,550 9,000 A450
01 Al&H 8,550 9,000 A450
O[Al & dl] 8,550 9,000 A450
O=2H 223 (20 aE2)
23X 8,550,000 * 1Al 8,550 9,000 450
Ar2letets] AR Y 4,000 0 4,000
= 500 0 500
[ 500 0 500
= 3,000 0 3,000
201 L2 AH 4,000 0 4,000
= 500 0 500
[= 500 0 500
= 3,000 0 3,000
03 A2 H] 4,000 0 4,000




EA: A=A
& g sXE83a =4
G sXES =4 CEREED
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
Ot sretg] A, & EE2 AXH]
4,000,000& * 14 4,000 0 4,000
= 500 0 500
& 500 0 500
= 3,000 0 3,000
T Al=mE &4 22 645,719 653,950 N 8,231
= 37,770 37,770 0
= 108,000 108,000 0
J| 80,000 80,000 0
& 68,400 68,400 0
= 351,549 359,780 A8,231
HE Iz X4 261,769 270,000 A8,231
& 45,000 45,000 0
= 13,500 13,500 0
iy 203,269 211,500 A8,231
401 Al EHIZ 2O HI 261,769 270,000 A8,231
= 45,000 45,000 0
T 13,500 13,500 0
iy 203,269 211,500 A8,231
01 Al&H| 260,959 269,190 A8,231
OAUR JI2% AT (20 aE2)
38 91,769,000& = 14 91,769 100,000 A8,231
2o =X1Z32 X4 78,964 79,387 N423
At =322l 78,964 79,387 AN423
A =X 22| 44 252 44 476 N224
401 AIEHIZL 2] 44 252 44 476 N224
01 Al&HI 43,800 44,000 A 200
OIlAl & dl] 43,800 44,000 A 200
OUEAMH == THHIXIAIE (20 AR
Z23& 17,800,000& * 14] 17,800 20,000 N2,200
OUIEMH &8 W) B2&10 Ul
2,000,000& * 14! 2,000 0 2,000
03 Al& 20| 452 476 NP4
OUSAY =2 THHIXIAI SHdI (20 a2
) 33 41,851,851& * 1.08% 452 476 N24
AS JtE2 4 22| 15,313 15,453 A 140
206 i =t 2,522 2,600 NT8
01 &4l 2,522 2,600 AT8
OEatd JI24 Hols2H LEU (20 AE
2) 338 8,008& * 120¥ 961 1,000 A39
OUSAY Jt24 Ald| HIS2UH (20 AE2)
48 7,805& * 200 1,561 1,600 A39
405 KHo&HFE S HI 1,991 2,053 NB2
01 MY Z2SFH S 1,991 2,053 AB2




SE N
SHH SNAD E4
o =Xzl el
N33 S2(3H) - MEAMY - BES Aol JE A HwsZ
OWSAE D24 Ful &Yl 2 (20 AH
2) 2T 1,991,002 * 14 1,991 2,053 A62
Arer A% P 12,391 12,450 A59
206 T 2 bl 1,891 1,950 A9
01 T2 bl 1,891 1,950 A59
OUSME ZZ4 HHE SR LS (=04
=) AT 8,202 * 99 821 850 A29
OIS AE ZF4 AUl SUl(Z0&EY)
AN 55168 * 194X 1,070 1,100 A30
X5t 5,870,380 3,693,743 2,176,637
=2 1,402,117 1,401,750 367
=l 1,380,000 780,000 600,000
= 319,979 321,566 A1,587
2 2,768,284 1,190,427 1,577,857
NI 712,198 599,171 113,027
= 250,545 250,178 367
3 30,000 30,000 0
= 44,839 44,826 13
2 386,814 274,167 112,647
ol Q&8 X2 129,276 129,221 55
= 100,548 100,505 43
= 8,618 8,615 3
2 20, 110 20, 101 9
401 A2 HIL 2O HI 129,276 129,221 55
2 100,548 100,505 43
= 8,618 8,615 3
2 20, 110 20,101 9
01 Al bl 129,276 129,221 55
OBl & &2l A 4,309,2008 + 30ha 129,276 129,221 55
2 100,548 100,505 43
= 8,618 8,615 3
2 20, 110 20, 101 9
SEEX xd 12,685 12,686 A
= 9,867 9,867 0
= 846 846 0
2 1,972 1,973 A
402 Q12X+ 0/ 12,685 12,686 AT
= 9,867 9,867 0
= 846 846 0
2 1,972 1,973 At
01 PIARZERE 12,685 12,686 A
OgsEx x A 2,537,000 * 5ha 12,685 12,686 At
= 9,867 9,867 0
= 846 846 0
2 1,972 1,973 At
SYH=ET T 8,866 8,866 0
= 4,814 4,469 345




SN AMREMD
HE: MY KR E
Sl A X (25 &2

N EH - S2A(3H) - MRAE - BES &hoh I8N &
s 1,330 1,319 11
= 2,722 3,078 A 356
401 Al EHIZ 2O Y| 8,866 8,866 0
= 4,814 4,469 345
= 1,330 1,319 11
= 2,722 3,078 A 356
01 A& H 8,866 8,866 0
Outgd o=+ &8 ZEH 8,866,000& * 1ha 8,866 8,866 0
= 4,814 4,469 345
= 1,330 1,319 11
= 2,722 3,078 A 356
STHA A X 47,401 47,421 A20
= 36,868 36,883 A5
< 3,160 3,161 A
= 7,373 7,377 A4
401 Al EHIZ 2O YI 47,401 47,421 A20
= 36,868 36,883 A5
= 3,160 3,161 A
= 7,373 7,377 A4
01 Al Hl 47,401 47,421 A20
OSHHa £8 2 & 4,309,181& * 11ha 47,401 47,421 A20
= 36,868 36,883 A5
S 3,160 3,161 A
= 7,373 7,377 N4
B X 17,237 17,244 AT
= 13,406 13,412 A6
s 1,150 1,150 0
= 2,681 2,682 A
401 Al EHIZL 2OhY| 17,237 17,244 AT
= 13,406 13,412 A6
< 1,150 1,150 0
= 2,681 2,682 A
01 A& H 17,237 17,244 AT
S8+ 2d Z & 4,309,250 * 4ha 17,237 17,244 AT
= 13,406 13,412 A6
< 1,150 1,150 0
= 2,681 2,682 A
Le=d 24 203,220 138,220 65,000
= 30,000 30,000 0
= 173,220 108,220 65,000
101 el 24 Hl 12,000 0 12,000
04 JIZtH 22 NS ES 12,000 0 12,000
ouRzd 2| 28
40,0008 » 58 = 60 12,000 0 12,000
206 X = Hl 3,000 0 3,000
01 =4l 3,000 0 3,000




SN AYSAD
mE: M2 R
ool ZEAY X EEREED
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 I HRE2
OJIZE+S 2o A8 43 2 (2FHI2 S)
30,0002 + 1004 E 3,000 0 3,000
401 A& HIS 2 CHYI 187,500 137,500 50,000
= 30,000 30,000 0
= 157,500 107,500 50,000
01 Al£H] 187,500 137,500 50,000
OIES2 014 & 22
A 500,008 * 3005 150,000 100,000 50,000
Zatg ATHAI 2el 97,500 50,000 47,500
401 A& HIZ 20| 97,500 50,000 47,500
01 Al& 8] 97,500 50,000 47,500
OLHYT BULIS OlA (20ME)
23 6,785,714 = 7ha 47,500 50,000 A2,500
OZZ42 Il 2 22l 50,000,008 * 14 50,000 0 50,000
LIRAD XI&A 3,856 3,356 500
201 ZEt2FH| 3,856 3,356 500
01 AR 22l 3,856 3,356 500
Ol= & dll 2,306 1,806 500
OLIR Al A S|
27 3,843.33% * 6002 2,306 1,806 500
= JtRJ| 2,043,637 2,043,637 0
= 1,143,187 1,143,187 0
= 261,940 261,940 0
i 638,510 638,510 0
= JtRJI 1,564,014 1,564,014 0
2 868,740 868,740 0
S 208,493 208,493 0
i 486,781 486,781 0
101 21 24H| 15,400 0 15,400
= 9,240 0 9,240
= 1,848 0 1,848
i 4,312 0 4,312
04 JIZtH22HEES 15,400 0 15,400
OYe JIAFY BB 1LY (401-01014)
55,000& * 12! » 280 15,400 0 15,400
= 9,240 0 9,240
S 1,848 0 1,848
i 4,312 0 4,312
201 YEr2 Y| 6,000 0 6,000
2 3,600 0 3,600
= 720 0 720
2 1,680 0 1,680
02 32244 6,000 0 6,000
CINEETIES T 6,000 0 6,000




SN
X XH .
S Tt

el

N33 . c2(3H) - NEME - HES A oH I & Hl =2
oYY JIHZEH =2 KXIHI(401-0101 A1)
6,000,000 * 14l 6,000 0 6,000
= 3,600 0 3,600
[ 720 0 720
= 1,680 0 1,680
401 Al&HI L =20 1,542,614 ,564,014 A21,400
= 855,900 868,740 A 12,840
[ 205,925 208,493 A2,568
= 480,789 486,781 A5,992
01 Al&H] 1,488,883 ,534,455 45,572
OI[Al & Hl] 1,488,883 ,534,455 45,572
OZ2LI2 J1RIJ FA 1,399,072& * 900ha 1,259, 165 ,304,737 45,572
= 696,266 724,566 28,300
[= 168,792 174,021 N5,229
= 394, 107 406, 150 A12,043
02 22l 48,100 23,928 24,172
O=2t31J| 221(401-0101l M)
ZA 53,4442 » 900ha 48,100 23,928 24,172
= 28,860 13,400 15,460
[ 5,772 3,111 2,661
= 13,468 7,417 6,051
AP XY 68,110 77,360 N9,250
[= 13,200 14,800 21,600
= 54,910 62,560 AT7,650
sS4 2o 14,610 23,360 A8,750
[= 0 1,600 A1,600
= 14,610 21,760 A7,150
401 A& HIL 20| 14,250 23,000 A8,750
[= 0 1,600 A1,600
= 14,250 21,400 AT7,150
01 Al&H] 14,250 23,000 A8,750
B854 e 23X 0= 0 8,000 28,000
[= 0 1,600 A1,600
= 0 6,400 26,400
OBS4 =8 HUIAIY (20 AR
ZE 14,250,0008 * 14l 14,250 15,000 AT750
SFE = AlTY 9,500 10,000 A500
401 A& HI 220 9,500 10,000 A500
01 Al&H] 9,500 10,000 A500
OIS 2 FY SES ATAIY (20 4EZ)
ZE 197,916R * 48 9,500 10,000 A500
SUANE A 3,046,435 973,575 2,072,860
= 8,385 8,385 0
= 1,350,000 750,000 600,000
= 1,688,050 215,190 1,472,860
SHISHEER =4 1,852,600 812,600 1,040,000




SN MRS
B MY X

2 XS
ol AR A

o x4 (el &
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 713 o HRs2
= 1,250,000 650,000 600,000
i 602,600 162,600 440,000
401 A& HIZ 2 CHYI 1,852,600 812,600 1,040,000
& 1,250,000 650,000 600,000
= 602,600 162,600 440,000
01 A& HI 1,817,573 777,573 1,040,000
OSMSSHEE =4
A& 1,527,573,000& = 14 1,527,573 777,573 750,000
& 1,221,978 621,978 600,000
i 305,595 155,595 150,000
OSWSSUBE ZH(2IH2)
290,000,0002 * 14 290,000 0 290,000
MEl= X4 230,000 100,000 130,000
= 100,000 100,000 0
= 130,000 0 130,000
401 A& HIZ 20| 230,000 100,000 130,000
= 100,000 100,000 0
2 130,000 0 130,000
01 Al&H] 230,000 100,000 130,000
OMEl= =4 Z & 200,000,000 * 14 200,000 100,000 100,000
= 100,000 100,000 0
= 100,000 0 100,000
OMEIE Z& JI=2ZA S|
30,000,000& * 14 30,000 0 30,000
MEEE X4 949,860 47,000 902, 860
201 ZEt2FH| 33,890 2,000 31,890
01 At 22l 33,890 2,000 31,890
OUBSE B48E 2 (20ME)
Z & 970,000& » 2004 1,940 2,000 A60
OWWOIZ YR 2HEY U SII0F 24
g 30,000,000& * 14 30,000 0 30,000
OIHa MyJl BS 2(504)
7,500& * 26073 1,950 0 1,950
401 Al Bl 2 CHYI 911,120 40,000 871,120
01 A& HI 911,120 40,000 871,120
OIlAl & dl] 911,120 40,000 871,120
OMBSE MO EXI(Z0IATY)
Z& 38,000,000 * 14l 38,000 40,000 22,000
ONYSE 20T &3
130,000,0002 * 174 130,000 0 130,000
OWWOIR AUZ EX YUY L 2HEI
=3 100,000,000& * 1A 100,000 0 100,000
OWWOIZ AYR HEAL
593,160,000& * 14 593, 160 0 593, 160
OWHO|2 MBSE Kot 0IBAE(ZIHE
) 49,960,000 * 14l 49,960 0 49,960




SN AR
B A

SE RN

£ SUZAH) - MIRAS - BAES Aol JE A =
4,850 5,000 A 150
4,850 5,000 A150
(20IarE )

2 4,850,0002 * 1M 4,850 5,000 A 150
ool 2,086,745 1,502,604 584, 141
= 64,082 59,550 4,532
2 962,445 662,445 300,000
= 36,400 14,800 21,600
= 1,023,818 765,809 258,009
BEMY | 480,000 0 480,000
= 300,000 0 300,000
= 36,000 0 36,000
z 144,000 0 144,000
= 480,000 0 480,000
2 300,000 0 300,000
= 36,000 0 36,000
z 144,000 0 144,000
400,000 0 400,000
z 250,000 0 250,000
= 30,000 0 30,000
= 120,000 0 120,000
AP 400,000 0 400,000

OFE Y 2 (HSBZSHDOIAM)
400,000,002 * 14] 400,000 0 400,000
2 250,000 0 250,000
= 30,000 0 30,000
z 120,000 0 120,000
0121 80,000 0 80,000
2 50,000 0 50,000
= 6,000 0 6,000
z 24,000 0 24,000
QIR R = B 80,000 0 80,000

O E Y (RSB SADUAM)
0,000,0002! * 14! 80,000 0 80,000
2 50,000 0 50,000
= 6,000 0 6,000
z 24,000 0 24,000
Uue RS X 130, 131 122,200 7,931
= 58,562 54,050 4,532
= 400 400 0
z 71,149 67,750 3,399
o x 12,731 4,800 7,931
= 6,932 2,400 4,532
= 50 50 0
= 5,749 2,350 3,399
02 212X = 0| & 12,731 4,800 7,931
= 6,932 2,400 4,532




SN ANYEAD
Mo og Y st
Sel ANE RS XY (et & 2
SN-EHH S (3H) - HEAY - BES Off &F oA )= e Hnz2
< 50 50 0
2 5,749 2,350 3,399
01 QIR =L E 12,731 4,800 7,931
OYMSHE L HEAS(Z2ToH)
793, 1002 * 10m 7,931 0 7,931
2 4,532 0 4,532
= 3.3%9 0 3,399
NYTE MADE XY 188,890 80,680 108,210
= 5,500 5,500 0
2 183,390 75, 180 108,210
@2 JIPEA 177,890 69,680 108,210
401 Al B2 2 CH bl 100,000 0 100,000
01 Al&H] 100,000 0 100,000
OF 22 (=)o Do 22 ZAl
100,000,0002 * 144 100,000 0 100,000
402 B2 XH2 0| F 67,890 59,680 8,210
01 I2ARES S 67,890 59,680 8.210
OFSY HeHIFD N (20AE)
AN 3,821,008 * 55 19, 105 20,000 £8%5
OF22 AX)| N (ESZ L0 (Z0AE
2) 247 1,939,250 * 20CH 38,785 39,680 £895
He2A RSAE FUl 10,000,002 * 1A 10,000 0 10,000
U x4 1,201,774 1,213,774 £12,000
2 662,445 662,445 0
= 0 14,400 A 14,400
, 2 539,329 536,929 2,400
AT x4 1,096,274 1,107,774 £11,500
= 614,445 614,445 0
2 481,829 493,329 A11,500
401 Al & H L2 THY| 1,088,474 1,099,974 A11,500
z 608, 984 608, 984 0
2 479,490 490,990 A11,500
01 Al&H] 1,076,994 1,004,494 A17,500
O[Al & HI] 1,076,994 1,004,494 A17,500
OHTE AT Ha(ZHAR)
AT 04,250,0008 * Tk 94,250 100,000 A5,750
02X M5 YT HE(2oAE)
2T 94,250,008 * fkn 94,250 100,000 A5,750
0YE HiH 2 200,021,008 * 2kn 400,042 406,042 6,000
2 280,030 284,230 A4,200
2 120,012 121,812 A1,800
02 22l 6.000 0 6.000
OYTAIA 22t 6,000,008 * 14! 6.000 0 6,000
z 4,200 0 4,200
2 1,800 0 1,800




i
rz
B

A
olg e 23l
Az x4 (Etel: &8
SAN-ZH-SA(FA) - NFAY - BES JE A HwsZ
=2 x4 22 105,500 106,000 A500
= 48,000 48,000 0
= 0 14,400 A 14,400
= 57,500 43,600 13,900
401 Al SHIL 2Ol 105,500 106,000 A500
z 48,000 48,000 0
= 0 14,400 14,400
= 57,500 43,600 13,900
01 Al&H| 104,636 105, 136 A500
O[Al & dl] 104,636 105, 136 A500
oStz I 2% 31,712,0008 * 3kn 95,136 95,136 0
= 47,568 47,568 0
= 0 14,270 A 14,270
= 47,568 33,298 14,270
OS&EH HE HX(Z0AE)
2% 9,500,0002 * 1A 9,500 10,000 A500
03 Al&2 =Tt 864 864 0
0S4tz JHl =0yl
2% 96,000,0008 * 0.9% 864 864 0
= 432 432 0
= 0 130 A130
= 432 302 130
Al THOHE X 739,344 697,023 42,321
= 213,276 213,213 63
= 100,518 101,585 A 1,067
z 425,550 382,225 43,325
N 639,918 597,435 42,483
= 165,574 165,574 0
= 86,573 87,657 A 1,084
= 387,771 344,204 43,567
MENY DB A 2,013 1,698 315
= 604 509 95
= 1,409 1,189 220
201 LBre Y| 2,013 1,698 315
= 604 509 95
= 1,409 1,189 220
01 Ak 22l 2,013 1,698 315
OtE olgZ e &
21,5008 * 1,3420H 2,013 1,698 315
= 604 509 95
= 1,409 1,189 220
MEAAIY XY 50,400 44,100 6,300
= 7,560 8,739 A1,179
z 42,840 35,361 7,479
101 Q121 50,400 44,100 6,300
= 7,560 8,739 A1,179
= 42,840 35,361 7,479




SN MRS
Z: A X
g

2l THaH e K
el dE X (etel: =3
SN CR(EH) - NRAY - BES Arel p/E-T" HRE2
04 JIZtH 22 NS ES 50,400 44,100 6,300
Outt=2ZAIA 212 Z&E 6,300,0008 = 82! 50,400 44,100 6,300
= 7,560 8,739 A1,179
i 42,840 35,361 7,479
A0 2l 151,037 114,762 36,275
201 get=24Ed| 80,438 78,062 2,376
01 AtR2tel 46,696 44,320 2,376
olger+=gtl] 15,676 16,300 AB24
OME KIYE A 4 (Z0AE)
ZE 23,7602 = 5004 1,188 1,500 N312
OMSXSE SEHI (20 MEZ)
3 & 46,533 = 9004 4,188 4,500 A312
olm = dl] 7,500 4,500 3,000
OdtE BA BRY Mst= AY
Z& 150,000& * 40€& 6,000 3,000 3,000
401 Al EHIZ 2OHY| 35,599 36,700 A1,101
01 A& HI 35,599 36,700 A 1,101
OdtE ZAIZ=A 2z 9 =3 FY|(20¢E
Z2) Z 3 908,333& * 64 5,450 6,000 AB50
Odt20e asH L 208 M= X (20
ArE2) ZE 197,4503 * 2000 3,949 4,500 A551
405 KtatE =S| 35,000 0 35,000
01 ML= EFH=HI 35,000 0 35,000
Oxtg Mg &2 MaEd ni(&ds, A5,
oM, AS, 01Y) 7,000,000& * 5CH 35,000 0 35,000
d=0eg L 4,403 4,540 A137
201 fEt2Ad| 4,403 4,540 A137
01 AtR2tel 4,403 4,540 A137
O B2 A HMS(2HNE)
28 7,157& * 40004 2,863 3,000 AN137
AETHA S+ 5,130 5,400 A270
401 AIEHIZ 2 0HHI 5,130 5,400 A270
01 Al€Hl 5,130 5,400 A270
Q&2 TahHXl TohsS MH ¥ Hel=d(=20la
2Z) 23 1,282,500  4ha 5,130 5,400 A270
te Holls 2l 99,426 99,588 2162
= 47,702 47,639 63
= 13,945 13,928 17
i 37,779 38,021 A242
S2E 2XNga A 16,563 16,563 0
= 8,618 8,500 118
& 2,383 2,409 A26
= 5,562 5,654 A2




SN MEEMD
M M2 WHLX
Sl AR HOlE A (25l &2

SA-EFH - SA(SAH) - MREAY - BES Off &F K JE A BlusZ
401 Al HIZ 2 HYI 16,563 16,563 0
= 8,618 8,500 118
S 2,383 2,409 N26
= 5,562 5,654 AQ2
01 A& H] 16,563 16,563 0
OSUEAN LY LIRFA(THAHA)
23 1,298,000& = 5ha 6,490 6,490 0
= 3,581 3,333 248
S 872 948 AT6
= 2,037 2,209 A1T2
OsZA2AX S THHM2(MAHAZ)
23 2,014,600& = 5ha 10,073 10,073 0
= 5,037 5,167 A130
s 1,511 1,461 50
= 3,525 3,445 80
=% Shtel ¢H 13,307 13,307 0
= 6,822 6,826 A4
S 1,945 1,930 15
s 4,540 4,551 A1
401 AIEHIZ S THYI 13,307 13,307 0
= 6,822 6,826 A4
< 1,945 1,930 15
= 4,540 4,551 AT
01 A& H] 13,307 13,307 0
SASmel USFA(HAHE)
Z & 646,800& * 5ha 3,234 3,234 0
= 1,785 1,659 126
S 435 469 N34
= 1,014 1,106 A92
OZY=ETmel MolM2(MHEHA)
d&d 2,014,600 * 5ha 10,073 10,073 0
= 5,037 5,167 2130
s 1,510 1,461 49
= 3,526 3,445 81
QoL AL &g 758 758 0
= 390 389 1
< 110 110 0
= 258 259 A
401 AIEHIZ S HYI 758 758 0
= 390 389 1
= 110 110 0
= 258 259 A
01 Al£Hl 758 758 0
O2elUR gy NaLH(HAHY)
Z& 151,600& * 5ha 758 758 0
= 390 389
S 110 110 0
= 258 259 A




SN MRS
B AR THEH X
H

Sl AR HOlE A (25l &2
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 )= e bRz
JIEFEOH XI& R 5,012 5,012 0

= 2,506 2,571 A65

= 752 727 25

2 1,754 1,714 40

401 Al &2 HIL 2O 5,012 5,012 0

= 2,506 2,571 A65

= 752 727 25

2 1,754 1,714 40

01 Al&t| 5,012 5,012 0
OJIEF T XIAEHI (TR B12)

2 1,002,4002 * 5ha 5,012 5,012 0

2 2,506 2,571 A65

= 752 727 25

2 1,754 1,714 40

JIEFHE XI& R 6,058 6,058 0

= 3,121 3,108 13

= 881 878 3

2 2,056 2,072 A16

401 A2 HIL 2O HI 6,058 6,058 0

= 3,121 3,108 13

= 881 878 3

= 2,056 2,072 A16

01 Al&t] 6,058 6,058 0
OJIEFHE KIA M (R B)

AT 151,4508 * 402 6,058 6,058 0

= 3,121 3,108 13

= 881 878 3

2 2,056 2,072 A16

S84 %N Y 5,238 5,400 £162

206 T2t 5,238 5,400 ~162

01 2t 5,238 5,400 A162

OSLHE SHES %X 2L (RULRY)

AT 14,9652 * 7004 * 53] 5,238 5,400 ~162

=4 ZHe Y5 8,272,263 7,492,644 779,619

| 2,771,833 2,771,833 0

= 373,461 249,197 124,264

2 5,126,969 4,471,614 655,355

oHE AP 25 955, 159 856,359 98,800

| 547,304 547,304 0

= 114,999 68,619 46,380

2 292,856 240,436 52,420

225t HESDHAL WA 102,210 99,000 3,210

= 40,880 33,000 7,880

2 61,330 66,000 A4,670

402 212t 20| 102,210 99,000 3,210

= 40,880 33,000 7,880

= 61,330 66,000 A4,670




SN A
By B4
ot

ok

SA-E . S(E) - MEAY - BES O & o4 o1& o SImE=ET
01 QItXI=2E X 102,210 99,000 3,210
OR2clsit HESHAIE HA
2,500,000& = 81.768= * 50% 102,210 99,000 3,210
= 40,880 33,000 7,880
= 61,330 66,000 N4,670
Mo 2& It el 42,750 16,500 26,250
S 17,100 6,600 10,500
= 25,650 9,900 15,750
BB A Z 42,750 16,500 26,250
L= 17,100 6,600 10,500
i 25,650 9,900 15,750
12 J|Et2 43 42,750 16,500 26,250
OJt= MolEE It K&
Z2& 1,500,000 * 575 * 50% 42,750 16,500 26,250
S 17,100 6,600 10,500
= 25,650 9,900 15,750
AN B20 XA 79,340 80,000 2660
gI2tXt=0l 79,340 80,000 A660
It =2 X 79,340 80,000 A 660
OFA &3 N&
2 & 350,000& = 453.37CH * 50% 79,340 80,000 2660
ZEASAIE SUHIAMY 70,000 0 70,000
= 28,000 0 28,000
i 42,000 0 42,000
gt t=01 & 70,000 0 70,000
= 28,000 0 28,000
= 42,000 0 42,000
It =28 70,000 0 70,000
O2EAM=E S CHat ALY
140,000,000& * 14! * 50% 70,000 0 70,000
= 28,000 0 28,000
= 42,000 0 42,000
2 32 a3t 942,123 257,800 684,323
S 93,176 16,590 76,586
= 848,947 241,210 607,737
SNE oIEHl X& 163,056 99,540 63,516
= 27,176 16,590 10,586
= 135,880 82,950 52,930
e A& Z 163,056 99,540 63,516
L= 27,176 16,590 10,586
i 135,880 82,950 52,930
12 J|Et2 a3 163,056 99,540 63,516
(OFSE= = eIEHl XA
Z& 1,580,000 = 17224 » 60% 163,056 99,540 63,516
S 27,176 16,590 10,586
= 135,880 82,950 52,930




S A S A D
M SH IS 25
©°He: SN2 FE 1= EEEEE]
2N -3 - c2(3H) - NEME - HES Ol &F2H J| & @ Hns
e N3s 84 395,051 2,630 392,421
201 82| 611 630 A19
01 At22t2|dl 611 630 A19
OSLEZ3E Z2I= HE(2SHAEZ)
A& 55,5453 « 1104 611 630 A19
301 LEEAZ 300,000 0 300,000
12 J|EIE2 A2 300,000 0 300,000
ORSESA(PEMH)MA EHHASX
1,000,000& * 150& 150,000 0 150,000
Ot N=8 Mo HdHd2 XA
50,000& * 3,000% 150,000 0 150,000
307 21201 & 1,940 2,000 A60
02 It F A B X 1,940 2,000 AB60
OstREZ3 I N (2o
A28 485,0008 * 4% 1,940 2,000 AB0
402 212t X201 & 92,500 0 92,500
01 QIZHXEE=X 92,500 0 92,500
Ot A2 XA
10,000& * 4,000kg * 50% 20,000 0 20,000
Oste &4 HE =St )| X
45,000,000€ * 1CH * 50% 22,500 0 22,500
Ot 2d w23 X
20,000& * 5,000 * 50% 50,000 0 50,000
Ssag =54 40,551 20,630 19,921
201 82| 611 630 A19
01 At 22l bl 611 630 A19
OFAEZSG EoH= HE(2HAEZ)
A 55,5453 * 11 611 630 A19
307 Q1201 & 1,940 2,000 A60
02 QI2tEAMNE X 1,940 2,000 A60
O&FEA BT I N (20aE2)
A 485,0008 * 4% 1,940 2,000 AB0
402 QI2F X201 & 20,000 0 20,000
01 It X=2EX 20,000 0 20,000
ORA HASZM XA
10,000& * 4,000kg * 50% 20,000 0 20,000
s 88 22 123,465 135,000 A 11,535
301 EtBAZ 123,465 135,000 A 11,535
12 JEIE2 &S 123,465 135,000 A 11,535
Ot 2B8+d HH XS (2oarE2)
AA 18,6202 * 11,0005 * 50% 102,410 110,000 AT,590




SN ARIEAD

o
=
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Olger2gY] 970 1,000 A30
ORHE 2ASE Y (20ME)
AF 194,0002 * 55 970 1,000 A30
AT 2 183, 146 187,156 4,010
AricHT] 2 183, 146 187,156 A4,010
HEACH AIEE2 FY| 42,750 45,000 A2,250
401 Al & HIL STHYI 42,750 45,000 A2,250
01 Al&H] 42,750 45,000 2,250
OLAI&HI] 42,750 45,000 A2,250
ONSAICHY T2 & TM(Z0ARZ)
A 15,750,0002 * 14l 15,750 18,000 2,250
zsne 140,396 142,156 1,760
401 Al & HIL STHH 35,240 37,000 1,760
01 Al&H] 35,240 37,000 1,760
OLAI&HI] 35,240 37,000 1,760
OUSAC JIRE SAULL(20AED)
2 89,0008 * 160S 14,240 16,000 1,760
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S AL
i C2 AL
el S 28X e (-
2N -3 - c2(3H) - NEME - HES 0] Ao pjEsifon Hl =2
S 2 ALz 7,245,620 6,569,050 676,570
2 1,279,000 1,279,000 0
= 5,966,620 5,290,050 676,570
cRexze] 1,460,892 972,050 488,842
CESI2e 56,480 50,480 6,000
201 LEL2AH| 31,030 25,030 6,000
02 222 31,030 25,030 6,000
OI[X+gt Aet] 24,300 18,300 6,000
OLZ2E4+E Y KAH(EZEH)
ZE 700,000 = 12" 8,400 2,400 6,000
&1 5H O 24 55,812 40,620 15,192
201 LEL2AH| 25,512 10,320 15,192
01 AL 22l 1,920 1,620 300
Ool1=Hl] 1,200 900 300
o422 I=y 2 150,000 * 8¢l 1,200 900 300
02 Z22=29H| 23,592 8,700 14,892
OI2ZR2YLHA] 23,592 8,700 14,892
Ox=22UIA HIRB
A3 500,000 * 128 6,000 2,520 3,480
ONE0IEES Y CTV M2
AA 62,0008 * 18I * 12¥ 13,392 3,780 9,612
OUEAC QT2 YILEHIX MIQ2
ZE 350,000 » 12" 4,200 2,400 1,800
CEAY| 1,348,600 880,950 467,650
401 Al & HI L 201 1,321,150 853,500 467,650
01 Al&H] 1,321,150 853,500 467,650
O[A A& AHHI] 20,000 0 20,000
ORNER QBT 2 HLEZAL AAEHES
5] 20,000,000 * 14l 20,000 0 20,000
O[AI&HI] 846,650 399,000 447,650
OHIZRTZ X2 (1SH) (=20 aE2
2% 8,901,6372 * 118 97,919 99,000 A 1,081
O02E & SOHEZZ2 S A2H(20 =2
) ZA 895,520 * 328km 293,731 300,000 AB,269
OAE S®MII2AX  150,000,0008 * 14! 150,000 0 150,000
OANELS T2 MDA DOITHE)
150,000,000 * 14l 150,000 0 150,000
OANZESY T2 HEZAHSHAL)
150,000,000 * 14l 150,000 0 150,000
ORNER AT E HLZA 23 NEX
Ab 5,000,000 * 14l 5,000 0 5,000
SHECE C2Y 5= 2,544,028 2,356,300 187,728
AE QA0S SHETZ SELIBA 335,728 300,000 35,728
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Bu: c2Adpe

el m0ECR CRY HE R

SA B HRA(SH) - MRAY - B 0 &t o4 01 o HIREY
207 A SOl 75,000 0 75,000
01 22 E 9| 75,000 0 75,000
OolgxE8494l] 75,000 0 75,000

0L DU-0SEY SHETE SLHTA

ML S (E2)X A 75,000,0003 * 14 75,000 0 75,000
401 A& B2 2 CHHI 260,728 300,000 N39,272
01 A& HI 260,728 300,000 AN39,272
OlEXoidl] 260,728 300,000 AN39,272

0ME Da-0=2S2H

— — L

EXHSHI (=0 &t E

Z& 260,728,0008 * 14 260,728 300,000 N39,272

oA NE-40t2t SHEZZ SHEHIA 102,000 150,000 A48,000
401 Al EHIZ 2O YI 102,000 150,000 A48,000
01 A& H 102,000 150,000 248,000
O[&AIE A 102,000 150,000 48,000

O A XNg-4IDtat2t SHEZZ SZISA
AN (20l & E2)
1

&34 102,000,000& * 14 102,000 150,000 A48,000

O[AI&Hl] 0 0 0

o2 MS-HIHA SOHEZZ SHEISA 200,000 0 200,000

401 AIEHIZ S THYI 200,000 0 200,000

01 A& H] 200,000 0 200,000

O[AI&HI] 200,000 0 200,000
o83 MS-FI2 sHEZZ HEZISA

00,000,000& * 14 200,000 0 200,000

sgZ ey Hal 7,989,178 7,277,713 711,465

= 281,840 281,840 0

= 2,496,811 3,075,611 /578,800

S 960,336 410,196 550,140

= 4,250,191 3,510,066 740,125

JIBEAIE R 2= 33,932 34,980 A 1,048

JIBtAIE EHIXI ALY 22,621 23,320 A699

201 L2 22,621 23,320 A699

01 AtR2telH 22,621 23,320 A699

olgxz] 22,621 23,320 AB699

O=2E= ZHIYXH (20 AEZ)

ZF 293,770 » 1188 22,621 23,320 A 699

=2 & Hl ZHIX& 11,31 11,660 A349

201 L2 11,311 11,660 A 349

01 AtR2telH 11,311 11,660 A349

olgxz] 11,311 11,660 A349




S AT
By sAAMY 23

SRl JIBAIE RAEs (&9 &)

2N -3 - c2(3H) - NEME - HES 0] Ao J)[| el Hl =2
OHl=2&H|l HHIYXS(S0AEZ)
A 257,050 * 1189 * 4L 11,311 11,660 A349
Qb AHH| 22| 12,227 12,604 N377
SHOHCHZY 2% 4=ZH| KR X2 12,227 12,604 AB77
201 L2 AH 12,227 12,604 AB77
02 2E2YH| 12,207 12,604 A377
O[AI&EHIKRXIHI] 12,227 12,604 A377
OBHoHIHZ L 4=ZH| L2/HI (20 A=)
ZE 44,1409 * 27704 12,227 12,604 A377
S JIBEA 3,579,094 2,966,396 612,698
2 439,000 1,017,800 A578,800
[= 621,000 130,860 490, 140
= 2,519,094 1,817,736 701,358
2H0] XA 172,232 181,296 A9,064
401 Al & HIL 2 HH 172,232 181,296 A9,064
01 Al&H] 171,000 180,000 29,000
O[AI&HI] 171,000 180,000 29,000
O2+0l BXHRIAIS (20aHE )
2% 85,500,0008 * 200 A 171,000 180,000 29,000
03 Al 2CHH 1,232 1,296 64
O2H0l ZXEHEIAY 20HI (20 aE2)
ZA 171,000,0002 * 0.72% 1,282 1,296 N
SCHX M2=X HE A 123,501 130,000 16,499
401 Al & H|IL 2 HH 123,501 130,000 AB,499
01 Al&H] 123,501 130,000 AB,499
OSZHX MK OHSAY(20AE2)
2E 41,166,670 * 3 A 123,501 130,000 AB,499
JIHGERZ SHEEAY 800,340 1,454,000 653,660
2 439,000 1,017,800 A578,800
[ 56,000 130,860 AT74,860
= 305,340 305,340 0
401 A& HI 2L 20| 800,340 1,454,000 653,660
2 439,000 1,017,800 578,800
[ 56,000 130,860 AT74,860
= 305,340 305,340 0
01 Al&H] 795,364 1,448,770 653,406
O[AlI&HI] 795,364 1,448,770 653,406
OJIA& BE2 SHIFAY
ZA 795,364,0008 * 1Al 795,364 1,448,770 653,406
= 435,392 1,014,139 A578,747
[ 55,730 130,389 74,659
= 304,242 304,242 0
03 A& 201 4,976 5,230 A 254




S AT
By sAAMY A3

&@: =X It RS (&9 HM
SH-EFHHA(FA) - NIRAE - BES O AFH J| &l el Hws2
OJH 3 &2 LAY 20l
Z2 & 802,460,770& * 0.62% 4,976 5,230 A 254
2 3,608 3,661 AB3
& 270 471 A 201
i 1,098 1,098 0
272 SYIBEUIAS 2,483,021 1,201,100 1,281,921
& 565,000 0 565,000
= 1,918,021 1,201,100 716,921
401 Al HIZ 20 2,263,021 1,201,100 1,061,921
= 445,000 0 445,000
= 1,818,021 1,201,100 616,921
01 Al &I 2,258,200 1,196,000 1,062,200
O[Al&HI] 1,240,200 1,196,000 44,200
OsSZEES A2 tHah) (20l aE2)
38 289,120,000& * 14 289,120 325,000 A 35,880
OS2 FHISAH(Z2 2t that) (204
32) 28 25,760,000& * 8km 206,080 230,000 223,920
OZ &M =2 HUISAHZHIAIY)
30,000,000& * 14 30,000 0 30,000
oSt SXZ| HEOIS 2P BAHE
HIANS) 14,000,000& = 14 14,000 0 14,000
o0l A2 =23l
60,000,000& * 14 60,000 0 60,000
OXl=d ZAllg s2EASAH(EEE2S)
30,000,000 » 14 30,000 0 30,000
= 30,000 0 30,000
OAEH 23028 s2EFSAH(HEH2S)
30,000,000& * 14 30,000 0 30,000
& 30,000 0 30,000
O23M 2 FJHIANS(HEHN25)
15,000,000& = 14 15,000 0 15,000
& 15,000 0 15,000
ONS NEZ 4P s2EHSAN(L-FE2S)
20,000,000& * 14 20,000 0 20,000
& 20,000 0 20,000
O&s N2 SRE sZTEESAM(HEEH2S)
20,000,000& 14 20,000 0 20,000
= 20,000 0 20,000
O&s M3el HE sZEESAH(HEH23)
30,000,000& * 14 30,000 0 30,000
& 30,000 0 30,000
Oy 52| AFES sZEYSA(LEH2S)
20,000,000& * 14 20,000 0 20,000
= 20,000 0 20,000
O=Md d2el 4XE0S sEXESAHEEA
25) 30,000,000& * 14 30,000 0 30,000
& 30,000 0 30,000
O=AMH S52l NS s2EEZESAHEEA
H3s) 20,000,000& * 14 20,000 0 20,000




S AT
By sAAMY A3

S sSX JlEtES (&8
SH-EFHHA(FA) - NIRAE - BES Ol koK /e HusZ
= 20,000 0 20,000
ONEH AEZR SREEFDAHALSAEHIS)
40,000,000 * 14l 40,000 0 40,000
(= 40,000 0 40,000
OZNH QA0 S2EEADAHAEHIS)
20,000,000 * {14l 20,000 0 20,000
< 20,000 0 20,000
OLHEH 8= L2 HHISAHLEENBE)
50,000,000 * 14l 50,000 0 50,000
(= 50,000 0 50,000
OZAME SHOIE S2ETXZAHASEHIZE)
30,000,000 * 14l 30,000 0 30,000
(= 30,000 0 30,000
Ogee Malgl SREAZAHAYEHIS)
30,000,000 * 14l 30,000 0 30,000
(= 30,000 0 30,000
Oitsg ag] S2EAZAHAEMIS)
60,000,000 * 14l 60,000 0 60,000
< 60,000 0 60,000
OgY 3loE F2lE §AUZ HHIZAH(=E
ool thEt) 40,000,0008 * {14l 40,000 0 40,000
Oats SHAGHE HE ZXHIAH(ZW O
3h) 30,000,000 * 14l 30,000 0 30,000
O4ats Hosd E42 HHISAH(Z2 LS
that) 40,000,000 * 14l 40,000 0 40,000
OHA LS5 242 FHZAHZL U2 T
3h) 20,000,000 * 14! 20,000 0 20,000
OHZA SsEE S22 FHISAH(Z2 DS
th&t) 20,000,0008 * {14l 20,000 0 20,000
O33 J|20I2 S2EXZAH(Z22IDS 3
20,000,000 * 14l 20,000 0 20,000
Ohl2 QHts S22 T EBAH(ZLIDS )
15,000,000 * 1Al 15,000 0 15,000
OCZ 59 s2M4E L 42 JHI2AHZE
o thEtH) 10,000,000 * 14! 10,000 0 10,000
OZAN Ha=E SIS =2 FHIZAHZ0
o tist) 30,000,0008 * {14l 30,000 0 30,000
OZMN SSE 42 FHISAH(Z2U W e
20,000,000 * 14l 20,000 0 20,000
O M HotENIS 42 JHISAH(Z LS
that) 18,000,000& * 14l 18,000 0 18,000
O2N S32 242 FHISAH(Z2 W tat)
20,000,000 * 14l 20,000 0 20,000
OZA DHALS HH4=2 =& S A2 U2 )
30,000,000 * 14l 30,000 0 30,000
ONSE Stillsd s2ZHS A2 et
20,000,000 * 14l 20,000 0 20,000
ONE 28l 2Hi2=2 HHIZAHZ2I 2
3h) 20,000,000 * 14! 20,000 0 20,000




S ALY
xﬁiH; '—043:1IOHE_|A <DDI-§|.
el =X JIgtEA CHel:
2N -3 - c2(3H) - NEME - HES 0] Ao I & Hl =2
OME 2502 242 HHIZAHZ0IDY
3}) 20,000,000 * 1Al 20,000 0 20,000
Ol stE5~SHH s2FHIBAH(Z22 02
3) 40,000,000 * 1Al 40,000 0 40,000
OO0l WXIE0ES =2 ZEAZAHZ DS ]
3}) 40,000,000 * 1Al 40,000 0 40,000
OAFRE SD|8t HHAIH(SHAHI)
120,000,00084 * 14l 120,000 0 120,000
03 Al& SCHH] 4,821 5,100 A279
OAFRR SHIBHEHIAIY SOHHI (20 A2
23X 1,339,000,0002 * 0.36% 4,821 5,100 A279
402 QI2E X0 A 220,000 0 220,000
[ 120,000 0 120,000
= 100,000 0 100,000
01 QIZtX=2E = 120,000 0 120,000
O=INIBHAIE HHIAFS (4HA) (BRI E2S)
120,000,000 * 14l 120,000 0 120,000
[ 120,000 0 120,000
02 QI2+CHEH AFRIH] 100,000 0 100,000
ODIYH Hate] H0E 2aAlE FHHIZAH
CHIAY 100,000,000 * 14l 100,000 0 100,000
F2ANES RIES 632,950 519,230 113,720
[ 185,000 125,000 60,000
= 447,950 394,230 53,720
S42 DESFHAIY 152,000 146,501 5,499
[ 76,000 56,000 20,000
= 76,000 90,501 A 14,501
401 A& HI L 20| 152,000 146,501 5,499
[ 76,000 56,000 20,000
= 76,000 90,501 A 14,501
01 Al&H] 152,000 146,501 5,499
O[AI&HI] 152,000 146,501 5,499
S42 PESSAY(EX)
A 152,000,0008 * 14! 152,000 146,501 5,499
[ 76,000 56,000 20,000
= 76,000 90,501 A 14,501
22 Al B4 A 69,255 72,900 N3,645
401 Al HI L 201 69,255 72,900 A3,645
01 Al&H] 68,400 72,000 23,600
O[AI&HI] 68,400 72,000 A3,600
OxC2lAE B A0 AR
ZE 6,840,0008 * 10004 68,400 72,000 23,600
03 A& 201 855 900 A45
OZClAlE 822 A 2EOHI (20 AHE )
ZA 95,000,000 * 0.9% 855 900 A45
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ool S2lMEE SN (eel: &
SN EB -GS - MBAY - BES 0 & 24 01 o HRE2
Y X2 25,928 27,292 A 1,364

401 Al HI L2 THY] 25,928 27,292 A1,364
01 A&t 25,650 27,000 A 1,350
O[AI&HI] 25,650 27,000 A 1,350
OUERE RNS4 (2R
2 2,565,0008 * 1094 25,650 27,000 A 1,350
03 Al & 2 OHHI 278 292 A4
OUFZE SNUEHLTA SUHI(20&4EZ)
2 25,650,002 * 1.08% 278 292 A4
AR 2BHLA 200,000 80,000 120,000
= 80,000 40,000 40,000
T 120,000 40,000 80,000
401 A& L S THY| 200,000 80,000 120,000
= 80,000 40,000 40,000
2 120,000 40,000 80,000
01 Al &t 200,000 80,000 120,000
O[AI&HI] 200,000 80,000 120,000
OXI#XI 81 L Aie
2 200,000,008 * 14! 200,000 80,000 120,000
= 80,000 40,000 40,000
= 120,000 40,000 80,000
HEX Mg 22w 11,730 13,500 A1,770
401 Al HI L LR 11,730 13,500 A1,770
01 Al &t 11,730 13,500 A1,770
O[AI&HI] 11,730 13,500 A1,770
OXM+X HE 2HH A (20L4=Y)
23 1,955,008 * 6902 11,730 13,500 A1,770
SUSUHRE +HAN 21,037 21,037 0
201 L Br2 | 21,037 0 21,037
01 AFR2t2IHI 21,037 0 21,037
Ol2et4HI] 21,037 0 21,037
OSYUSUHBE +EAANS2E
21,037,0008 = 14! 21,037 0 21,037
401 Al HI L LR 0 21,037 ~21,037
01 A&t 0 21,037 ~21,037
O[AI&HI] 0 21,037 ~21,037
OSHSHBT +TAA| 23 08l 0 21,037 ~21,037
=2 DEX LAY 95,000 100,000 5,000
401 Al HI L2 OHY] 95,000 100,000 5,000
01 A& 95,000 100,000 A5,000
OlAI&HI] 95,000 100,000 5,000
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H: sHHZM2A 2435
2l xCANEE SXE el
2N -3 - c2(3H) - NEME - HES A oH pjEsifon 2

O=SZ2WEX XA (20 AEZ)
ZE 9,500,000 * 100 A 95,000 100,000 25,000
X oAz 28,500 30,000 A 1,500
SAXIW O AAX 28,500 30,000 A1,500
401 A& HI 220 28,500 30,000 A1,500
01 Al&H] 28,500 30,000 A 1,500
O[AlI&HI] 28,500 30,000 A 1,500
OUIlA &X L SAZ2(2HAEZ)
A 7,125,0008 * 402 28,500 30,000 A 1,500
At 2ZHEX 2el 179,550 189,864 10,314
ZHEX HZE s28% 85,500 90,000 24,500
401 A& HI L =20 85,500 90,000 24,500
01 Al&H] 85,500 90,000 24,500
O[AlI&HI] 85,500 90,000 24,500
OZEX S22 2| L B2(=20aE2)
ZA 28,500,000 * 3044 85,500 90,000 24,500
HE =2 TERAY 94,050 99,864 N5,814
401 A& HI L =20 94,050 99,864 N5,814
01 Al&H] 94,050 99,000 A4,950
O[AlI&HI] 94,050 99,000 24,950
OUHX =2 ZEAA (20 A=)
AA 47,025,000 * 2.0km 94,050 99,000 24,950
03 Al 20| 0 864 864
O S2 ZEAY SULI(20AEZ)
23X 0 0 864 864
SHAARE 22 210,470 221,584 A11,114
SHIHE SZ2EEZA 105,235 110,792 NA5,557
401 A& HI L =20 105,235 110,792 NA5,557
01 Al&H] 104,500 110,000 25,500
O[AlI&HI] 104,500 110,000 25,500
OSHIANE sZ ZEHZAHZWAEZ)
ZA 9,500,0002 * 110HA 104,500 110,000 25,500
03 Al& 20HH] 735 792 A57
OSHIANE s2 IEZA BEUHI(20 A=
) ZX 102,000,000 * 0.72% 735 792 N4
SHANS 2,122 FH| 105,235 110,792 A5,557
401 A& HI L =20 105,235 110,792 A5,557
01 Al&H] 104,500 110,000 A5,500
O[AlI&HI] 104,500 110,000 25,500
OSY AR 2. +2 Hul(2uaE2)
ZA 9,500,0002 * 110HA 104,500 110,000 25,500
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SNBSS - MBAY - BES arey pJE-T s
03 A2 2 0Hd| 735 792 YaN<Y4
OSd FAR . Ui+=2 Ul 2UbI(20¢H
Z) Z& 102,000,000& =* 0.72% 735 792 A7
QI2t THE ALY 387,900 378,500 9,400
JIHSEHZ LS A Q2 ALS 132,000 152,600 A20,600
402 SI 2t 201 & 132,000 152,600 220,600
02 QI2+CHH AL H 132,000 152,600 A 20,600
OJIHBHZ ZEIAL ZHIRE=
Z & 132,000,000& * 14 132,000 152,600 220,600
SYHUMIIBAIE SPEFZ UAHAALS 130,000 100,000 30,000
402 BI 2201 & 130,000 100,000 30,000
02 QI2+CHEE AL H 130,000 100,000 30,000
Osglatd|er sHE-2 FHIAMY
2 & 65,000,000 = 14 65,000 100,000 235,000
OYYUTUETT 20IY+T LXBA
65,000,000& * 14 65,000 0 65,000
ot &l 7,984,508 7,073,503 911,005
= 3,509, 344 3,509, 344 0
= 49,000 39,000 10,000
= 4,426,164 3,525,159 901,005
Aot & EH 2,310,338 2,267,000 43,338
= 1,000,000 1,000,000 0
= 1,310,338 1,267,000 43,338
HEHOIE HHIALY 2,310,338 2,267,000 43,338
= 1,000,000 1,000,000 0
= 1,310,338 1,267,000 43,338
401 AIEHIZ 2O Y| 2,310,338 2,267,000 43,338
= 1,000,000 1,000,000 0
= 1,310,338 1,267,000 43,338
01 Al Hl 2,302,206 2,258,868 43,338
OMENSHE =AAY AL (ZSXH)
43,337,440& » 14| 43,338 0 43,338
Aot 5,382,733 4,510,534 872,199
= 2,509,344 2,509,344 0
= 31,000 26,000 5,000
= 2,842,389 1,975,190 867,199
208 AEE S 5,208,638 4,340,344 868,294
= 2,509,344 2,509,344 0
= 2,699,294 1,831,000 868,294
401 Al EHIZ 20hY| 5,208,638 4,340,344 868,294
= 2,509,344 2,509,344 0
= 2,699,294 1,831,000 868,294
01 Al Hl 5,195,088 4,326,794 868,294
O[AI&Hl] 5,195,088 4,326,794 868,294
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2N -3 - c2(3H) - NEME - HES 0] Ao J)[| el Hl =2
OSXZH XM AGSHE HH|(20HAEZ)
23X 190,000 = 150m 28,500 30,000 A 1,500
OZ2XH 4 ASHA HH|(Z20AEZ)
ZA 190,000 * 150m 28,500 30,000 A1,500
O2FM U2 ASHA HHUI(2HAEY)
23X 190,000 = 150 28,500 30,000 A1,500
O2FH 24 ASHAE HHI(2HAEZY)
23X 190,000 * 150m 28,500 30,000 A1,500
OZMY Y AGHA HH|(2H A=)
23X 316,333 * 150m 47,450 50,000 A2,550
OSHAGY DY ASHE HH|I(S0AZEZ)
ZA 190,000 * 150m 28,500 30,000 A 1,500
OAGHE HHIAIY
ZA 5,005, 138,000 » 14l 5,005, 138 4,126,794 878,344
= 2,502,569 2,502,569 0
= 2,502,569 1,624,225 878,344
ASHE |SXl2e 112,095 118,190 26,095
201 LA 21,180 21,900 AT20
02 2229 21,180 21,900 AT20
Ol¢ 2] 17,280 18,000 AT20
OAsE =AXH SFUH(=20AER)
ZE 1,500 * 152 * 644+ 128 17,280 18,000 AT20
401 Al&EHI L 20| 90,915 96,290 N5,375
01 Al&H] 77,435 82,090 A4,655
O[Al&HI] 46,550 51,205 A4,655
OA0 HH|(20aE2)
ZA 350,000 * 133044 46,550 51,205 4,655
03 Al& 20HH] 13,480 14,200 AT20
OSZ4+48 L SIHL22(2HAEY)
ZA 674,0008 * 202 X 13,480 14,200 AT20
ENE =4 62,000 52,000 10,000
[ 31,000 26,000 5,000
= 31,000 26,000 5,000
401 A& HI L =20 62,000 52,000 10,000
[= 31,000 26,000 5,000
= 31,000 26,000 5,000
01 Al&H] 62,000 52,000 10,000
O[AI&HI] 62,000 52,000 10,000
EIRE ZFAAMY AlAY|
2 62,000,0008 * 14l 62,000 52,000 10,000
[ 31,000 26,000 5,000
= 31,000 26,000 5,000
Xlots 2e| 147,000 155,000 28,000
KXot HZ2 2el 147,000 155,000 /8,000
401 Al H 2L 20| 147,000 155,000 A8,000
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- EH - HA(SAH) - MRAE - BES oH JE A HusZ
NEE 147,000 155,000 8,000
O[A&HI] 147,000 155,000 8,000

OMIEX =¥ X5t FEAH(Z0AEZ)
4,600,000% * 20042 92,000 100,000 £8,000
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202 O4H| 2,300 900 1,400
01 2U0ddl 2,300 900 1,400
OAlAIHE I & SXEAE =& 0]
20,0002 * 30! x 23.33Y 1,400 0 1,400
207 & RIH 317,400 266,200 51,200
01 R =AY 317,400 266,200 51,200
OplEeI NEHZIUH HESHA
31,200,000 * 1Al 31,200 0 31,200
OA=S FEF =4 SAY|
20,000,000 = {14l 20,000 0 20,000
401 A& HI L =20 400,000 300,000 100,000
01 Al&H] 400,000 300,000 100,000
OHES BT BX0HLY L XEE &
{H| 2,000,000 * 50m 100,000 0 100,000
CAZ2XS 600,000 500,000 100,000
CAZZZEAY 600,000 500,000 100,000
401 Al HI 2L 20| 300,000 500,000 200,000
01 Al&H] 300,000 500,000 200,000
O[AI&HI] 300,000 500,000 A200,000
OGS AZEEZLAISHI (20AE2)
ZA 50,000,000 * 14l 50,000 100,000 250,000
OUSRYMNENLI 22 2R X4 (403-022
) a3 02 0 300,000 300,000
O&s 2351 ZHE4X
A 250,000,0008 * 14! 250,000 100,000 150,000
403 XX SHRIS RH=20| A 300,000 0 300,000
02 2| 2tS 0l CHEHOH B AF HI 300,000 0 300,000
OMSEYNEHSR 22X A (401-0101 A
) 50,0002 * 6,000m 300,000 0 300,000
I AT 2 1,000,000 500,000 500,000
= 500,000 0 500,000
= 500,000 500,000 0
DIl A2 A 1,000,000 500,000 500,000
= 500,000 0 500,000
= 500,000 500,000 0
401 A& HI L =20 1,000,000 500,000 500,000
= 500,000 0 500,000
= 500,000 500,000 0
01 Al&H] 996,850 500,000 496,850




A
I‘IiH:
C}—Ol:

2N -3 - c2(3H) - NEME - HES 0] Ao pjEsifon Hl =2
O[AI&HI] 996,850 500,000 496,850
OJIFYU MBI (2Q2FME 2L )AL (A
SEHES) ZA 996,850,000 * 14l 996,850 500,000 496,850
= 496,850 0 496,850
= 500,000 500,000 0
03 A& 201 3,150 0 3,150
OJ| LML (OSIIME L)AL (L
HH53 )2yl 3,150,000 * 14l 3,150 0 3,150
= 3,150 0 3,150
CAHECSZ2HEANY 3,769,818 3,754,818 15,000
gorsAN CAHEC2MA 1,383, 159 1,243,159 140,000
401 A& HI L =20 1,383, 159 1,243,159 140,000
01 Al&H] 1,376,344 1,236,344 140,000
O[EXIHHI] 812,000 672,000 140,000
O__'.!.—_.-HINJ_:-{ACE'_I!:II |, }E E/\|j;||%|‘_|‘:_ jH/é_‘
Ab EXIOHHI (20l AR )
2 112,000,0008 * 14! 112,000 172,000 260,000
0¥ Ml TAHEEZZ2 HEZA
200,000,000 * 14l 200,000 0 200,000
ASSHA CAHECZIHA 2,386,659 2,511,659 A 125,000
401 A& HI 220 2,386,659 2,511,659 A 125,000
01 Al&H] 2,378,580 2,503,580 A 125,000
OlEXHHI] 1,349,000 1,474,000 A 125,000
OKESEY TAHEZTZ2MEZ AL EXIOHLH
(2oaE2) ZAE 1,075,000,0008 * 14 1,075,000 1,200,000 A 125,000
SAIDIBIAIE &= 1,091,685 936,685 155,000
CAANEZS RX2e 237,500 250,000 A 12,500
401 A& HI L =20 237,500 250,000 A 12,500
01 Al&H] 237,500 250,000 A 12,500
OAMIIRl RS M 2 AT (20 8E2)
ZA 87,500,000 = 14l 87,500 100,000 A 12,500
SAIAIEES FH 819,300 651,800 167,500
401 A& HI L2 819,300 651,800 167,500
01 Al&H] 817,500 650,000 167,500
O[AlI&HI] 817,500 650,000 167,500
O0YE TAHEZZ IMNLEZEHSAHE
Ol AFE ) ZA 367,500,0002 * 1Al 367,500 400,000 232,500
OYEIDIE~HEANZ AT HIZA
317,460,317.462 * 0.630km 200,000 0 200,000
XDt xd 5,017,112 4,633,112 384,000
[= 40,000 0 40,000
= 4,977,112 4,633,112 344,000
AR XL AY 40,000 0 40,000




2A:
DS AHE
&

X ZH
o=

S AIDHE 2t

Agolgtxd

SNBSS - MEAY - BES Aboy 01 o bz 2
= 40,000 0 40,000
401 Al HIS 2 CHYI 10,000 0 10,000
& 10,000 0 10,000
01 A& HI 10,000 0 10,000
OlAI&HI] 10,000 0 10,000
O0IYH gatg| AL AT A
10,000,000& * 14l 10,000 0 10,000
& 10,000 0 10,000
402 SI2HXH201 ™ 30,000 0 30,000
& 30,000 0 30,000
01 BIZt =28 = 30,000 0 30,000
OlAI&HI] 30,000 0 30,000
OANSH &E0IE S AUFESA
30,000,000& * 14 30,000 0 30,000
& 30,000 0 30,000
FU=FAY 2,366,592 2,071,592 295,000
401 A& HIS 2 CHYI 2,366,592 2,071,592 295,000
01 A& HI 2,355,000 2,060,000 295,000
O[Al&HI] 2,335,000 2,040,000 295,000
O AN W3~ HUMNFREIt s2EH
=2\ Z23 & 0 30,000 230,000
OZAM HHES s2EZF A
70,000& * 428.57m 30,000 0 30,000
Ozdot:el =2 FBISA
50,000,000& * 14 50,000 0 50,000
OZ HALE sZ2HH=2FH|
100,000& = 300m 30,000 0 30,000
O¢l= 0IES OI22td OtAZEE
13,000& * 2,692.3m’ 35,000 0 35,000
O4l= XIS0tS Ot=sot OtA2EHE
13,000& * 2,307.69m 30,000 0 30,000
o0l JIS0t= OtAE XN RIS A
13,000& * 3,846.15m 50,000 0 50,000
OLXEH AKX =XE ZdSA
100,000,000& * 14 100,000 0 100,000
FUSEHAY 2,610,520 2,561,520 49,000
401 Al Bl 2 CHHI 2,415,520 2,561,520 A 146,000
01 Al &l 2,410,000 2,556,000 A 146,000
O[Al&HI] 2,410,000 2,556,000 A 146,000
OATE FRUSEHAY
28 2,260,000,000& * 14! 2,260,000 2,556,000 A296,000
OALTE FUSHAIG (SHAAAL)
150,000,000& = 14 150,000 0 150,000
402 SI2HXH201 ™ 195,000 0 195,000
01 It X222 X 195,000 0 195,000




M SAIDHE D

I S ADNY

SCEPNE=BIETESE EEREED
SN EB -GS - MBAY - BES 0 & 24 p/E-T" {imE=Eh
OANESZ=0ts s4Mg2 2502+
20,000,000& = 14l 20,000 0 20,000
OAS2EHOIE RSE+3SM
15,000,000& = 14| 15,000 0 15,000
OASHZ0IS 222+ 10,000,000& * 14| 10,000 0 10,000
OANBHMHellts a2
10,000,000& = 14| 10,000 0 10,000
OolgxXxel 2&0s st M=
10,000,000& * 14 10,000 0 10,000
Ostét E0IS ZSHD AF
10,000,000& = 14 10,000 0 10,000
Ostet 80t EX4 &1
10,000,000& = 14 10,000 0 10,000
Ostah 2ot RUHAIE EHIALY
15,000,000& * 14 15,000 0 15,000
Osgtat stH0tE 222+ 10,000,000& = 14! 10,000 0 10,000
Otfs SLENE FUSS SHAE A=
20,000,000& 14 20,000 0 20,000
Oty I3 Nte3sd¥L &=
20,000,000& * 14 20,000 0 20,000
Oz M5 Otz 2434
20,000,000& = 14! 20,000 0 20,000
Ots =8d DS 2=+&H|
5,000,000& * 14! 5,000 0 5,000
O&s =SO0HIIE Helol SN2 22 I A
20,000,000& 14 20,000 0 20,000
st2A=RE3 29 1,097,767 207,767 890,000
S 400,000 0 400,000
= 697,767 207,767 490,000
st=A=8e3 N 197,767 207,767 A 10,000
401 Al EHIL 2OHY| 182,417 192,417 A 10,000
01 A& HI 182,417 192,417 A 10,000
Oft=ugts] A2 HEMS(SHESHMEE)
(2oaE2) 23 182,417,000& * 14 182,417 192,417 A 10,000
StE2A=HE | MNE X 900,000 0 900,000
= 400,000 0 400,000
i 500,000 0 500,000
307 21Ztol 900,000 0 900,000
= 400,000 0 400,000
= 500,000 0 500,000
04 QIZHHALE & 900,000 0 900,000
ORMi2g| st=2A=8e3  900,000,000& = 14l 900,000 0 900,000
= 400,000 0 400,000
= 500,000 0 500,000
LS MO EHE 15,059,322 15,059,322 0
& 10,247,000 10,247,000 0




SN EARS D
B AUs MO EN Y
ool SRATKSE Y (sl @
DA - CR(SH) - MPAY - BYS Ofl AF o4 713 o HRs2
= 77,550 77,550 0
i 4,734,772 4,734,772 0
SHATKSEFHI 6,824,000 8,350,750 A 1,526,750
= 4,466,000 5,551,000 A 1,085,000
= 2,358,000 2,799,750 A441,750
SLAPIATIA OIS EE N A 4,875,750 4,875,750 0
z 3,465,000 3,465,000 0
i 1,410,750 1,410,750 0
401 A& Bl 2 CHYI 4,287,870 4,875,750 A 587,880
= 3,053,484 3,465,000 A411,516
i 1,234,386 1,410,750 A 176,364
01 A& HI 4,274,705 4,862,585 A 587,880
O[Al&HI] 4,274,705 4,862,585 A 587,880
OStMBIATIX DISEE LA
Z2&E 4,274,705,000& = 14 4,274,705 4,862,585 A 587,880
= 3,053,484 3,465,000 A411,516
= 1,221,221 1,397,585 N 176,364
402 QI2t X201 ™ 587,880 0 587,880
= 411,516 0 411,516
i 176,364 0 176,364
01 2tXRI2E X 587,880 0 587,880
OBtABIATHRIDIS SN 2B & ol Fy)
o 734,850,0002 * 80% 567,880 0 567,680
z 411,516 0 411,516
i 176,364 0 176,364
MSSAMA SEEHI 1,948,250 3,475,000 A 1,526,750
= 1,001,000 2,086,000 A 1,085,000
2 947,250 1,389,000 A441,750
401 A& HIZ 20 1,948,250 3,475,000 A 1,526,750
& 1,001,000 2,086,000 A 1,085,000
2 947,250 1,389,000 A441,750
01 Al€Hl 1,941,236 3,465,617 A 1,524,381
CINEED 1,941,236 3,465,617 A1,524,381
OMBESATNZEEHIAIY (HAOISEHA
goz) Z2& 1,941,236,000& = 14! 1,941,236 3,465,617 A 1,524,381
= 996,090 2,079,419 A 1,083,329
i 945,146 1,386, 198 A441,052
03 Al & = CHY| 7,014 9,383 A2,369
OXMBSSATIXEE HHIAY Al&2OHEI (M0}
SEXHMNE2E) 7,014 9,383 A2,369
Z2& 1,948,250,000& = 0.36%
= 4,910 6,581 A1,671
= 2,104 2,802 A 698
HAHLSEEHI 4,992,858 4,992,858 0
= 3,495,000 3,495,000 0
= 74,893 74,893 0
= 1,422,965 1,422,965 0




SN EARS D
B AUs MO EN Y
el AP EE Y| (sl &
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 713 o HRs2

AOIERAY SEDSEENLAL 828,572 828,572 0

z 580,000 580,000 0

= 12,429 12,429 0

2 236, 143 236, 143 0

401 A& HIZ 2 CH Y| 708,572 828,572 A120,000

& 496,000 580,000 284,000

& 10,629 12,429 A 1,800

= 201,943 236,143 A 34,200

01 Al&HI 703,352 823,352 A120,000
ORIERAY SENSTHNLAY I =2H= (4

02-022 ) 33 0l 0 20,000 A120,000

z 0 84,000 84,000

= 0 1,800 21,800

2 0 34,200 A34,200

402 BIAXH2 0| H 120,000 0 20,000

z 84,000 0 84,000

= 1,800 0 1,800

2 34,200 0 34,200

02 DI 2HCH 8 AF 21 b 120,000 0 20,000
OZUERAY SENSTHNLAY I 2H= (4

01-010l A ) 120,000,000& * 1A 120,000 0 120,000

= 84,000 0 84,000

= 1,800 0 1,800

= 34,200 0 34,200

A0S d 2 g 1,703,893 177,143 1,526,750

= 1,209,000 124,000 1,085,000

= 2,657 2,657 0

= 492,236 50,486 441,750

A S LAY 1,703,893 177,143 1,526,750

z 1,209,000 124,000 1,085,000

& 2,657 2,657 0

2 492,236 50,486 441,750

401 Al HIZ 20 1,703,893 177,143 1,526,750

= 1,209,000 124,000 1,085,000

& 2,657 2,657 0

= 492,236 50,486 441,750

01 A& HI 1,698,423 177,143 1,521,280
OHANSILANA (MBSATHNSSHYI AL

D) 1,521,280,0008 * 14! 1,521,280 0 1,521,280

z 1,085,000 0 1,085,000

= 436,280 0 436,280

03 Al& =01 5,470 0 5,470
OMANDISELANY ANERUE(4BSATNE

SHHIALOIA)  1,519,400,0002 * 0.36% 5,470 0 5,470

HEY 2L ZHI(SAIIHZ D) 63,813 63,213 600

Jl=2Z4l 63,813 63,213 600
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N = 0l & AF & F Al A

e
Za: X2ols 2% g

el o3 2d)|sta= (&te: @2
2N -3 - c2(3H) - NEME - HES A oH pjEsifon Hl =2
Ol 3| AF2 1t 764,784 756,699 8,085
Xegols 29 X 710,205 701,159 9,046
o3l 2yl s 199,091 198, 145 946
oz 2H X 140,354 137,591 2,763
201 L2 AH 58,920 60,743 A 1,823
01 AL 2t2lH] 29,994 30,922 928
Olger=2H|] 28,874 29,802 N928
oXgeg2d ¥ odgs &
20aE2) 2 788, 788 1,716 928
02 2B2YH| 28,926 29,821 895
O[2222 2 HAM] 10,386 11,281 895
OSHEES UL 2EZ (20 AER) 1,130 2,025 A895
0SEJIRH ZA 1,750 * 508.570H 890 1,785 A 895
202 04 Hl 34,280 28,280 6,000
04 2 M 304 H 17,300 11,300 6,000
Oo & el =N
A 3,750,000 * 401 x 13] 15,000 9,000 6,000
301 Yt AE 9,390 9,680 A 290
08 QIBIZH 04| 6,189 6,380 A 191
OSEENAI I H2H U (20
Z3A 1,309,0008 * 13 1,309 1,500 A 191
10 HAIAHI B A2 1,940 2,000 AB0
OO2l3|8iAb 2 QFB NG EHAXBA (20 AE
2) 23X 1,940,0008 * 13 1,940 2,000 B0
12 JIEtB &2 1,261 1,300 A39
OMEZONH BAZ(20AE2
Z3A 50,0008 * 11.220! 561 600 A39
401 A& HI L =20 7,350 13,000 A5,650
01 Al&H] 7,350 13,000 A5,650
Qo &HA LAZAH(20AEZ)
23X 7,350,0009 * 1Al 7,350 8,000 AB50
OaUL 3loal SAZBA 0 5,000 A5,000
405 XtAHE SH| 20,326 15,800 4,526
01 MY EEFSH| 20,326 15,800 4,526
023 3loal 3o/ RyI| PY(2HMEY)
2A 4,763,0008 * 2CH 9,526 10,000 A4T74
093 422 Mtz 5,000,000 * 1CH 5,000 0 5,000
JF¥sE B8 58,737 60,554 A1,817
201 L2 AH| 58,737 60,554 A1,817
01 AL 22| 58,737 60,554 A1,817
Olger=2H|] 40,737 42 554 A1,817




A 23 AR
g g 24 N2

=B EEEPTEE (el @2
SA-E . S(E) - MEAY - BES 0l & o o1& o SImE=ET
098l LA L2H(=0EY)
Z& 15,183& * 1,000% 15,183 17,000 A1,817
SEEgs 511,114 503,014 8,100
SIPSE S RSPl 511,114 503,014 8,100
205 22| 504,514 496,414 8,100
R EF+E 171,180 163,080 8,100
OolE BF+g
Z& 1,585,000& » 92 » 12& 171,180 163,080 8,100
HE2FZHI (S ALR L) 54,579 55,540 A 961
o3 gy Jl23dl 54,579 55,540 A 961
JI=ZHl 49,383 50,240 A857
201 L2 27,703 28,560 AB57
01 AFR 2t eld| 19,448 20,050 A602
Ool=l] 6,328 6,930 A602
ORNESY SUHN(ZUNE)
2 & 6,328,000& = 14| 6,328 6,930 A 602
02 32244 8,255 8,510 A 255
Ol22e3 ¢ WAl 8,255 8,510 A 255
O=BoT U B304, MUY YEFY|
S (=olaE )
Z 3 50,0002 « 3CH = 9.1 1,365 1,620 A 255
H2RAAI|=2E 5,196 5,300 A 104
201 get2Ad| 3,356 3,460 A 104
01 AR 2t 2ldl 3,356 3,460 A104
OHOINERE EH 2 (W &4E)
Z 3 320,000& * 100 = 3.6753l 1,176 1,280 A 104




N = 0l & AF & F Al A

SN EAL
HE: AY B

CHel: BRACRAIL JIBTE (el &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 p[E-Ll HlnE2
4,317,045 4,031,976 285,069
2 133,316 102,716 30,600
| 652,441 602,001 50,350
= 5,671 5,671 0
= 216,912 206,885 10,027
2 3,308,705 3,114,613 194,002
AL B 2,635,306 2,423,149 212,157
2 29,999 29,999 0
| 488,239 425,971 62,268
= 5,671 5,671 0
< 168,831 158,246 10,585
2 1,942,566 1,803,262 139,304
SAARAIL DB RE 84,108 65,708 18,400
2 22,469 22,469 0
= 2,810 2,810 0
2 58,829 40,429 18,400
A0 ALTY) 41,235 28,735 2,500
401 A& HI L S THY| 41,23 28,735 12,500
01 Al&H] 41,235 28,735 2,500
OR2ANA &5 IIZE RALI(AZ, 54, 012)
M 3,000,009 * 34 9,000 6,000 3,000
OUSHATA HSUHFCH|
11,2672 * 355 4,000 0 4,000
O2AA CCTV AxIH] 5,500,0002 * 14 5,500 0 5,500
A ABHY 7E 9,165 3,265 5,900
405 X443 S| 9,165 3,265 5,900
01 AU SEH S| 9,165 3,265 5,900
0224 ABA HHAAD| 2
3,000,002 * 1CH 3,000 0 3,000
OUFTBH P (L0, YR0HS)
1,100,008 * 2CH 2,200 0 2,200
ONSBAAE P (DY, £XH)
350,000 * 2rH 700 0 700
BB AHASY 542,245 362, 180 180, 065
o] 43,262 3,219 40,043
= 20,847 651 20, 196
2 478,136 358,310 119,826
NeEs U YES SN 1,000 1,500 AB00
| 700 1,050 A350
2 300 450 A150
201 YEr2 Y| 200 700 AB00
| 140 490 A350
2 60 210 A 150
01 A2 22l 200 700 A500
OMHoIBNRAY SUS ME L 29|
AT 200,008 * 1E 200 700 AB00




SN BAA
g 28 38
c©el: 2 MHIAR2Y (e
SN -3 S2ARAH) - MFAY - BES Ol &F 8 I8 BlusZ
J| 140 490 A350
o 60 210 A150
oA ASA HBZE A4 K& 80,785 0 80,785
7| 40,393 0 40,393
& 20,196 0 20,196
o 20,196 0 20,196
101 124y 29,000 0 29,000
) 14,500 0 14,500
& 7,250 0 7,250
o 7,250 0 7,250
04 |2 HZ22NSE= 29,000 0 29,000
Ostojet AASTAY M2d 2]
1,500,000 = 2021 » 83 24,000 0 24,000
J| 12,000 0 12,000
LS 6,000 0 6,000
o 6,000 0 6,000
Oftojet AASTAY M2 JHEER
125,0002 » 2¢1 * 8 2,000 0 2,000
J| 1,000 0 1,000
& 500 0 500
i 500 0 500
Ogtoot ALSIANY H2RE EAH3
1,000,000& = 2¢1 2,000 0 2,000
) 1,000 0 1,000
& 500 0 500
o 500 0 500
Oftojet ALZTAY M2 oY
20,0003 = 201 = 26X 1,000 0 1,000
) 500 0 500
& 250 0 250
o 250 0 250
201 Yer2 | 7,560 0 7,560
) 3,780 0 3,780
< 1,890 0 1,890
o 1,890 0 1,890
01 Ar2teltl 5,560 0 5,560
Oftoet AL STANY 225 7
27,1003 » 20& * 53l 2,710 0 2,710
) 1,355 0 1,355
& 677 0 677
i 678 0 678
Ostojet A2S8 M2RE 7US MA
70,0002 = 5¢1 350 0 350
) 175 0 175
& 88 0 88
o 87 0 87
Ostojet AL EF HBEHAMY EE2S M=
5,0008 * 4Z = 100% 2,000 0 2,000
) 1,000 0 1,000
< 500 0 500
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SN

CE
B Y
22

el PO B AHIASY (B9 &2
SN EB -GS - MBAY - BES 0 &4 o o173 o {imE=Eh

S 500 0 500

= 500 0 500

307 212+01 A 14,825 0 14,825

Il 7,413 0 7,413

= 3,706 0 3,706

= 3,706 0 3,706

01 =¥ =H] 14,825 0 14,825
Ostolet ALSTAY FERY

6,612,500& * 23l 13,225 0 13,225

Il 6,613 0 6,613

< 3,306 0 3,306

= 3,306 0 3,306
Ostgigezs &.5. Mz 7

00,000& = 22/ 1,600 0 1,600

Il 800 0 800

S 400 0 400

s 400 0 400

405 KtatE =S| 20,040 0 20,040

Il 10,020 0 10,020

S 5,010 0 5,010

= 5,010 0 5,010

01 HME =SS HSHI 20,040 0 20,040

OAAHEEHI] 2 6,000,000& * 1CH 6,000 0 6,000

Il 3,000 0 3,000

= 1,500 0 1,500

= 1,500 0 1,500

OXMXNgE4I] 2¢ 6,960,000&  1CH 6,960 0 6,960

Il 3,480 0 3,480

< 1,740 0 1,740

= 1,740 0 1,740

OZFH & Z2HJ 22 1,640,000& = 2¢& 3,280 0 3,280

Il 1,640 0 1,640

= 820 0 820

= 820 0 820

OLER 7¢ 1,000,000& * 1O 1,000 0 1,000

Il 500 0 500

S 250 0 250

= 250 0 250

Ootiet =& 400,000 * 1CH 400 0 400

Il 200 0 200

= 100 0 100

i 100 0 100

OISR & a2 600,000 * 4& 2,400 0 2,400

Il 1,200 0 1,200

S 600 0 600

= 600 0 600

SAHI=H 77,473 95,722 A 18,249

101 21 24| 14,043 13,083 960
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M BAA
g A2 &
el A ST 2L (98
SA-EFH - SA(SAH) - MREAY - BES Off &F K JE A BlusZ
101 @124 43,600 60,000 A 16,400
Jl 20,000 30,000 10,000
= 23,600 30,000 26,400
04 JIZHHZ2Z2NHSES 43,600 60,000 216,400
OAZHELUN M2R3 Q12|
Z& 1,500,000& * 22! « 12& 36,000 60,000 224,000
p) 18,000 30,000 212,000
= 18,000 30,000 A 12,000
OQUHZMENAN H2RF EHZ
1,500,000& * 29! 3,000 0 3,000
Jl 1,500 0 1,500
= 1,500 0 1,500
OQUZMENAN HERY 252
50,000& * 221 = 103 1,000 0 1,000
P 500 0 500
= 500 0 500
OuUZMENA HEQRF JHEER
150,000& = 201 « 128 3,600 0 3,600
201 2| 14,000 8,500 5,500
Jl 7,000 4,250 2,750
= 7,000 4,250 2,750
01 AtR 22l 14,000 8,500 5,500
OULMESAMMNY 2]
B & 14,000,000& * 13 14,000 8,500 5,500
) 7,000 4,250 2,750
= 7,000 4,250 2,750
202 (4 Hl 4,000 1,500 2,500
Il 2,000 750 1,250
= 2,000 750 1,250
01 SLHAObI 4,000 1,500 2,500
OUZMEAAANY =2 o]
23 20,0008 * 49! » 50 4,000 1,500 2,500
Jl 2,000 750 1,250
= 2,000 750 1,250
301 22 a=s 14,000 1,000 13,000
Il 7,000 500 6,500
= 7,000 500 6,500
10 #ALAHIZ &2 14,000 1,000 13,000
OULMSAMMNY ZAZ
100,000& = 10002 » 133l 13,000 0 13,000
Il 6,500 0 6,500
= 6,500 0 6,500
307 2IZ2tol & 0 1,000 A 1,000
Jl 0 500 A500
= 0 500 A500
01 2 2¢ =l 0 1,000 A 1,000
OHLMENMAAY JIXH 2L 38 0g 0 1,000 ~1,000
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ool AP EHBE (el @2
SA B HRA(SH) - MRAY - B O & o4 01 o HIREY
Il 0 500 A500
= 0 500 A500
B4 HECY 29 45,720 44,520 1,200
Il 22,260 22,260 0
i 23,460 22,260 1,200
101 @1 2d| 21,026 19,826 1,200
Il 9,913 9,913 0
i 11,113 9,913 1,200
04 JIZtH22HEES 21,026 19,826 1,200
OzHAaEAM JI2RE B2
100,000& = 1@l * 12& 1,200 0 1,200
201 gEt2dd| 6,694 3,694 3,000
Il 3,347 1,847 1,500
= 3,347 1,847 1,500
01 AtR2tel 6,694 3,694 3,000
Omza Zeizeldegy
ZE 6,694,000& * 14 6,694 3,694 3,000
p) 3,347 1,847 1,500
i 3,347 1,847 1,500
301 et a3z 4,600 2,600 2,000
Il 2,300 1,300 1,000
= 2,300 1,300 1,000
12 JIEt243 2,000 0 2,000
O3HdEA JI188 2¢ 10,0003 * 2004 2,000 0 2,000
J| 1,000 0 1,000
= 1,000 0 1,000
307 21zZtol ™ 9,000 14,000 25,000
Il 4,500 7,000 A2,500
i 4,500 7,000 A 2,500
01 =¥ =H] 9,000 14,000 25,000
OEd4 SHEH2YE JINM 2¢
Z& 9,000,000& * 13 9,000 14,000 25,000
Il 4,500 7,000 22,500
i 4,500 7,000 A 2,500
FASHAAE 137,400 135,360 2,040
Il 67,680 67,680 0
= 69,720 67,680 2,040
101 @124 H| 41,040 39,000 2,040
Il 19,500 19,500 0
i 21,540 19,500 2,040
04 JIZtHI22 S E+ 41,040 39,000 2,040
O JlBRY BER
170,000& = 121 = 12& 2,040 0 2,040
206 M= 4l 1,000 0 1,000
J| 500 0 500
= 500 0 500
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el A ST 2L (98
SA-EFH - SA(SAH) - MREAY - BES Off &F K I8N BlusZ
01 =4l 1,000 0 1,000
O=dllt&A SLdus 23 ME
10,000& + 100¢! 1,000 0 1,000
P 500 0 500
s 500 0 500
405 Xt&HF SH 0 1,000 ~1,000
Jl 0 500 A500
= 0 500 A 500
01 A =S HSHI 0 1,000 A 1,000
Odlgt= &I 2¢ 23 0& 0 1,000 A 1,000
Il 0 500 A 500
= 0 500 A500
2zl 76,580 35,800 40,780
Jl 38,290 17,900 20,390
= 38,290 17,900 20,390
307 el2told 75,880 35,100 40,780
Jl 37,940 17,550 20,390
= 37,940 17,550 20,390
01 2 24€+=Hl 4,780 4,860 N80
OS=81 Z0H OtsSAY JIXHH +&
Z & 3,220,000& * 14 3,220 3,300 A80
Jl 1,610 1,650 A40
= 1,610 1,650 A40
05 BIZtR &= 71,100 30,240 40,860
OLQIXIEE ALY X
Z& 2,200,000& = 322 70,400 29,540 40,860
Jl 35,200 14,770 20,430
= 35,200 14,770 20,430
gt dstate| At IEEH 0 3,000 A3,000
Il 0 1,500 A 1,500
= 0 1,500 A 1,500
201 24 0 3,000 /3,000
Il 0 1,500 A 1,500
= 0 1,500 A 1,500
01 AtR2tel] 0 3,000 /3,000
ORtg st At sE=8| 23 0 0 3,000 /3,000
Jl 0 1,500 A 1,500
= 0 1,500 A 1,500
sSOHE HZSHEZ2JHE2Y 20,000 40,000 20,000
(= 10,000 20,000 ~10,000
= 10,000 20,000 210,000
201 24 10,000 22,500 A 12,500
= 5,000 11,250 NG6,250
= 5,000 11,250 A6,250
01 AR 22l 10,000 22,500 212,500
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OsHE AdZsZ2 182
Z& 10,000,000& * 14! 10,000 22,500 A 12,500
(= 5,000 11,250 16,250
= 5,000 11,250 N6,250
202 (44l 0 500 A500
= 0 250 A 250
2 0 250 250
01 LHod 0 500 A500
OsHE Hd2sdZ=282E ol 23 0 0 500 A500
- 0 250 A250
= 0 250 A 250
301 et as 10,000 17,000 A7,000
(= 5,000 8,500 3,500
= 5,000 8,500 23,500
10 HAIAHIES S 10,000 17,000 A7,000
OsHE HZSAZ2Y2E 2AE
23 100,000& * 2004 « 503 10,000 17,000 A7,000
= 5,000 8.500 A3,500
= 5,000 8,500 A3,500
AT UELNAZY 25,558 26,242 N684
201 Zer24E 22,128 22,812 N684
01 AtR2tel] 18,733 19,312 A579
oleg=¢] 591 1,170 AbB79
OALMEAMMF S B EAH =2 (20
SEZ) Zd 191,000& * 13 191 770 A579
03 A2 & 3,395 3,500 A 105
O2RI2otHA AL HE A 2ZHI (204
) 33 3,395,000& * 13 3,39 3,500 A 105
TLEHAEY 18,465 18,600 N 135
201 24 7,065 7,200 A135
01 AR 2t el 2,073 900 1,173
O7ZEAANY 2822 MA(2UaEZ)
2% 1,0008 = 873 873 900 N7
Q&M AP AM 2HH|l  400,0008 * 3H A 1,200 0 1,200
02 S22l 1,500 2,700 1,200
O[ANEEHISXIHI] 1,500 2,700 A1,200
OFZ=EA XS FH =44
Z & 500,000& = 3CH 1,500 2,700 A 1,200
03 A2 EH 3,492 3,600 A 108
OFRYEA0Y dA2SHI(20aE)
Z & 3,492,000& = 13| 3,492 3,600 A 108
307 el2told 11,040 11,040 0
01 2I2¥€+=Hl 11,040 11,040 0
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SR
2
2

M A =W
ool geAe (Etel: & e)
SA B G(E) - NEAY - B O & o4 o1& o HREZ
= 182,334 178,947 3,387
04 JIARDERS B4 307,908 301,134 6,774
OgesA Mgolz oAy
2T 1,002,636 * 1191 » 12 251,148 244,374 6,774
p 125,574 122,187 3,387
= 125,574 122,187 3,387
201 LBre | 6,960 6,954 6
p 3,480 3,477 3
= 3,480 3,477 3
01 Ak 22l 6,960 6,954 6
OXEolz (222 ed Meolz) NSS=Y|
2% 580,0008 * 120! 6,960 6,954 6
p 3,480 3,477 3
= 3,480 3,477 3
HAAYST DA 5,186 3,890 1,296
= 1,556 1,167 389
= 3,630 2,723 907
201 Yet2 Y| 2,686 1,390 1,296
= 806 417 389
= 1,880 973 907
01 At 22l 2,686 1,390 1,296
OFMALZI DALY
2N 223,833 + 123 2,686 1,390 1,296
3 806 417 389
= 1,880 973 907
AIMOF G SH| X2 787,600 805,000 A17,400
= 101,250 101,250 0
= 686,350 703,750 A17,400
301 LerE A 787,600 805,000 A17,400
= 101,250 101,250 0
= 686,350 703,750 A17,400
NEERERETE 787,600 805,000 A17,400
O&lM0t YFH| X & 562,600 580,000 A17,400
OMM &40 ZH 1,826,0008 * 1009 182,600 200,000 A17,400
Y2 EA NI AX 2 52,826 54,226 A 1,400
201 Y2yl 18,842 19,425 1583
01 At 22l 5,932 16,425 £493
Oleer+gH] 5,107 15,600 493
OG0 E2S HMT(ZOIATY)
Z% 2,0008 * 653.55 1,307 1,800 £493
03 8 AL2 2| 2,910 3,000 £90
OMIILET HE2Y SHH (AR
3 970,008 + 33 2,910 3,000 A0
301 YBtEAS 2,571 2,651 £80
10 BAIAH 242 2,571 2,651 £80
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X XH .
S Tt

el

M- B3 S2(3H) - MSAY - B2 arey pJE-T %
= 9,658 9,658 0
= 4,829 4,828 1
= 4,828 4,829 A
307 212+01 ™ 19,315 19,315 0
= 9,658 9,658 0
= 4,829 4,828 1
i 4,828 4,829 A
o1 =2+ =Y 19,315 19,315 0
Ogtde = X AHHl K&
Z& 1,485,769% * 13¢! 19,315 19,315 0
= 9,658 9,658 0
= 4,829 4,828 1
= 4,828 4,829 A
AT o At 3= A& At 30,600 0 30,600
= 30,600 0 30,600
307 212+01 o 30,600 0 30,600
= 30,600 0 30,600
o1z 30,600 0 30,600
Ogtdell Oioh At X223
150,000& = 128 = 172 30,600 0 30,600
= 30,600 0 30,600
Mg A~ 2l At 8,000 2,400 5,600
Il 4,000 1,200 2,800
< 2,000 1,200 800
= 2,000 0 2,000
201 L2 5,000 0 5,000
Il 2,500 0 2,500
S 1,250 0 1,250
= 1,250 0 1,250
01 AtR2tel 5,000 0 5,000
SEETY SPES
5,000,000 * 14! 5,000 0 5,000
Il 2,500 0 2,500
= 1,250 0 1,250
= 1,250 0 1,250
202 o4 Hl 2,400 2,400 0
Il 1,200 1,200 0
S 600 1,200 A 600
= 600 0 600
01 =2 AbI 2,400 2,400 0
o2 & 2te| ol
20,0008  10&€ » 122 2,400 2,400 0
Il 1,200 1,200 0
= 600 1,200 A600
= 600 0 600
307 212tol & 600 0 600
Il 300 0 300
< 150 0 150
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S Tt

el

K- EE . SRI(B1) - MRS -

el

22
J2

= 150 0 150
01 A= =H] 600 0 600
OZ & Xt PPOAISF 2 HI 20,000& 30K 600 0 600
p) 300 0 300
= 150 0 150
= 150 0 150
HEt Xt FRABEL 900 5,000 24,100
p) 450 ,500 A2,050
= 225 ,250 A1,025
= 225 ,250 A1,025
307 212+01 A 900 ,000 A4,100
Il 450 ,500 A2,050
S 225 ,250 A 1,025
= 225 ,250 A1,025
01 2 2¢ =l 900 ,000 A4,100
ozdeExt ax &
Z & 900,000& * 12 900 5,000 24,100
p) 450 2,500 A2,050
= 225 1,250 A1,025
= 225 1,250 A 1,025
ZHE T o3 =X 2 4,872 6,208 N 1,336
p) 2,436 3,104 668
= 1,218 1,552 A 334
= 1,218 1,552 N334
307 212+01 o 4,872 6,208 A 1,336
Il 2,436 3,104 668
S 1,218 1,552 N334
= 1,218 1,552 N334
05 2ItRIE = 4,872 6,208 N 1,336
ozdeExt & &1 Z i
ZE 116,000& = 420! 4,872 6,208 A 1,336
p) 2,436 3,104 668
= 1,218 1,552 A 334
= 1,218 1,552 N334
sdZ8d ogael 55,486 173 ABB7
201 224 22,285 20,710 1,575
01 AtR2tel] 20,935 ,360 1,575
oAl Ots= 2g4 1,575,000& * 12 1,575 0 1,575
307 212+01 A 31,901 ,163 N2,262
01 S =H] 31,901 ,163 N2,262
OgZEAEY NSAEZ P(=F, Y S)(=2
Ol & & 2) Z& 678,000& = 13 678 ,940 N2,262
greZEd gl 18,077 ,280 A 1,203
201 24 6,452 ,560 A 108
01 At 22l 3,492 3,600 A 108
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el

SNBSS - MBAY - BES 0 & 24 pJE-1 {imE=Eh
O [Let=EHI] 3,492 3,600 A 108
Ooftd2gguY E22 ME(LY, 0oI=)(
20aE2) Z & 518,400& * 53 2,592 2,700 A 108
307 212+01 A 11,265 12,360 A 1,095
01 S =H] 3,065 3,160 A95
OOIoI=&8Xt g XZHI (20 aE2)
23 206,500& * 103 2,065 2,160 295
05 BIZ2tR &= 8,200 9,200 A 1,000
Ostdig stxt 2l IEAIHI (20 aE2)
Z 3 8,200,000& = 13 8,200 9,200 A 1,000
s oA 3,783 3,900 A7
201 24 2,910 3,000 A90
01 At 22l 2,910 3,000 290
Olget==EHl] 2,910 3,000 A0
OJIMENLEE EE2S HMA(20MEL)
23 2,910,000& = 13 2,910 3,000 290
307 212+01 A 873 900 N27
01 A SE P =H] 873 900 N7
OZEHM R (S0arE2)
Z& 1,000& = 873¢! 873 900 N7
HYgs8s =24 328,574 363,279 A34,705
Il 90,902 102,902 A 12,000
S 3,802 3,802 0
= 233,870 256,575 A22,705
god &t 120,000 144,000 A24,000
Jl 60,000 72,000 A 12,000
= 60,000 72,000 A 12,000
307 212+01 ™ 120,000 144,000 A24,000
Il 60,000 72,000 A 12,000
= 60,000 72,000 A 12,000
05 BIZ2tR &= 120,000 144,000 A24,000
OlYES S22 E&Hl N&
Z& 20,0008 * 6,0002! 120,000 144,000 A24,000
J| 60,000 72,000 A 12,000
= 60,000 72,000 A 12,000
HZEESAS 146,770 157,475 A 10,705
201 24 2,434 2,475 A4
01 At 2tel] 1,309 1,350 A4
Olget=8Hl] 1,309 1,350 A4
ONZEER2Y HAE ME(20AMEL)
Z& 1,309,000& * 12 1,309 1,350 A4
307 212+01 o 142,396 153,000 A 10,604
05 QIR &= 31,796 42,400 A 10,604
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N = 0l & AF & F Al A

A SIS
BH: SE& Sy
SERE=ESIESIERL CEERE
SA B G(E) - NEAY - B O &t o4 plE=L HREZ
2I|l=dH 4,101,068 3,785,941 315,127
= 321,560 241,560 80,000
& 378,000 378,000 0
= 181,728 181,728 0
= 3,219,780 2,984,653 235,127
sE& dE=sd 2,581,069 2,430,693 150,376
= 88,590 88,590 0
= 378,000 378,000 0
= 26,728 26,728 0
= 2,087,751 1,937,375 150,376
sEI=IIE2E 1,017,175 930,226 86,949
= 353,000 353,000 0
= 10,300 10,300 0
i 653,875 566,926 86,949
AIELE2H 105,541 109, 066 N3,525
101 @1 24H| 25,380 26,165 AT85
04 J12tMI2 2 Xt 25,380 26,165 AT785
oxNgmH
501 « 81.677¢ 15,568 16,353 AT785
201 ZEt2FH| 57,619 59,662 22,043
01 AtR2tel 53,497 55,412 A1,915
OXGEHEE 50,517 52,432 A1,915
oxe 3
* 16.56ha * 23] 14,645 16,560 A1,915
02 2244 4,122 4,250 A128
O[AIZEHI 4,122 4,250 2128
oXll=s = AId (20l &
1,122 1,250 A128
206 M =4l 21,572 22,239 N667
01 =4l 21,572 22,239 AB67
OxNgmH
15,397 16,064 AN667
405 KtatE =S| 970 1,000 A30
01 ML SZHSHI 970 1,000 A30
ozxzae
) 970 1,000 A30
sEXNEIetEH 708,839 706,000 2,839
= 353,000 353,000 0
= 355,839 353,000 2,839
401 A& HIZ 2 0HHI 522,839 520,000 2,839
= 260,000 260,000 0
= 262,839 260,000 2,839
03 A& 201 2,839 0 2,839




2A: 40|
M == o]
o Tt —/

[ :gfo
tel sEJI=JIe2d (ctel: &
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K I & HwsZ
O=sZoMA ASZ A 20U
394,280,000& * 0.72% 2,839 0 2,839
SHsgeEa #0 45,600 20,600 25,000
= 10,300 10,300 0
= 35,300 10,300 25,000
201 fEt2Ad| 44,600 19,600 25,000
& 9,800 9,800 0
= 34,800 9,800 25,000
01 AtR2tel 44,600 19,600 25,000
OANzEE2 =4 7,500,000& » 14l 7,500 0 7,500
OANZEE2 BA AXE 1,500,0008 * 4= 6,000 0 6,000
OANZERBZ A2 28 L 2F
8,000,000& * 14l 8,000 0 8,000
OsZelHAaJ 2ealFa X
437,500& * 2& Xl ~ 4CH 3,500 0 3,500
sgelags 29 76,229 16,619 59,610
101 @124 H| 57,275 8,419 48,856
04 JIZtH2 2 S E+ 57,275 8,419 48,856
SoOIAEAALQH ozl
Z2&E 49,0603 * 201 * 175.79& 17,249 8,419 8,830
Osoolags B2 ozl
38,120& = 621 « 1756 40,026 0 40,026
201 L2 10,790 7,000 3,790
01 AR 2t eld] 8,850 5,000 3,850
Osdolads 28 FY(20aEL)
23 1,212,500 * 4044 4,850 5,000 2150
OSH=sZolaEds sAELAAX M
500,000& * 8JH& 4,000 0 4,000
02 2324l 1,940 2,000 260
OSYOIMEA S (20 AE)
23 194,000& ~ 108 1,940 2,000 260
405 KtatE =S| 8,164 1,200 6,964
01 AL =S HEH| 8,164 1,200 6,964
OBEXE SUE MEEFHI| RY(2oaE2
) 23 1,164,000& = 14 1,164 1,200 A36
Osgoags I+ 500,000& = 145 7,000 0 7,000
Hed=slls #F MlA 16,878 17,400 VANGYA
201 et2Ad| 8,148 8,400 A252
01 A2 2 2ldl 8,148 8,400 A252
O =8Z NMHlA 2S(208E2)
23 97,0008 » 785 * 1238 8,148 8,400 A252
206 =l 8,730 9,000 AN270
01 =4l 8,730 9,000 A270
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el

Olstgd=8d MElA 2 MHE (20 aE2)
Z& 97,0008 » 95 * 108 8,730 9,000 2270
sEXNZAY L 15,970 10,000 5,970
201 24 4,850 5,000 A 150
01 AtR2tel] 4,850 5,000 A150
OXNEMY 222 HA(20LEZ)
ZE 2,425,000 * 28 4,850 5,000 A150
405 AHakF S 6,120 0 6,120
01 A&t =S F SHI 6,120 0 6,120
O#Ed SHO0ITIME 1,224,000& = 5CH 6,120 0 6,120
EAtztel 48,118 50,541 A2,423
101 el A Hl 2,116 2,181 AB5
04 JIZHZ2Z2NHSES 2,116 2,181 AB5
OFAL & =8 HA 2 (20aE2)
ZE 38,1208 » 221 * 27.75¢ 2,116 2,181 AB5
206 X =4l 1,940 2,000 AB0
01 =4 1,940 2,000 A60
OFEMSE BAE ZF=7 (20 AE)
Z& 1,940,000& * 14 1,940 2,000 AB0
401 Al EHIZ 20 YI 43,092 45,360 N2,268
01 A& H 43,092 45,360 N2,268
OotRAAMAE X (20 aE2)
ZE 42,5633  660m 28,092 30,360 N2,268
405 A&k S 970 1,000 A30
01 A&t =S F SHI 970 1,000 A30
Ogsa oz EXI(20aE2)
Z & 970,000& * 104 970 1,000 A30
=23 =H 587,855 549,980 37,875
=3=H AN =29 455,973 430,869 25,104
201 get=24Ed| 454,241 429,114 25,127
01 A2 2telH] 49,801 16,290 33,511
O=23 dAIZ HZ 2 SEHA(20LEZ)
23 56,2383 * 1305 7,311 7,800 A489
OZL Il M 40,0002 * 1000 & 4,000 0 4,000
O=F2 AIHA =dE8 A=37Y
3,000& = 10,0004 30,000 0 30,000
02 33244 2,083 2,147 A64
O2s=H 28I SFHI(20AEZ)
BE 11,7923 * 142 « 83¢ 2,083 2,147 A64
03 A2 EH 402,357 410,677 28,320
OlEL 2% SA(20aMEL)
Z & 600,000& » 21.8332 13,100 16,100 /3,000




M s€lis4dH

Y 5E QARY
SEREIEE Y] (ol @2
SN -EHH . (B) - MPAY - BE2 Ofl & 04 I HRE2
O=3 z82 &3 2 #Al
A 1,000,008 * 9% 9,000 5,000 4,000
ORSHXE THE MR (ZULED)
Z2 & 18,000,000& » 14 18,000 20,000 22,000
O=SSH A ZES(20I4ED)
Z& 1,680,000& = 14| 1,680 2,000 A 320
OBHE HELT (L0 A4E)
Z & 18,000,000 * 14l 18,000 21,000 A3,000
OFAIR & BAME ZH(2HLEZ)
A% 13,000,000 * 14 13,000 15,000 £2,000
ORSXE SUSA(LHLE)
2 & 20,000,000& * 14 20,000 22,000 22,000
206 = Hl 1,732 1,755 A23
01 =8l 1,732 1,755 A23
OF HAZ T8 WE(BI2 2)(20az)
28 64,1483 * 2713 1,732 1,755 N23
=3t THoH 125,853 112,896 12,957
101 @124 d| 85,389 69,046 16,343
04 JIZtH 22 S E 85,389 69,046 16,343
23 =X = 2=
2 38,1203 = 14¢! « 160 85,389 69,046 16,343
201 L2 2,499 4,711 A2,212
02 32244 2,499 4,711 N2,212
Ol¢Zdl] 399 2,611 N2,212
ORI L RBHI(SHAE)
& 1,305.423 * 305.64 ¢ 399 2,611 N2,212
206 M= 4l 37,965 39,139 A1,174
01 =4l 37,965 39,139 A1,174
ORUIXTH P (=20 AE)
2E 27,5753 * 258 * 73l 4,826 6,000 A1,174
=3t =353 29 6,029 6,215 A 186
206 M= 4l 1,614 1,800 A 186
01 =4l 1,614 1,800 A 186
Os53 4 MB(2LOLED)
Z2E 8,964 » 108 * 183l 1,614 1,800 A 186
Sgd2AAY 144,912 145,039 A127
= 37,830 37,830 0
= 5,280 5,280 0
2 101,802 101,929 A2
UNHNsENZESXR 14,000 12,000 2,000
= 6,000 6,000 0
= 8,000 6,000 2,000
201 L2 4,000 2,000 2,000
= 1,000 1,000 0
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SAE=t=P
N ==

Siel: =olHEE MY (e @8
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K JE A HwsZ
IR EEP =T 69,733 68,321 1,412
OsJ13 LAY BEoIRe
AT 66,0102 * 321 * 307.48L 60,891 57,429 3,462
OIAHBRT EINB(ZUAE)
AT 66,0102 * 321 * 44,6462 8,842 10,892 A2,050
201 L2 Y| 61,400 23,400 38,000
01 ALR eIt 5,400 2,400 3,000
SIEIIE==1TT) 5,000 2,000 3,000
OSIIH ATHAIY 2|
B 200,0008 * 255 5,000 2,000 3,000
02 ZB2Y| 56,000 21,000 35,000
OlZZRILHA] 11,000 6,000 5,000
OYUSIIH BEREE
27 183,333 * 60CH 11,000 6,000 5,000
O[AI& YIS XIHI] 45,000 15,000 30,000
OSIIYT FHIRA Y|
A 450,0002 * 100CH 45,000 15,000 30,000
405 Xt &HF S HI 194,000 200,000 6,000
01 KAt S EH S| 194,000 200,000 6,000
OYUSIIAH FY(2OILEA)
23 9,700,000 * 20CH 194,000 200,000 6,000
REME 121,034 121,097 ~63
=l 25,000 25,000 0
2 96,034 9,097 A63
g0l A 13,300 14,000 AT00
307 212H0| & 13,300 14,000 AT00
02 PIHAMRE 13,300 14,000 AT700
OsoAA2|A 2HE| X (2H4RY)
AT 1,900,008 * 7H4 3,300 14,000 AT700
Hs90 DS 33,484 32,007 1,387
201 Ypt2 bl 3,080 3,180 A100
01 ALR 2l 1,790 1,850 A60
OSM2II2 DS 2Y(2HAR)
2H 90,0008 * 65 540 600 AB0
02 B2l 1,290 1,330 A40
O[AEEHISIHI] 860 900 A40
OSASITA HUISI(Z0AE)
AH 72,0002 * 55 860 900 A40
206 T & bl 16,878 17,400 A522
01 T2 bl 16,878 17,400 A522
ORMDHBIISAE DS WR(ZOAE)
AW 9,4208 * 362 * 253 8,478 9,000 A522
301 QB AE 9,409 9,700 A291
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O[AM&EBI=XIY] 3,230 5,230 A2,000
OMII&Hl RX2el A2F 1,000 3,000 A2,000
oMl (=0 &= 33 02 0 1,000 A1,000
02H DY WH(=2olaE2) 38 0¥ 0 1,000 A 1,000
202 ¢4 4l 360 400 240
01 SLHAObI 360 400 240
ONEE B2 U 2400HI(Z0L4E)
Z& 20,0002 = 20! « 9 360 400 A40
206 M =4l 5,045 5,645 A600
01 =4l 5,045 5,645 A 600
OZZH(SLH T&) (20142
Z& 10,0002 = 10kg * 24 2,400 3,000 A600
Hegs(=ZAgA) 5,925,609 4,108,536 1,817,073
LHEHHXI & 5,925,609 4,108,536 1,817,073
otk SIIEXNE &= 3,844,134 2,027,061 1,817,073
A NHES 416,564 329,211 87,353
01 BIILEEHBYNHES 416,564 329,211 87,353
Osi+& o121t X (272)
2 & 376,542,000& * 14 376,542 289, 189 87,353
404 BIIHXN=2HES 3,427,570 1,697,850 1,729,720
01 SO ELNAHNELHES 3,427,570 1,697,850 1,729,720
OMZI42H HHI AL
Z2& 1,216,040,000& = 14 1,216,040 545,040 671,000
OStast42 I FHl A
Z & 398,000,000 * 14 398,000 378,000 20,000
Odil M3 ot=2tH ZHIAS
271,720,000& = 14 271,720 0 271,720
OWEsI+ DEMRAAE XA
249,000,000& * 14 249,000 0 249,000
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= O
M = 0l &8 AF & H Al A
2A: SEAISIEX 2
Mz LOIASIEO 20
@ LolunNYns 29 9 &)
2N -3 - c2(3H) - NEME - HES Ol & oK J &= =&
SeAIE =S X 2 1,141,283 927,029 214,254
= 84,912 84,912 0
T 73,220 73,220 0
iy 983, 151 768,897 214,254
LCOIANS &0 2 346,586 256, 140 90,446
oldnNs 29 79,975 84,700 N4, 725
Lolotas K& 32,000 34,200 A2,200
201 L et2H Y| 2,370 4,270 A 1,900
01 AtR2t2lH] 2,370 4,270 A 1,900
Olger2g4l] 2,370 4,270 A 1,900
OZ2EIIA Ao AR (=20aE2)
a3 1,600,000& * 14 1,600 3,500 A 1,900
206 M= 4| 9,700 10,000 A 300
01 XHE I 9,700 10,000 A 300
O s 29 MESHI (202
2 48,500 * 209! « 1042 9,700 10,000 A 300
Lo=Xg2 M- B 47,975 50,500 N2,525
401 AIEHIZ 20| 47,975 50,500 N2,525
01 Al&HI 47,975 50,500 N2,525
O[AI&HI] 47,975 50,500 N2,525
O=SAYLEHSAHEHAZEZ)
38 14,475,000& * 14 14,475 17,000 N2,525
Lol HAMss 266,611 171,440 95,171
goltistedg 81,611 71,440 10,171
307 QI2t0| & 81,611 71,440 10,171
10 AHBISXIEZ 81,611 71,440 10,171
Ogollist 2224 AEH2Y
d& 31,611,000& * 14 31,611 21,440 10,171
ot Lollist2y 185,000 100,000 85,000
307 QI2t0| & 185,000 100,000 85,000
10 At SXIE X 185,000 100,000 85,000
OO0t Lois A=l
2 & 185,000,000& * 14! 185,000 100,000 85,000
o == 237,084 244,405 ANT,321
T 6,000 6,000 0
iy 231,084 238,405 AT,321
2 BMSISEH0HE 3,055 3,150 A95
TUMEZT A HHF 3,055 3,150 A95
201 L Et2HH| 3,055 3,150 AN95
03 HAIS S HI 3,055 3,150 N95
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A SEAMI=X 2
PSE< 01/\4 =

&Rl GEIE AMsSgus 29 (ctel: &
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o1& o HlnE2
01 MHZ 4l 8,730 9,000 A270
OCU23Its 8L EWS MU (20
ArE 2 23 1,455,000& » 61t= 8,730 9,000 A270
301 Lerzgazgd 14,666 15,120 A454
10 HAIAHIE &3 14,666 15,120 A454
OURsIE 8L TeldEzuns 2AE (2
Ol AP A 2E) Z 3 3,866,000 * 14 3,866 4,320 A454
Zofel =X & 475,521 344,830 130,691
= 84,912 84,912 0
= 67,220 67,220 0
= 323,389 192,698 130,691
ZoHel T2 29 251,031 214,429 36,602
= 59,961 64,928 A 4,967
& 47,993 51,871 A 3,878
= 143,077 97,630 45,447
ZOHel e Z=20 251,031 214,429 36,602
= 59,961 64,928 N4,967
= 47,993 51,871 23,878
i 143,077 97,630 45,447
101 el24d| 68,051 83,570 A 15,519
= 21,421 26,388 N4,967
= 18,274 22,152 23,878
i 28,356 35,030 NB,674
04 JItH22 XS E 68,051 83,570 A 15,519
P EEEP I
Z & 900,000& = 121 = 12& 10,800 21,600 A 10,800
= 3,456 6,912 A 3,456
= 2,700 5,400 22,700
i 4,644 9,288 A4,644
OoJlg=¢ 23 & 0 3,029 23,029
= 0 970 A970
& 0 756 AT56
= 0 1,303 21,303
OFERZFI+L
28 38,1204 * 12! » 52 1,983 3,780 AT,797
= 634 1,210 VANGY(S]
& 496 945 A449
i 853 1,625 ANTT2
SR EESIENS
38 38,120& = 3¢ » 20 2,288 2,181 107
= 733 698 35
< 573 546 27
= 982 937 45
201 L EH2FH| 24,279 20,579 3,700
= 5,653 5,653 0
L= 4,357 4,357 0
= 14,269 10,569 3,700
01 AR 2t eldl 18,969 15,269 3,700




SN

I‘I iH:

¥=]

=
=)

A2l S X2
&onel
Y =

=X 88

2N -3 S (S AH) - M2 A A= 0] At oH | &l Hons2
Olget2H|] 15,833 12,133 3,700
O QI =M BRIt R
50,0002 » 40H 2,000 0 2,000
OXOHQIAISI 23 M E Xtgt Xt
Z X 800,0008 * 23] = 2CH 3,200 1,500 1,700
= 486 486 0
< 375 375 0
= 2,339 639 1,700
206 XH 2 H] 57,341 29,480 27,861
= 9,554 9,554 0
< 7,367 7,367 0
= 40,420 12,559 27,861
01 MH2bl 57,341 29,480 27,861
O MENS W
ZE 90,0008 * 128 = 243| 25,920 16,800 9,120
=2 5,445 5,445 0
< 4,198 4,198 0
= 16,277 7,157 9,120
me F 0|, A i%ima X 2]
AE 40,0009 * 30E * 153 18,000 6,000 12,000
= 1,945 1,945 0
< 1,499 1,499 0
= 14,556 2,556 12,000
OIS 0otel 2|
ZE 2,185,250% * 44t 8,741 2,000 6,741
= 648 648 0
< 500 500 0
= 7,593 852 6,741
301 LBt A2 80, 160 65,600 14,560
= 21,259 21,259 0
< 16,395 16,395 0
= 42,506 27,946 14,560
10 #HALAHI B A S 80, 160 65,600 14,560
O HWeans LA2
2 50,0008 * 903| * 49! 18,000 13,500 4,500
=2 4,375 4,375 0
[ 3,374 3,374 0
= 10,251 5,751 4,500
OXY HEns 2dAR(Z1)
ZE 20,0008 * 903 = 49! 7,200 5,400 1,800
= 1,750 1,750 0
< 1,349 1,349 0
= 4,101 2,301 1,800
O, F0| AZI 23 nEs ZAMBR(I12)
ZE 50,0008 * 723] = 40! 14,400 10,800 3,600
= 3,500 3,500 0
< 2,699 2,699 0
= 8,201 4,601 3,600
ORY 0|, M3 25ns 2AS (=)
ZE 20,0008 * 725] = 40! 5,760 4,320 1,440




SN BEAE=RR
M3 Fojel =X EX
chel: Fojel T2 2

SNBSS - HRAY - BHES 0 & o4 o1& o
= 1,400 1,400
= 1,080 1,080
= 3,280 1,840
OAHEI 251 & & 0 KAl
2% 38,0008 * 28 * 709! 5,320 4,200
= 1,361 1,361
= 1,050 1,050
= 2,909 1,789
OSBAMIISXZ MBS & ZASSOIR)
2 50,0008 « 291 * 193] 1,900 400
= 128 128
= 100 100
= 1,672 172
OSBAMSISX2 MBS & AL (ZD)
2 20,0008 « 291 * 193] 760 160
= 52 52
< 40 40
= 668 68
307 BI2+0| & 9,000 5,000
= 1,620 1,620
< 1,250 1,250
= 6,130 2,130
04 0I2+8H AP X 9,000 5,000
OIS0 &H A2
23 9,000,0008 * 13l 9,000 5,000
= 1,620 1,620
= 1,250 1,250
T 6,130 2,130
405 X+oHE S| 3,400 1,400
= 454 454
= 350 350
= 2,596 596
01 R YL SEH S| 3,400 1,400
OFOISole 2ESETY
2E 600,008 * 55 3,000 1,000
= 324 324
= 250 250
= 2,426 426
Zojor mol Bra 224,490 130,401
= 24,951 19,984
= 19,227 15,349
= 180,312 95,068
ZojoI=R 2l 224,490 130,401
= 24,951 19,984
< 19,227 15,349
= 180,312 95,068
201 L Br2 2| 86,336 58,347
= 19,471 18,344
3 15,727 14,849




2A: SEAS =X 2
B mojol =X =X
2l HOoHel Bl sral (ctel: &
SN B SRA(SIH) - MBAY - BAS Arol 01 o 2
i 51,138 25,154 25,984
01 AR 2 2ldl 19,079 17,609 1,470
Ol=&l] 1,470 0 1,470
OFHI=XI 22| SEHI
7,000& = 32! = 70 1,470 0 1,470
02 2324l 67,257 40,738 26,519
Ol2223 ¢ HMAl 36,068 13,068 23,000
O&IIR3 2 & 2,000,000& » 123 24,000 1,000 23,000
&2 324 324 0
= 250 250 0
i 23,426 426 23,000
O[AIE& & BIRXH] 8,319 4,800 3,519
OSX&A&EHl =Xl
2 415,950 » 208 8,319 4,800 3,519
= 2,663 1,536 1,127
= 2,078 1,200 878
= 3,578 2,064 1,514
202 44| 5,600 0 5,600
01 =W A bl 5,600 0 5,600
OZojel T2IE XI0f)
20,000& * 2¢! 70 2,800 0 2,800
OFMAAIL 22 HRFEAYI
20,000& * 221 » 70 2,800 0 2,800
401 Al EHIL 2OHY| 30,600 0 30,600
01 A& HI 30,000 0 30,000
O[AlI&HI] 30,000 0 30,000
OZMAEE T F=IAIE
30,000,000& * 14 30,000 0 30,000
03 AI& 2 0HHI 600 0 600
OZMAEEF F=IAIE 20|
600,000& * 14 600 0 600
405 XHakF S 29,900 0 29,900
= 3,840 0 3,840
= 3,000 0 3,000
= 23,060 0 23,060
01 ML =SZHSHI 29,900 0 29,900
Oz &H 850,000& = 19CH 16,150 0 16,150
OLCDEZLIH 250,000& = 190K 4,750 0 4,750
OXBEAL 7 6,000,000& = 14l 6,000 0 6,000
= 2,880 0 2,880
L= 2,250 0 2,250
= 870 0 870
OCCTV DVR 3,000,000& * 14l 3,000 0 3,000
= 960 0 960
& 750 0 750
i 1,290 0 1,290




AN EEAZEX =
Hu: =12 SFFY
el X2 FAEH (&te @2
2N -3 - c2(3H) - NEME - HES Ol AFoH J)[| el Hl =2
SX 2 SFEY| 9,500 10,000 A500
SX2 FALEH| 9,500 10,000 A500
X2 f - B2 ZA 9,500 10,000 A500
401 Al HIL 201 9,500 10,000 A500
01 Al&H] 9,500 10,000 A500
O[AI&HI] 9,500 10,000 A500
OZRHAA U T2 2K ST AX (20 A
=) & 9,500,0008 * 14! 9,500 10,000 A500
HHS2AAH| (BEAIEI2X 72,592 71,654 938
ZH| 72,592 71,654 938
2l =24 64,653 63,622 1,031
201 L2 AH 54,968 55,100 A132
01 At 22| 8,010 8,142 A132
Olget2H|] 4,230 4,362 A132
ORN2Y & (2oarE2)
ZA 4,230,0008 * 1Al 4,230 4,362 A132
405 KHAHE SH 2,963 1,800 1,163
01 XML EEFEH 2,963 1,800 1,163
O=2AJl EdO 2E 0™ 0 1,000 A 1,000
OS2 HEdEAD 2
2A 2,963,0008 * 1CH 2,963 800 2,163
2IEE J|=2HH| 7,939 8,032 93
201 L2 AH 5,569 5,662 A93
01 At 224 5,569 5,662 A93
Ol34l] 2,469 2,562 A93
OBM2E = (20aEY)
AE 2,469,0008 * 14l 2,469 2,562 A93




= AH O
N = 0 &8 AF S & Al A
S LS AIR AN A
HM: JILTAIHEASY 2 F1 O X
SRl F1 e 22 ¢ oHHE (&)
2N -3 - c2(3H) - NEME - HES 0] Ao pjEsifon Hl =2
LT AKX R AL A 249,145 243,861 5,284
JISTAIDHEAIY 2 F1 OiE X 221,951 216,170 5,781
F1 Ua 22 ¢ 0HE 121,311 125,780 A4,469
F1 8 &2 99,971 103,780 23,809
201 L2 AH 59,691 61,500 A 1,809
01 AL 2t2lH] 58,491 60,300 A1,809
Olger=2H|] 58,491 60,300 A 1,809
OF1 EE2S(EZ2AM, 2IEA) HE(20aE
) 2A 970,0008 * 9= 8,730 9,000 A270
OF1 E2 JIEE M (20 aEZ)
ZA 17,460,000 = 14l 17,460 18,000 A540
OF1 U3 2 ZIIE ME (20U AEZ)
2 69,285.79 * 3504 2,425 2,500 AT5
O FIHE £2 2| M (20 aE2)
Z3A 12,5002 3884 4,850 5,000 A 150
OF1 thal E2 HiHDl M (20atE2)
ZA 30,0002 * 29104 8,730 9,000 A270
OF1Ha B8 Xt&x A M (20 aE2)
A 2,716 * 2,5000H 6,790 7,000 A210
O Fila &8 | = (20 AR
23X 3,880,000 * 204 A 7,760 8,000 240
OF1HE HHESHMZ D (20 aEZ)
2E 1,746,000 * 13 1,746 1,800 N
401 Al HI L 201 38,000 40,000 A2,000
01 Al&H] 38,000 40,000 A2,000
O[AlI&HI] 38,000 40,000 A2,000
OUHE ZDE A&X 23X 0 0 40,000 240,000
OUHE ZDE HH L AX(2I18HAH)
38,000,000 = 14l 38,000 0 38,000
F1 i3l E8 OIHE I 21,340 22,000 AB60
201 L2 A 21,340 22,000 AB60
03 SHAL2HH] 21,340 22,000 A 660
OF1 0|SE2Z 2 (UE0I2AIE) (20 AR
2 ZA 4,850,0008 * 23 9,700 10,000 A300
OF1& 2012 2JIHal(2ua=2)
23X 8,730,0008 * 13 8,730 9,000 A270
OF1tHE =8 S5 (=20lAt=2)
ZA 1,455,0009 * 23 2,910 3,000 A90
1 OH& JHE D1et @4 25,522 15,940 9,582
F1 CH3l X2 6,792 6,940 A148
201 L2 AH 1,746 1,800 A54
01 AF22t2|H 1,746 1,800 54
Olger4=2H|] 1,746 1,800 54
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